4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,0,0)

X~ 1z oo re+U9 /25
- po 4140 0.0
pl -28.77 + 0.00

C = 34.76 [psTRHpay [ns]

TVC(cbch) (0,0,4

- 1L goye+u9 / 25
4157+ 0.0
-28.84 + 0.00

C = 34 67 IngJREFRY [Ns]

TVC(c,b,ch)= (O 0,8

“nuz by /e+U9 / 25
- pO 4246+ 0.0
pl -31.37 + 0.00

C 31. 88 [pS{Sfabay [ns]

TVC(e.b.ch)=(0, 0, 12

T nuzuyre+u9 / 25
™ - pO 4204+ 0.0
pl -30.2 + 0.0

C = 33.11 [psithdelay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,0,1)

AT 1wz (o1e+U9 / 25
- po 4143+ 0.0
p1 -28.66 + 0.00

C = 34.89 [pslRHplay [ns]

TVC(c,b ch) (0 0,5

-1 nu4nle+u9 / 25
4181+ 0.0
-29.16 + 0.00

C = 34.30 [pslRKplay [ns]

TVC(c,b,ch)= (0 0,9

Tinus/1e+u9 /25
- - pO 4222+ 0.0
p1 -29.17 + 0.00

C = 34.28 [psTEldglay [ns]

TVC(C, bch) (0,0,13

T inuz.sy/e+u9 /25
4246+ 0.0
-29.75+ 0.00

C = 3362 IngJRIplaY [ns]

4000

2000

4000

2000

4000

3000

2000

4000

2000

TVO(eb.eh)=(0,0,2)

3000

X~ (ze+U9 /25
- po 4160+ 0.0
pl -28.75+ 0.00

C = 34.78 [psIRHpay [ns]

TVC(c,b.ch)=( 0, 0, 6

3000

-1z bb4e+09 / 25
- pO 4187+ 0.0
pl -27.95:+ 0.00

_ TP gelay [ns]

~ A =AT

TVC(c,b,ch)=(0, 0 10

Crnu3r1e+u9 /25
™. - DO 4265+ 0.0
[ pl -30.38+ 0.00

C = 32.92 [psTRHplay [ns]

TVC(cbch) (0,0,14

3000

-1 nuz58ve+U9 / 25
4251+ 0.0
-29.44+ 0.00

C = 3397 Ing/RIFplaY [Ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,0,3)

AT 1 nuzBu/e+U9 / 25
- po 4149+ 0.0
p1 -27.99 + 0.00

N — 2R 72 rne-I;EI*C\iFlay [nS]

TVC(c,b,ch)= (0 0,7

-1 nu.zZ14e+09 / 25
- PO 4189+ 0.0
pL -29.18 + 0.00

C = 24 28 Inq/RRfAY [ns]

TVC(c,b ch) (0, O

AR bz4e+U9 125
4261+ 0.0
-29.76 + 0.00

C = 33.60 InsyRKplay [ns]

TVC(C, bch) (0,0,15

T nuizn4ze+u9 / 25
4248+ 0.0
-28.94+ 0.00

TP delay [ns]
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TVC(cbch) (0,1,0)

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

~rnuznive+U9 / 25
4170+ 0.0
-28.68+ 0.00

C = 24 87 InJRIplY [ns]

TVC(cb.ch)=(0, 1, 4

- rnuz 154e+09 / 25
- - pO 4184+ 0.0
pl -29.07:+ 0.00

TVC(c,b,ch)= (O 1,8

1 nuz,58ve+U9 / 25
= - po 4200+ 0.0
pl -29.07 + 0.00

C = 34.40 [psIRKpay [ns]

TVC(eb.ch)=(0, 1, 12

T inuzysie+u9 / 25
= - PO 4292+ 0.0
pl -31.28 + 0.00

C =31.97 [psiphakiay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,1,1)

T/ zbye+u9/ 25
= - pO 4198+ 0.0
pl -29.5+ 0.0

C = 33.90 [psTRHplay [ns]

TVC(c,b ch) (0 1,5

-1 nu.463e+09 / 25
4214+ 0.0
-29.05+ 0.00

O = 24 49 indRgfay [ns]

TVC(c,b,ch)= (0 1,9

— -1 nuzbyle+u9 / 25
== - pO 4233+ 0.0
p1 -28.77+ 0.00

TP delay [ns]

N — 214 72 Tnelahl

TVC(cbch) (0,1,13

T
L.

=l

)

T rug.ulre+u9 /25
4303 0.0
pl -31.83+ 0.00

U EEE———
C = 3142 [pSfphliay n]

TVC(cbch) (0,1,2

4000

2000

4000

4000

3000

2000

4000

AT 1 nuz4sse+09/25
= - po 4215+ 0.0
pl -30.44 + 0.00

3000

C = 32.85 [ps¥elaklay [ns]

TVC(eb.ch)=(0, 1,6

2000

- rnug gzye+u9 / 25
=5 - pO 4241+ 0.0
I pl -29.55 + 0.00

3000

C = 33.84 [pslBiplay [ns]

TVC(c,b,ch)=(0, 1 10

T3z (e+09 / 25
- - DO 4239+ 0.0
pl -29.72+ 0.00

C = 33.65 [ns/RKplaYy [ns]

TVC(cbch)=(0, 1, 14

2000

T nuysze+u9 / 25
==, - PD 4260+ 0.0
pl -30.81+ 0.00

3000

C=232.46 [psv‘ﬁr(ﬂalay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,1,3)

AT 1 nuzB3se+U9 / 25
' - po 4244+ 0.0
pl -30.42+ 0.00

1
50 100

C = 32.87 [psirlaklay [ns]

TVC(c,b,ch)= (0 1,7

-1 U byse+u9 / 25
' - PO 4236+ 0.0
pL -28.91:+ 0.00

~ — 24 RN rncIEI'q?lay [nS]

TVC(c,b,ch)=(0, l

ERALEVX b/ie+U9/25
e - pO 4254+ 0.0
p1 -29.84 + 0.00

C = 33.51 IngVRKplay [ns]

TVC(cbch) (01,15

T inuizprze+u9 /25
4277+ 0.0
-31.09+ 0.00

C = 32.16 [psrphatiay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=(0, 2,0)
- T X~ 1wz pive+u9 / 25
™ = po 4194+ 0.0
pl -30.28 + 0.00
C = 33.03 [pstphatiay [ns]
TVC(c,b,ch)=( 0, 2, 4)
= T X~ 1oz ogBe+U9 / 25
™ - PO 4187+ 0.0
pl -20.97 + 0.00
C = 33.37 [psielatlay [ns]
TVC(c,b,ch)=( 0, 2, 8)
T X~ 11z bype+u9 / 25
= - po 4235+ 0.0
pl -30.01:+ 0.00

C = 33.32 [psTEldplay [ns]

12

1z, rove+U9 / 25
4257+ 0.0
-30.9 + 0.0

TVC(c,b,ch)=( 0, 2,
= - :o
p1

PR
50

C = 32.36 [psiphakiay [ns]

TVC(c,b,ch)=( 0, 2,
T A

4000 [,

3000 -

2000

- - po

1)

-1z y4se+U9 / 25
4214+ 0.0
-29.8+ 0.0

p1

50

|
100

C = 33.55 [psTelplay [ns]

TVC(c,b,ch)=(0, 2,

-

4000 F

3000

2000 -

5

nuz gole+u9 / 25
4216+ 0.0
-30.62 + 0.00

C =32.65 [psfplabiay [ns]

TVC(c,b,ch)=(0, 2,
4000 o - 20
p1

3000 |-

2000 -

1
100

9

1u 334e+09 / 25
4256+ 0.0
-30.56 + 0.00

TVC(c,b,ch)=(0, 2,

1
50

1
100

C = 32.73 [psVehiplay [ns]

4000 [,

3000

2000 -

13

1 nuz y14e+09 / 25
4243+ 0.0
-30.93+ 0.00

Y]
100

C = 32.33 [psfphibiay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=( 0, 2,
T "
p1

2

1 nug, (48e+U9 / 25
4188+ 0.0
-29.09 + 0.00

|
50

100

C = 34.38 [psTellay [ns]

TVC(c,b,ch)=(0, 2,
'__ o :o
F o1

6

112, 8yse+09 / 25
4220+ 0.0
-30.53 + 0.00

1
50

1
100

C = 32.76 [psfplakiay [ns]

TVC(c,b,ch)=(0, 2,
- PO
p1

10

1 nuiz 452e+09 / 25
4253+ 0.0
-30.33+ 0.00

TVC(c,b,ch)=( 0, 2,

1
50

|
100

C = 32.97 [psTEldplay [ns]

= - po

14

1 nuiz boye+u9 / 25
4243+ 0.0
-31.26 + 0.00

P V1
100

C=31.99 [psrlﬁlalelay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=(0, 2, 3)
- T A1 nug.uuse+u9 / 25
e - po 4238+ 0.0
pl -30.65 + 0.00
e
50 100
C = 32.62 [pstplatiay [ns]
TVC(c,b,ch)=(0, 2,7)
_ : A" U 3.z0e+09 / 25
¥ - po 42551 0.0
p1 -30.98 + 0.00

C =32.28 [psfplLiay ns]

TVC(c,b,ch)=(0, 2,

|
100

11

1 nuz pzoe+u9 / 25
4264 £ 0.0
-30.21+ 0.00

1
100

C = 33.10 [psTRKplay [ns]

TVC(c,b,ch)=(0, 2,

15

1 nuis,so1e+u9 / 25
4269+ 0.0
-30.68 + 0.00

100

C=3260 [ps'/ﬁr&]elay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,3,0

X~ 1z 5zve+U9 / 25
™ - PO 4193+ 0.0
pl -30.47 + 0.00

C =32.82 [pstrliblay [ns]

TVC(cbch) (0,34

-1z, rp4e+u9 / 25
4217+ 0.0
-29.4+ 0.0

C = 34.02 [psTRRpay [ns]

TVC(cbch) (O 3,8

©rnuzplze+U9 / 25
4229+ 0.0
-29.33+ 0.00

C = 3410 InsVRKfRY [ns]

TVC(cb.ch)=(0, 3, 12

Tnuzsbe+U9 / 25
= - PO 4250+ 0.0
pl -30.55 + 0.00

C = 32.73 [pstrhaklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,3,1

AT 1 nuiLBrze+u9 /25
= - po 4165+ 0.0
p1 -29.47 + 0.00

C = 33.93 [pslRHplay [ns]

TVC(c,b,ch)= (0 3,5

“nu34/e+09 / 24
F- - pO 4188+ 0.0
pL -20.11 % 0.00

1 |
50 100

C = 34.35 [psVeldplay [ns]

TVC(c,b,ch)= (0 3,9

~ 1 nuzb3ae+u9 / 25
== - pO 4229+ 0.0
p1 -29.34 + 0.00

C = 34.08 InsyRKplay [ns]

TVC(eb.ch)=(0, 3, 13

-1 nuiz.as0e+u9 / 25
- - pO 4231+ 0.0
pl -28.67 + 0.00

C = 34 87 IndJRIplY Ins]

4000

2000

4000

2000

4000

4000

TVC(cbch) (0,3,2)

AT 1nug 11ze+09/25
-—- - po 4238+ 0.0
pl -30.33+ 0.00

3000

C = 32.97 [psterhiblay [ns]

TVC(c,b.ch)=(0, 3, 6

- rnuzbble+u9 / 25
- - pO 4202+ 0.0
| pl -30.71+ 0.00

3000

|
100

C=32. 56 [psfﬁli!}elay [ns]

TVC(c,b,ch)=(0, 3 10

2000

T 1nuiz.a4/e+09 / 25
foee. - DO 4244+ 0.0
p1 -29.48 + 0.00

3000

C =33 92 Ing/RKfRY [ns]

TVC(cbch)=(0, 3, 14

2000

~ i, 534e+09 / 25
- - PD 4267+ 0.0
[ pl -30.54 + 0.00

3000

C = 32.74 [psTehiplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,3,3

A” 1 nuiz.p94e+U9 [ 25
= o po 4227+ 0.0
p1 -30.26 + 0.00

1
50 100

C = 33.05 [psTelplay [ns]

TVC(c,b,ch)= (0 3,7

-1 nu.448e+09 / 25
= - pO 4224+ 0.0
pL -29.88+ 0.00

C = 33.46 [pslRHplay [ns]

TVC(c,b ch) (0, 3

EREALER ﬁibeﬂ]g 125
4267+ 0.0
-29.96 + 0.00

C = 33.37 [psiRKplay [ns]

TVC(eb.ch)=(0, 3, 15

T 2.9ze+u9 / 25
- - pO 4277+ 0.0
pl -29.6 + 0.0

C = 33.79 Ind/RIFplY ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,4,0

A1 nug zyse+u9/ 25
= - po 4193+ 0.0
p1 -31.34+ 0.00

C =31.91 [PS{ERLiay ns]

TVC(c,b.ch)=(0, 4, 4

- 1 nuz Baye+u9 / 25
= - pO 4212+ 0.0
p1 -30.57:+ 0.00

C=32. 71 [psfﬁtalalay [ns]

TVC(c,b,ch)= (O 4,8

~1nuiz.4u1e+09 / 25
- - po 4200+ 0.0
pl -28.79+ 0.00

C = 34.73 InsTRNEaY [ns]

TVC(c,b,ch)=( 0, 4 12

Tz, oe+u9/25
= - po 4240+ 0.0
pl -30.67 + 0.00

C = 32.60 [pstrhaklay [ns]

TVC(cbch) (0,4,1

4000 [,

3000 -

2000 -

A7 1 nuzooze+U9 / 25
J po 4182+ 0.0
p1 -29.87 + 0.00

1
50 100

C = 33.48 [psTellay [ns]

TVC(c,b ch) (0 4,5

4000

3000

2000

“nug /13e+09 / 25
4196+ 0.0
-30.75+ 0.00

C=3252 [psr‘s*alaay [ns]

TVC(c,b ch) (0 4,9

4000

3000

2000

T rnuz.441e+09 / 25
4239+ 0.0
-29.55+ 0.00

C = 33 84 IndJRKpaY [ns]

TVC(c,b,ch)=( 0, 4 13

4000

3000 -

2000 -

T nuiz r85e+u9 / 25
- - pO 4248+ 0.0
p1 305+ 0.0

C = 32.79 [psirhklay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,4,2)

A~ 1 nuiz gyye+u9/ 25
_E - po 4230+ 0.0
L pl -31.9+ 0.0

TP delay [ns]

TVC(c,b.ch)=( 0, 4, 6

- rnuz bzge+u9 / 25
3 N pO 4219+ 0.0
[ pl -31.89  0.00

FCc=31.36[psich] © 1

TP delay [ns]

TVC(c,b,ch)=(0, 4 10

© 1z, r18e+09 / 25
- - DO 4251+ 0.0
r pl -29.69 + 0.00

C = 33.69 [psIRKpay [ns]

TVC(cb.ch)=(0, 4, 14

C = 32.24 [psiplakiay [ns]

- Tz psze+U9 / 25
. - pD 4234+ 0.0
X pl -31.01+ 0.00

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,4,3

AT 1z, rs1e+u9 /25
=3 - po 4225+ 0.0
p1 -30.56 + 0.00

1
50 100

C =32.72 [psfplakiay [ns]

TVC(c,b,ch)= (0 4,7

-1 U baye+u9 / 25
- - pO 4204+ 0.0
p1 -31.04+ 0.00

C = 32.22 [PS{plbay (ng]

TVC(c,b,ch)=(0, 4

T, /bbe+U9/25
= - pO 4261+ 0.0
pl -30.04 + 0.00

C = 33.28 [psTEldplay [ns]

TVC(c,b ch) (0, 4 15

T
L

°

o

-1 nuis.usbe+u9 / 25
4242+ 0.0
p1 -31.18 + 0.00

-
C=32.07 [pS{B*&hay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,5,0)

X~ 1w 430e+09 / 25
- po 4234+ 0.0
- pl -30.86 + 0.00

C =32.40 [PS{BRlLiay ns]

TVC(cb.ch)=(0, 5, 4

T 2.80e+09 / 25
B pO 4186+ 0.0
pl -29.27:+ 0.00

C = 34.17 [psTElplay [ns]

TVC(c,b,ch)= (O 58

Tz ryre+U9 / 25
= - PD 4196+ 0.0
pl -28.82+ 0.00

C = 34 70 InsVRApY [ns]

TVC(c.b.ch)=(0, 5, 12

~ 1z ploe+u9 / 25
- - po 4193+ 0.0
pl -29.02+ 0.00

C = 34.46 nsTRHp2Y [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,51

T g zese+u9 / 25
- - pO 4220+ 0.0
- pl -31.56 + 0.00

C=3169 [psich] *
TP delay [ns]

TVC(c,b ch) (0 55

-1 nuz gyye+u9 / 25
4183+ 0.0
-30.17 + 0.00

C = 33.14 [psphatiay [ns]

TVC(c,b,ch)= (0 59

-1 nuiz.oupbe+u9 / 25
=y - pO 4217+ 0.0
p1 -29.75+ 0.00

C = 33.62 [psTEldglay [ns]

TVC(C, bch) (0,5,13

Tinugnl/e+u9/ 25
4208+ 0.0
-29.25+ 0.00

C = 3418 IndJRKpay [ns]

4000

4000

2000

4000

4000

3000

TVC(cbch) (0,5,2)

2000

A~ 1nugnrse+u9/ 25
==, - po 4171+ 0.0
[ p1 -30.8+ 0.0

3000

1
100

C=32 47 pS{EGL|ay [ns]

TVC(c,b.ch)=( 0, 5, 6

- rnuz, ro9e+09 / 25
= N pO 4203+ 0.0
[ pl -30.33+ 0.00

3000

C =32.97 [pstelaklay [ns]

TVC(cbch) (0, 5 10

© 1 nuzpsze+u9 / 25
4233+ 0.0
-29.6 + 0.0

C = 33.78 [ns/RKplaY [ns]

TVC(cb.ch)=(0, 5, 14

2000

T z9ve+u9/ 25
™. - DD 4223+ 0.0
§ pl -29.89+ 0.00

C = 33.46 [psTElaplay [ns]

4000

3000

2000

4000

3000

2000

4000 F

3000

2000

4000

3000

2000

TVC(cbch) (0,5,3

A7 1 nuzbyoe+u9 / 25
pese. - po 4181+ 0.0
pl -30.47 + 0.00

1
50 100

C = 32.82 [psyplatiay [ns]

TVC(c,b,ch)= (0 57

-1 nuag fuze+u9 / 25
o= - pO 4213+ 0.0
p1 -28.44 + 0.00

TP dlay [ns]

A A AL T

TVC(c,b ch) (0, 5

ERALEVX bbéeﬂ]g 125
4208+ 0.0
-28.89 + 0.00

© = 24 A2 InaVRGR1AY [ns]

TVC(C, bch) (0,5,15

-1 nuis.usze+u9 / 25
4234+ 0.0
-29.49+ 0.00

C = 33.92 [psTRKplay [ns]



TVC(cbch) (0,6,0)

4000

3000

2000

A7 1 nuis.usye+u9/ 25
4224+ 0.0
-30.59 + 0.00

|
50 100

C =32.69 [psyplakiay [ns]

TVC(c,b.ch)=(0, 6, 4

4000 F

3000~

2000 =

- 1z goge+u9 / 25
- pO 4213+ 0.0
pl -30.58 + 0.00

C=32. 70 [psfﬁtalalay [ns]

TVC(cbch) (O 6,8

4000

3000

2000

1 nuiz,9uve+u9 / 25
4234+ 0.0
-30.78 + 0.00

0

C=32. 49 [psllﬁla]elay [ns]

TVC(cbch) (0,6,12

4000 =

3000

2000

Tz, rore+09 /25
4228+ 0.0
-29.24+ 0.00

C = 3420 IngJRAfY [Ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,6,1

AT 1 nuiz, [ 1oe+u9 / 25
fee - po 4199+ 0.0
p1 -30.03 + 0.00

|
50 100

C = 33.30 [psirlakiay [ns]

TVC(c,b,ch)= (0 6,5

— ~ 1 nuzbbre+u9 / 25
- - pO 4173+ 0.0
p1 -29.54+ 0.00

C = 33.85 [psTEldplay [ns]

TVC(c,b,ch)= (0 6,9

- -1 nuig 1v0e+u9 / 25
= - pO 4242+ 0.0
pl -30.07 + 0.00

1
50 100

C = 33.26 [psirhaklay [ns]

TVC(C, bch) (0,6,13

T inu r53e+U9 / 25
4216+ 0.0
-29.35+ 0.00

C = 34.08 InsVRKplay [ns]

4000

2000

4000

4000

4000

3000

TVC(cbch) (0,6,2)

T zyze+u9 /25
-—- - pO 4269+ 0.0
pl -30.62+ 0.00

3000

C = 32.66 [psTellay [ns]

TVC(c,b.ch)=( 0, 6, 6

2000

- rnuz.491e+09 / 25
[ - pO 4199+ 0.0
§ pl -30.19:+ 0.00

3000

C = 33.12 [psielatlay [ns]

TVC(cbch) (0, 6 10

2000

1 nuz5Ese+U9 / 25
™ - DO 4296+ 0.0
§ pl -31.8+ 0.0

3000

0

|
100

C=3L 44 [Pstplabiay [ns]

TVC(cbch) (0,6,14

2000

T rze+09 /25
4210+ 0.0
-29.92+ 0.00

C = 33.42 [psTellay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,6,3
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1 |
50 100

C = 32.79 [psVelitlay [ns]

TVC(C, bch) (1,4,13

71 nuiz.044e+U9 / 25
4229+ 0.0
-30.29+ 0.00

C = 33.02 [psTelplay [ns]

TVC(cbch) (1,4,2)

4000 =
3000
2000~

1000 [~

X~ 1z ore+u9 /25
- po 4236+ 0.0
pl -31.93 + 0.00

TP delay [ns]

TVC(cb.ch)=( 1, 4, 6

4000
3000~

2000 =

- 1nuz bzoe+u9 / 25
- pO 4224+ 0.0
pl -30.69+ 0.00

C = 32.58 [psfplakiay [ns]

TVC(C.b,ch)=( 1, 4, 10

4000 [
3000~

2000 [~

1 nuig.uBbe+U9 / 25
- DO 4310+ 0.0
pl -31.15+ 0.00

0

1 |
50 100

C =32.11 [psiahdelay [ns]

TVC(cbch) (1,4,14

4000
3000

2000

~1nuizgloe+U9 / 25
4218+ 0.0
-29.87 + 0.00

C = 33.48 [psTellay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (14,3

- s 1age+9 / 24
™ - PO 4266+ 0.0
pl -31.79.+ 0.00

L
C=3146 [DS(B%Llay [ns]

TVC(c,b,ch)= (1 4,7

-1 U byse+u9 / 25
- - pO 4241+ 0.0
pL -30.19+ 0.00

C = 33.13 [psVeldplay [ns]

TVC(c,b ch) (1, 4

1)
-1 nuz sbbe+u9 / 25
4278+ 0.0
-30.8 + 0.0

C = 32.47 [psVEldplay [ns]

TVC(C, bch) (1,4,15

-1 nuiz.yuae+u9 / 25
4221+ 0.0
-30.21+ 0.00

C = 33.10 [psrrhaklay [ns]



TVC(cbch) (1,5,0)

4000 =

3000~

2000 =

X~ 1z syie+u9 /25
- PO 4192+ 0.0
pl -29.71+ 0.00

C = 33.65 [ps¥elaklay [ns]

TVC(cb.ch)=(1, 5, 4

40005

3000~

2000~

- rnuz391e+09 / 25
- pO 4207+ 0.0
pl -30.18 + 0.00

C = 33.14 [psielatlay [ns]

TVC(cbch) (1 5,8

1 nuiz,9yge+U9 / 25
4255+ 0.0
-30.49 + 0.00

C =32.80 [pstrhaklay [ns]

TVC(cb.ch)=(1, 5, 12

3000 -

2000~

-2 7ze+09 25
4000 [ - pO 4262+ 0.0
pl -30.26 + 0.00

C = 33.05 [psTElaplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,51)

Trnz4/1e+09/25
- pO 4193+ 0.0
p1 -29.88 + 0.00

1
50 100

C = 33.47 [psTehiplay [ns]

TVC(c,b ch) (1, 5

- nuz4ge+u9 / 24
4226+ 0.0
-30.48 + 0.00

C = 32.80 [psTeltlay [ns]

TVC(c,b,ch)= (1 59

- 3.use+u9 / 25
™ - DO 4290+ 0.0
pl -30.46 + 0.00

C = 32.83 [psTEldglay [ns]

TVC(C, bch) (1,5,13

~ 1 nuis.usve+u9 / 25
4268+ 0.0
-30.04 + 0.00

C = 33.29 [psTRKplay [ns]

4000

2000

4000

2000

4000

2000

4000

2000

TVC(cbch) (1,5,2)

3000

X~ 1 53e+U9 / 25
- PO 4206+ 0.0
pl 299+ 0.0

C = 33.44 [psTehiplay [ns]

TVC(c.b.ch)=(1, 5, 6

- a2, 983e+u9 / 25
[ - pO 4262+ 0.0
pl -30.92:+ 0.00

3000

C = 32.35 [psfplakiay [ns]

TVC(c,b,ch)=(1, 5 10

© 1 nuiz,ysoe+U9 / 25
™ - DO 4306+ 0.0
pl -31.37 + 0.00

3000

C = 31.88 [pstrhaklay [ns]

TVC(cbch)=(1, 5, 14

-1 nug, 555e+U9 / 25
=, - po 4237+ 0.0
I pl -29.71% 0.00

3000

C = 33.66 [psTRpay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,5,3

AT 1nuz,$r3e+U9 / 25
™ - PO 4205+ 0.0
p1 -29.66 + 0.00

C = 33.72 [pslRKplay [ns]

TVC(c,b,ch)= (1 57

-1 nu 19ae+U9 / 25
[ - PO 4246+ 0.0
pL -29.85+ 0.00

C = 33.50 [pslRKplay [ns]

TVC(c,b,ch)=(1, 5

T, /dbe+U9/25
- - pO 4282+ 0.0
pl -30.91+ 0.00

C = 32.35 [psVeltlay [ns]

TVC(C, bch) (1,5,15

T inuiz r29e+U9 / 25
4257+ 0.0
-29.86 + 0.00

C = 33.49 [psTRKpay [ns]



TVC(cbch) (1,6,0)

4000

3000 -

2000~

A”

po
pL

1 nuiz pyoe+U9 / 25
4206+ 0.0
-31.35+ 0.00

C = 31.89 [PS{ghil ay [ns]

TVC(cbch) (16,4

4000 [,

3000~

2000 =

pO
pL

- rug.us1e+u9 / 25
4247+ 0.0
-30.89 + 0.00

C = 32.38 [psfplabiay [ns]

TVC(cbch) (1 6,8

1 nuiz.450e+09 / 25
4219+ 0.0
-29.25+ 0.00

C = 34 19 IngVRKpY [ns]

TVC(cbch) (1,6,12

4000 =

3000

2000~

pO
p1

©rnuizy43e+09 / 25
4263+ 0.0
-31.35+ 0.00

C=231.89 [psrlﬁl?!l:lay [ns]

TVC(cbch) (1,6,1)

X

1000 E 1 .u44e+U9 / 25
== - po 4220+ 0.0
pl -30.72+ 0.00

3000 - N

2000 T

—
1
100

C=3255 [Pstlabiay [ns]

TVC(c,b ch) (1, 6

4000

3000

2000

-1 nu b3be+u9 / 25
4213+ 0.0
-30.42 + 0.00

C =32.87 [pstelatiay [ns]

TVC(c,b ch) (1 6,9

4000 [

3000

2000

po
pl

T nu, 733e+U9 / 25
4249 0.0
-29.47+ 0.00

C = 33.93 IngJRKplay [ns]

TVC(C, bch) (1,6,13

4000 [,

3000

2000

pO
p1

T inuaz.yoe+u9 / 25
4238+ 0.0
-30.41+ 0.00

PR
50

PR V1
100

C = 32.88 [psirhklay [ns]

4000

4000

4000

3000

4000

3000

TVC(cbch) (1,6,2)

A"

3000

2000

- N po

pl

1 nug yose+u9 / 25
4219+ 0.0
-31.32+ 0.00

C=231.93 [pS{S'}LHy [ns]

TVC(c.b.ch)=( 1, 6, 6

Sz gze+u9 / 25
.. N pO 4242+ 0.0
-29.99 0.00

3000

2000

p1

C = 33.35 [psTElaplay [ns]

TVC(c,b,ch)=(1, 6
= - po
r "

2000

10

T rnuiz.41ze+09 / 25
4258+ 0.0
-29.49 + 0.00

TVC(c,b ch) (1, 6

2000

14

T nuig,1zse+U9 / 25
4242+ 0.0
-30.04 + 0.00

PR
50

P Y]
100

C = 33.29 [ps¥elaklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,6,3)

X

P - )

pl

rnuz.aye+U9 /24
4236+ 0.0
-30.95+ 0.00

50

C = 32.31 [psVelatlay [ns]

TVC(c,b,ch)= (1 6,7

F- B pO

pl

S nun Zoze+u9 / 25
4224+ 0.0
-29.59 + 0.00

C = 33.80 [ns/RHflay [ns]

TVC(c,b ch) (1, 6

Trnun g zye+u9/24
4239+ 0.0
-29.3% 0.0

~ =21 12 rnc/relg?lay [HS]

TVC(C, bch) (1,6,15

T nuizgr3e+u9 /25
4228+ 0.0
-30.38 + 0.00

C = 32.91 [psirhklay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,7,0

A7 1 nug sbse+u9/ 25
= - po 4190+ 0.0
pl -29.59 + 0.00

C = 33.80 [psTelplay [ns]

TVC(eb.ch)=(1, 7, 4

Tz b rze+u9 / 25
= - pO 4205+ 0.0
pl -30.38+ 0.00

C =32.92 [psfplaLiay ns]

TVC(ebioh)=(1,7,8

T, r53e+09 / 25
4227+ 0.0
-30.55+ 0.00

C = 32.74 [pstrhaklay [ns]

TVC(cbch) (1,7,12

T rnuizpore+U9 / 25
4214+ 0.0
-29.5+ 0.0

C = 33.90 [psTRHplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,7,1)

T/ zbve+u9/ 25
fee - pO 4202+ 0.0
p1 -30.48 + 0.00

1
50 100

C = 32.81 [pstphatiay [ns]

TVC(c,b,ch)=(1, 7

~rnuz.4yre+u9 / 25
= - pO 4194 0.0
p1 -30.84 + 0.00

1
100

C =32 42 [psfBlabiay [ns]

TVC(c,b,ch)=(1, 7

T nuzsye+u9 / 25
= - pO 4225+ 0.0
p1 -29.97 + 0.00

C = 33.36 [psTEldplay [ns]

TVC(C, bch) (1,7,13

Tinuz.p3/e+u9 /25
4240 0.0
-30.62+ 0.00

C = 32.66 [psirhiklay [ns]

4000

2000

4000

2000

4000

2000

4000

3000

TVC(cbch) (1,7,2)

X~ 1 iz 444e+09 [ 25
-— - po 4191+ 0.0
pl -29.97 + 0.00

3000

C = 33.37 [psTellay [ns]

TVC(eb.ch)=(1, 7, 6

- rnug.us1e+u9 / 25
- N pO 4249+ 0.0
[ pl -30.79. 0.00

3000

100

C=32. 48 [psfﬁli!}elay [ns]

TVC(Cb,ch)=(1, 7, 10

“nuz, (0re+u9 /25
™. - DO 4235+ 0.0
X pl -30.12+ 0.00

3000

C = 33.20 [psTEldplay [ns]

TVC(cbch) (1,7,14

2000

1 nuizp4pe+U9 / 25
4224+ 0.0
-29.71+ 0.00

C = 33.66 [psTRHplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,7,3)

T z9se+u9/ 25
= - pO 4221+ 0.0
pl -30.56 + 0.00

|
50 100

C =32.72 [pstplabiay [ns]

TVC(c,b,ch)= (1 7,7

-1 nuz.y4pe+u9 / 24
- - pO 4247+ 0.0
pL -31.45+ 0.00

C =31.80 [ps{BliLiay ns]

TVC(c,b,ch)=(1, 7

1)
-1 nuig.ylae+u9 / 25
= - pO 4243+ 0.0
pl -30.35+ 0.00

_1 |
50 100

C = 32.95 [psirlaklay [ns]

TVC(C, bch) (1,7,15

-1 nuiz.045e+U9 / 25
4247+ 0.0
-30.02+ 0.00

C = 33.32 [psTRKplay [ns]



4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,8,0)

A~ 1, foze+U9 / 25
4183+ 0.0
-30.34 + 0.00

100

C = 32.96 [psiphakiay [ns]

TVC(cb.ch)=(1, 8, 4

- rug,u18e+u9 / 25
o - pO 4265+ 0.0
p1 -32.27:+ 0.00

TP delay [ns]

TVC(c,b,ch)= (1 8,8

~1nuzgy1e+U9 / 25
= - pO 4222+ 0.0
pl -30.58 + 0.00

0

C =32.70 [psfplakiay [ns]

TVC(cbch) (1,812

Tz zre+09 /25
4231+ 0.0
-30.45+ 0.00

C = 32.84 [pstrhitlay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (181

T rug.uLbe+u9 / 25
pee - pO 4215+ 0.0
p1 -30.98 + 0.00

C=32.28 [pS{Ef(]Jlalay [ns]

TVC(c,b,ch)=(1, 8

-1 nuz.yzae+u9 / 25
= - pO 4210 0.0
pL -31.15+ 0.00

- 5'0 100
C =32.11 [PSihleiay g

TVC(c,b,ch)= (1 8,9

-1 nuz 339e+u9 / 25
= - pO 4227+ 0.0
p1 -30.42 + 0.00

C = 32.87 [psVelitlay [ns]

TVC(c,b Ch) (1, 8 13

T 1 nuz s85e+u9 / 25
4204+ 0.0
-29.57+ 0.00

C = 33.82 [ps/RKplay [ns]

4000

4000

4000

2000

4000

TVC(cbch) (1,8,2)

A~ 1 nuig,.uyoe+U9 / 25
-—- - po 4243+ 0.0
[ p1 -30.93 + 0.00

3000

2000

1 1
50 100

C = 32.34 [psfplakiay [ns]

TVC(c.b.ch)=(1, 8, 6

2000

- rnuzgl1e+u9 / 25
= - pO 4220+ 0.0
[ p1 -31.15+ 0.00

3000

C=32.10 [p%‘ﬁ*&lalay [ns]

TVC(eb,ch)=( 1, 8, 10

- nuizb14e+09 | 25
- - po 4234+ 0.0
[ p1 30 0.0

3000

C = 33.33 [psTelplay [ns]

TVC(cbch)=(1, 8, 14

2000

T rnuizgoe+U9 / 25
- - pD 4243+ 0.0
pl -30.76 £ 0.00

3000

Cc=32 51 ps?‘ﬁla]slay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,8,3

AT 1 nuiz,ysse+U9 / 25
= - po 4239+ 0.0
p1 -31.06 + 0.00

1
100

C=32.20 [Pstplabiay [ns]

TVC(c,b,ch)= (1 8,7

- rnug 18/e+u9 / 25
- - pO 4224+ 0.0
p1 -30.86+ 0.00

C = 32.40 [PS{glbay (ng)

TVC(c,b,ch)=(1, 8

AR bzmewg 125
= - pO 4243+ 0.0
p1 -30.44 + 0.00

C = 32.85 [psTellay [ns]

TVC(c,b,ch)=( 1, 8 15

T 1nuizn41e+U9 /25
- - pO 4239+ 0.0
p1 -30.1+ 0.0

C = 33.22 [psVEldplay [ns]



4000

3000

2000

4000

3000

2000

4000

4000

3000

2000

TVC(cbch) (1,9,0)

A1 nuiz oose+u9 / 25
4198+ 0.0
-30.39+ 0.00

100

C =32.90 [psiphakiay [ns]

TVC(cb.ch)=(1, 9, 4

- nuz 158e+09 / 25
- - pO 4198+ 0.0
p1 -30.65+ 0.00

C = 32.63 [psfplakiay [ns]

TVC(cbch) (1 9,8

©1nuz.452e+09 / 25
4185+ 0.0
-28.58 + 0.00

-2/ Q0 rnclglg?lay ns

TVC(cbch) (1,9,12

T rnuz51se+U9 / 25
4217+ 0.0
-29.48 + 0.00

C = 3393 Ing/RApAY [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,91

AT nuzsrse+u9 / 25
= - po 4220+ 0.0
p1 -30.15+ 0.00

1
50 100

C = 33.16 [psVelatlay [ns]

TVC(c,b ch) (1, 9

~nun 2.88e+u9 / 25
4248+ 0.0
-31.03+ 0.00

o
100

C =32 23 [pSfﬁfahay Ins]

TVC(c,b ch) (1 9,9

-1 nuiz.p44e+09 / 25
4220+ 0.0
-29.06 + 0.00

C = 34 42 InJJREpY [ns]

TVC(c,b Ch) (1, 9 13

T nuiz 1be+u9 / 25
4164+ 0.0
-28.57+ 0.00

~ — 2K NN fnc-l;rel‘c\j?lay [I"IS]

4000

4000

2000

4000

3000

2000

4000

3000

TVC(cbch) (1,9,2)

AT 1nuzyrse+u9/ 24
_ - po 4228+ 0.0
p1 -30.63 + 0.00

3000

2000

C = 32.65 [psfplakiay [ns]

TVC(eb.ch)=(1, 9, 6

-1 1y re+09/ 25
= - po 4252+ 0.0
pl -30.82 + 0.00

3000

100

C=32. 45 [psfﬁli!}elay [ns]

TVC(c,b,ch)=(1, 9 10

©1nuzb3ge+U9 / 25
™ - DO 4221+ 0.0
I p1 -29.79 + 0.00

C = 33.56 [psTRHplay [ns]

TVC(cbch) (1,914

2000

~ 1z, ro5e+U9 / 25
4218+ 0.0
-29.76 + 0.00

C = 33.60 [psTRHplay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (19,3

T g, sobe+u9 / 25
- - pO 4265+ 0.0
p1 -31.88 + 0.00

TP delay [ns]

TVC(c,b,ch)= (1 9,7

-1 nu goze+u9 / 25
= B pO 4240+ 0.0
p1 -30.15+ 0.00

C = 33.17 [psVehiplay [ns]

TVC(c,b,ch)=(1, 9

AR bb4e+U9 125
= - pO 4228+ 0.0
p1 -28.67 + 0.00

TP delay [ns]

A — 9400 Tanl~

TVC(c,b ch) (1, 9 15

T nuiz.a1ae+09 /25
4208+ 0.0
-28.95+ 0.00

N =24 RA fnc-I;EPg?lay [nS]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,10,0)

Tz sore+U9 / 25
4179+ 0.0
-29.77 + 0.00

C = 33.60 [ps¥eltlay [ns]

TVC(cb.ch)=( 1, 10, 4

— -z 303e+09 / 25
™=, - pO 41831 0.0
pl -28.85 + 0.00

C = 34 67 IngJREFRY [Ns]

TVC(c,b,ch)=(1, 10 8

— Crnuzgze+09 /25
[ - pO 4236+ 0.0
pl -30.73 + 0.00

C =32.55 [PS{Bhliay [n]

TVC(cbch) (1,10,12

Tz 1 rse+U9 / 25
4212+ 0.0
-28.42+ 0.00

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,10,1)

AT 1 nuz.ss1e+U9 / 25
= - po 4198+ 0.0
p1 -29.93 + 0.00

1
50 100

C = 33.41 [psTellay [ns]

TVC(cb.ch)=(1, 10, 5

— -1 nu gzoe+u9 / 25
= - po 4190+ 0.0
pL -29.06 + 0.00

1 |
50 100

C = 34.41 [psVTElplay [ns]

TVC(cb,ch)=(1, 10,9

— T inu, r38e+u9 / 24
™ - DO 4261+ 0.0
pl -30.16 + 0.00

1 |
50 100

C = 33.15 [psTelplay [ns]

TVC(eb.ch)=(1, 10, 13

1 nuiz syoe+u9 / 25
= - pO 4215+ 0.0
p1 -27.28 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,10,2)

Tnuagazze+09 /25
[, - PO 4195 0.0
pl -29.27 + 0.00

C = 34.17 [psTRHpay [ns]

TVC(cb.ch)=( 1, 10, 6

- rnub81e+u9 / 25
[ - pO 4212+ 0.0
pl -29.61+ 0.00

C = 33.78 [psTENiplay [ns]

TVC(c,b,ch)=(1, 10 10

© 1z, 149e+09 / 25
_- - DO 4263+ 0.0
pl -30.42 + 0.00

C = 32.87 [ps¥eliklay [ns]

TVC(eb.ch)=(1, 10, 14

T nug,1zoe+U9 / 25
[ - pD 4262+ 0.0
pl -28.87 + 0.00

C = 3464 InsTRKEY [Ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (1,10,3)

AT 1 nuz481e+U9 / 25
™ - PO 4193+ 0.0
p1 -28.93+ 0.00

C = 34 57 Ind/RAfaY [ns]

TVC(eb.ch)=(1, 10,7

- i, 48e+09 / 25
[ - PO 4238+ 0.0
pL -29.99 + 0.00

C = 33.34 [psVehitlay [ns]

TVC(eb,ch)=( 1, 10, 11

" nuzgs1e+u9 / 25
- pO 4278+ 0.0
p1 -31.69+ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 10, 15

- raiz.uz4e+u9 / 25
™, - PO 4172% 0.0
pl -28+ 0.0

TlPld1eIay [ns]

~ A A To



TVC(cbch) (1,11,0)

4000

3000

2000

A7 1 nuis.u4se+u9/ 25
4219+ 0.0
-31.22+ 0.00

C =32.03 [PS/EML oy (ns)

TVC(cb.ch)=(1, 11, 4

1000 Tz brbe+u9 / 24
= - pO 4224+ 0.0
pl -30.26+ 0.00

3000~

2000 [~

C = 33.04 [psielatlay [ns]

TVC(eb,eh)=(1, 11, 8

4000 © iz, rz9e+09 / 25
== - po 4223+ 0.0
pl -30.64 + 0.00

3000 =

2000 [~

0

C =32.63 [psfplakiay [ns]

TVC(c,b,ch)=( 1, 11, 12

4000

3000

2000

X~ 1wz byze+u9 / 25
= - po 4247+ 0.0
pl -30.33 + 0.00

C = 32.97 [psTelplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(Cbch) (1,11,1)

AT 1 nuzyuve+u9 / 24
- - po 4234+ 0.0
pl -30.75+ 0.00

1
50 100

C = 32.52 [psrphatiay [ns]

TVC(cbch)=(1, 11, 5

-1 nug.uule+u9 / 25
- - pO 4227 0.0
pL -30.31% 0.00

C =33.00 [pstelatiay [ns]

TVC(eb.ch)=(1, 11,9

-1 nuizsz9e+u9 / 25
== - pO 4258+ 0.0
p1 -31.33+ 0.00

C =31.92 [pS{ghiliay ns]

TVC(c.b.ch)=(1, 11, 13

Tinusar3e+u9 /25
- - pO 4285 0.0
- pl -30.61+ 0.00

P ek Y]
50 100

C = 32.67 [psirhiklay [ns]

4000

4000

4000

4000

TVC(cbch) (1,11,2)

A~ 1 nuig sose+u9 / 25
= - po 4221+ 0.0
pl -31.05+ 0.00

3000

2000

C =32.20 [PS{BhlLiay ns]

TVC(cb.ch)=(1, 11, 6

2000

S rnunz.bze+u9 /25
==, - pO 4207+ 0.0
pl -29.91+ 0.00

3000

C = 33.43 [psielatlay [ns]

TVC(e.b,ch)=( 1, 11, 10

2000

T,/ r1e+09 /25
_- - DO 4288+ 0.0
pl -31.04 + 0.00

3000

C 32.22 [pstrlaklay [ns]

TVC(c,b,ch)=( 1, 11, 14

2000

X~ 1 nuig 340e+09 / 25
= -
[ po 4274+ 0.0
| pl -30.91+ 0.00

3000

C =32.35 [PS{Bhiliay ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,11,3)

AT nizsiie+u9 [ 25
= o PO 4235+ 0.0
pl -30.51+ 0.00

1
50 100

C = 32.78 [psirlakiay [ns]

TVC(c.bch)=(1, 11, 7

-1 Uz yyae+u9 / 25
- - pO 4251+ 0.0
pL -30.08+ 0.00

C = 33.24 [psVehitlay [ns]

TVC(c,b ch) (1, 11 11

-1 nuiz.oz1e+u9 / 25
4276+ 0.0
-31.16+ 0.00

C = 32.10 [psrrlaklay [ns]

TVC(cbch) (111,15

T inuizsz1e+u9 /25
4275+ 0.0
-31.81+ 0.00

MR R R N
C=31.44 [psfﬁ%ay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000
==

3000

2000

TVC(cbch) (1,12,0)

Tonan g.z0e+u9 /25
- - PO 4214+ 0.0
- Pl -29.23+ 0.00

C = 34.21 [pSTRiplay [ns]

TVC(cb.eh)=( 1, 12, 4

S rnuzgr1e+u9 / 25
- - pO 4189+ 0.0
pl -29.69+ 0.00

C = 33.69 [psTelplay [ns]

TVC(Cb,ch)=(1, 12,8

© 1 nug,uUse+u9 / 25
[ - pO 4220+ 0.0
pl -29.86 + 0.00

C = 33.49 [psTehiglay [ns]

TVC(ebch)=(1, 12, 12

~ 1z, 535e+U9 / 25
- pO 4203+ 0.0
pl -29.5+ 0.0

C = 33.90 [psTBReay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,12,1)

AT 1 nuzB3ze+u9 / 25
pese - po 4163+ 0.0
p1 -29.36 + 0.00

|
50 100

C = 34.06 [psTeluplay [ns]

TVC(Cb.ch)=(1, 12,5

-1 nuz 305e+u9 / 25
= - pO 4166+ 0.0
pL -29.81% 0.00

C = 33.55 [psVehitlay [ns]

TVCEebeh)=( 1, 12,9

-1 nuz.4zze+09 / 25
4204+ 0.0
-28.9+ 0.0

=24 RN rnc/Elg?Iay [nS]

TVC(eb.ch)=( 1, 12, 13

T nuiz.po/e+u9 /25
e - pO 4201% 0.0
p1 -30.2+ 0.0

C = 33.11 [psfthdelay [ns]

4000

3000

2000

4000

3000

2000

Crnuzale+u9 /25
4000
[ - DO 4215+ 0.0
pl -29.75+ 0.00
3000~ .
2000~ E
- -
0

4000
feea

3000

2000

TVC(cbch) (1,12,2)

T, (10e+U9 / 25
[ - PO 4193+ 0.0
| pl 206 0.0

C = 33.78 [psTRHElay [ns]

TVC(cb.eh)=( 1, 12, 6

T/ (oe+u9 / 25
[ - pO 4188+ 0.0
| pl -29.59+ 0.00

C = 33.79 [psTElaplay [ns]

TVC(c.b,ch)=( 1, 12, 10

C = 33.61 [psTRHplay [ns]

TVC(cbch) (112,14

-1 nuizyuge+u9 / 25
4219+ 0.0
-30.28 + 0.00

C = 33.03 [pstrhaklay [ns]

4000
-~

3000

2000

4000

3000

2000

4000
bees

3000

2000

4000
e

3000

2000

TVC(C, bch) (1,12, 3

A7 1 nuiz,bzoe+u9 / 25
- po 4174+ 0.0
pl -28.79+ 0.00

C = 34 74 IndJRAfaY [ns]

TVC(eb.ch)=(1, 12,7

-1 nu gz1e+u9 / 25
[ - PO 4233+ 0.0
pL -30.08 + 0.00

C = 33.24 [psVElplay [ns]

TVC(c,b ch) (1, 12 1

T nuzb41e+u9 /25
4215+ 0.0
-29.13+ 0.00

© = 24 22 InaVRGF1Y [ns]

TVC(cbch) (112,15

-1 nuiz ose+u9 / 25
4205+ 0.0
-29.67 + 0.00

C = 33.71 [psTRKplay [ns]



TVC(cbch) (1,13,0)

4000

3000

2000

K™ r57e+U9/25
4184+ 0.0
-31.33+ 0.00

C=231.92 [pS{B'}LW [ns]

TVC(cb.eh)=( 1, 13, 4

4000 &

3000~

2000 [~

- 1z 549e+09 / 25
- pO 4221+ 0.0
pl -20.77 + 0.00

C = 33.59 [psTBRplay [ns]

TVC(cbch) (1, 13 8

T a2 3u/e+09 / 25
4193+ 0.0
-28.99+ 0.00

TVC(cbch) (1,13,12

4000

3000

2000

© g 5s3e+U9 / 25
4252+ 0.0
-30.81+ 0.00

C = 32.45 [psyphiblay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,13,1

AT 1 nuig.zooe+u9 / 25
N po 4237+ 0.0
" pL -30.22:+ 0.00

C =33.09 [PS{ERLiay ns]

TVC(cb.ch)=(1, 13,5

-1 nug.uY4e+u9 / 25
e - pO 4246+ 0.0
pL -29.79+ 0.00

1 |
50 100

C = 33.57 [psVeldplay [ns]

TVCEbeh)=( 1, 13,9

T nuiz113e+09 / 25
4235+ 0.0
-29.33 + 0.00

TP delay [ns]

N =24 10 Tnelahl

TVC(eb.ch)=( 1, 13, 13

Tinuizyr3e+u9 /25
- - pO 4255+ 0.0
p1 -30.79+ 0.00

C = 32.48 [psfplatiay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

TVC(cbch) (1,13,2)

T rnuzssse+u9 / 25
- - pO 4214+ 0.0
| pl -30.93+ 0.00

1
100

c=32 34 ps{ﬁlalelay [ns]

TVC(cb.eh)=(1, 13,6

- 1, 106e+09 / 25
= - po 4246+ 0.0
pl -30.18 + 0.00

1 1
50 100

C = 33.13 [psielatlay [ns]

TVC(c,b,ch)=(1, 13 10

T nugusze+U9 / 25
_- - DO 4288+ 0.0
pl -30.44 + 0.00

C = 32.85 [psTelplay [ns]

TVC(cbch) (113,14

2000

~nuzgsve+U9 / 25
4249+ 0.0
-30.47 + 0.00

C = 32.82 [psTellay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,13,3)

A7 1 nuiz,o09e+U9 / 25
- PO 4223+ 0.0
p1 -30.6 + 0.0

1
50 100

C = 32.68 [psirlkiay [ns]

TVC(cb.ch)=(1, 13,7

Cnun zye+u9 /25
= - pO 4246+ 0.0
pL -30.36+ 0.00

C = 32.94 [psTeltlay [ns]

TVC(eb,ch)=( 1, 13, 11

-1 nuiz bgYe+u9 / 25
= - pO 4255+ 0.0
p1 -30.22 + 0.00

C = 33.10 [psTRKplay [ns]

TVC(cbch) (1,13,15

Tinuizp4/e+U9 /24
4268+ 0.0
-31.43+ 0.00

A
100

C=31. 81 [Psfplabiay [ns]



4000

3000

2000

4000

3000

2000

4000
fe==

3000

2000

4000

3000

2000

TVC(CbCh) (1, 14 0)

©rnuzgo4e+U9 / 25
4213+ 0.0
-30.91+ 0.00

C =32.35 [psfplabiay ns]

TVC(c,b,ch)=( 1, 14 4

T zs1e+09 / 25
foee - pO 4180+ 0.0
p1 -30.25+ 0.00

C = 33.05 [psrelablay [ns]

TVC(ebeh)=(1, 14,8

Tz pe+U9 / 25
4162+ 0.0
-27.91+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 1, 14 12

T rnuig.uLse+U9 / 25
= - po 4289+ 0.0
pl -31.09 + 0.00

C =32.17 [psiphakiay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(chh) (1,14,1)

AT 1 nu.u3se+u9 /25
- po 4237+ 0.0
- p1 -30.44 + 0.00

|
50 100

C = 32.86 [psrphatiay [ns]

TVC(c,b,ch)=(1, 14 5

S nun3.13e+09 /25
- - pO 4227+ 0.0
p1 -31.37 0.00

C =31.88 [PS/BLiy [ng]

TVC(ch.ch)=(1, 14, 9

-/ uia30e+U9 1 25
- - po 4197+ 0.0
pL -29.44 % 0.00

C = 33.97 [ps/RKplay [ns]

TVC(c,b ch) (1, 14 13

T inuzog/e+u9 /24
4266+ 0.0
-31.64+ 0.00

s L+
C=3161 [psrlsfalaay[ns]

4000

4000

2000

4000

3000

2000

4000

TVC(CbCh) (1, 14 2)

Trnuizplie+u9 /24
-— - pO 4225+ 0.0
p1 -31.11+ 0.00

3000

2000

1 1
50 100

C =32.14 [psfplakiay [ns]

TVC(c,b,ch)=( 1, 14 6

-1 nuz goze+u9 / 25
- N pO 4184 0.0
K pl -30.68+ 0.00

3000

1
100

C=32 60 [PstBlibiay [ns]

TVC(c.b,ch)=( 1, 14, 10

©1nuiz.4zpe+09 / 25
- DO 4238+ 0.0
pl -29.62 + 0.00

C = 33 76 IngVRApAY [ns]

TVC(c,b,ch)=( 1, 14 14

2000

T 1nuiz40/e+09 / 25
= - pD 4282+ 0.0
B pl -31.27 + 0.00

3000

C =31.98 [psiplakiay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(Cbch) (1,14,3)

AT rnuazarze+U9 /25
=3 - po 4210+ 0.0
p1 -31.04 + 0.00

1
100

C=3222 [Pstplabiay [ns]

TVC(c,b,ch)=( 1, 14 7

-1 nu g3ye+u9 / 25
= - pO 4223+ 0.0
p1 -30.56+ 0.00

| ol
50 100

C =32.73 [psrphitiay [ns]

TVC(c,b ch) (1, 14 11

~ i nuzsy/e+u9 / 25
4212+ 0.0
-28.75+ 0.00

TP delay [ns]

~ =24 70 Tnelahl

TVC(c,b ch) (1, 14 15

-1 nuiz.ysoe+u9 / 25
4254+ 0.0
-30.41+ 0.00

C = 32.88 [psirhklay [ns]



4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (1, 15 0)

©rnuzyz4e+09 / 25
4228+ 0.0
-32.21+ 0.00

TP delay [ns]

TVC(cb.ch)=( 1, 15, 4

-1z yzae+u9 / 25
= - pO 4242+ 0.0
p1 -30.64 + 0.00

C = 32.64 [psyplakiay [ns]

TVC(cbch) (1, 15 8

1 nuzpgye+U9 / 25
4238+ 0.0
-29.63 + 0.00

C = 33.75 [psIBKplay [ns]

TVC(cbch) (1,15,12

~ nuz 3ube+U9 / 25
4222+ 0.0
-29.85+ 0.00

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(chh) (1,15,1)

x- 155 0e+09 ] 25
== - po 4198+ 0.0
pL -31.37+ 0.00

L
C=231.88 [pS{Bkc'lLlay [ns]

TVC(cb.ch)=(1, 15, 5

“rnubae+u9 / 25
= - pO 4215 0.0
pL -30.31# 0.00

C =32.99 [psielakiay [ns]

TVC(c,b,ch)=(1, 15 9

T nuiz szoe+u9 / 25
= - pO 4260+ 0.0
p1 -30.73+ 0.00

C = 32.54 [psVehiplay [ns]

TVC(eb.ch)=( 1, 15, 13

-1 nuis.yuse+u9 / 25
- - pO 4242+ 0.0
pl -29.59 + 0.00

4000

3000

2000

1000

4000

4000

3000

2000

4000

2000

TVC(CbCh) (1, 15 2)

TP delay [ns]

TVC(cbch) (1,156

3000

2000

Tz, 140e+09 / 24
N pO 4237+ 0.0
p1 -32.29+ 0.00

T rnug r31e+09 / 25
4245+ 0.0
-29.9+ 0.0

C = 33.45 [psIRHpay [ns]

TVC(c,b,ch)=(1, 15 10

©nuigus3e+U9 / 25
= - DO 4288+ 0.0
pl -30.95+ 0.00

0

1 |
50 100

C =32.31 [psiplakiay [ns]

TVC(cbch) (115,14

3000

Tz 3r8e+U9 / 25
4242+ 0.0
-29.51+ 0.00

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(Cbch) (1,15,3)

AT 1 nuzo3oe+u9 / 25
=3 - po 4217+ 0.0
p1 -31.05 + 0.00

1
100

C=32.20 [Pstplabiay [ns]

TVC(cb.ch)=(1, 15, 7

-1 nui glye+u9 / 25
- - pO 4202+ 0.0
pL -29.89+ 0.00

C = 33.46 [pslRKplay [ns]

TVC(eb,ch)=( 1, 15, 11

-1 nuzg1Ye+u9 / 25
- - pO 4293+ 0.0
p1 -30.27 + 0.00

C = 33.03 [psTRKplay [ns]

TVC(cbch) (1,15,15

T nuizy4/e+u9 /25
4242+ 0.0
-29.46 + 0.00

C = 33.94 [ngIRKplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (2,0,0)

Tz 90e+u9/ 25
- pO 4204+ 0.0
-31.34+ 0.00

C=31.91 [pS{B'}LW [ns]

TVC(cb.ch)=(2, 0, 4

- rnu B3ge+u9 / 25
- B pO 4223 0.0
pl -29.31x 0.00

C = 34.12 [psTRRpiay [ns]

TVC(c,b,ch)= (2 0,8

1 nuzpoae+U9 / 25
- - po 4189+ 0.0
pl -29.34+ 0.00

C = 34.08 [psTRHplay [ns]

TVC(cbch) (2,0,12

T rnuiz45e+09 / 25
4211+ 0.0
-28.99+ 0.00

C = 24 80 InaRERlY [

TVC(cbch) (2,0,1)
x- 1w, (ase+u9 | 25
4000 N po 4229+ 0.0
pl -31.54+ 0.00

3000 -

2000

L
C =3L71 [PSfEhliay (ng]

TVC(c,b ch) (2, O )
-1 nug 1o5e+U9 / 25
4000 4190+ 0.0
-29.16+ 0.00

3000

2000

C = 34 30 Ind/RIGplY ns]

TVC(c,b ch) (2 0,9)
~inui 712e+09 / 25
4000 -_- - po 4308+ 0.0
=\ pl -30.61+ 0.00

3000 |-

2000

C = 32.67 [psVeliklay [ns]
TVC(eb.oh)=(2, 0, 13

T nuiz r9ze+u9 / 25

4000
4268+ 0.0
-30.44+ 0.00

3000

2000

C = 32.86 [psTEldplay [ns]

TVC(cbch) (2,0,2)

A1z pzze+09 /25

4000 F A po 4221 0.0

p1 -30.7+ 0.0
3000 - T
2000 - T
C = 32.58 [psfplakiay [ns]

TVC(cb.ch)=(2, 0, 6)

- rnuz.6y1e+u9 / 25

4000 | - po 4193+ 0.0

r pl -28.79+ 0.00
3000~ T
2000 = T

C = 34.73 [psTBHflay [ns]
TVC(c,b, ch) (2, 0 10

1 nuiz,ygpe+U9 / 25

4000 £ J 0
™) P 4282+ 0.0
[ pl -30.55 + 0.00

3000~

2000 |-

C = 32.73 [pstrlaklay [ns]
TVC(eb,ch)=(2, 0, 14

2000 E Tz 510e+09 / 25
P - pD 4211+ 0.0
pl -28.89+ 0.00

3000~

2000~

C = 34.61 [ns/RRFlaY [ns]

TVC(c,b ch) (2,0,

A

3)

nur 3,1e+09 /25
4235+ 0.0
-30.49 + 0.00

4000
= o po
pL
3000
2000 [
50

C = 32.80 [psyplatiay [ns]

TVC(c,b ch) (2 0,7

-

4000

nu baye+u9 / 25
4203+ 0.0
-29+ 0.0

3000

2000

C = 34 48 IndJRiplY Ins]

TVC(c,b,ch)=(2, O

2000 F T o, 49)1e+u9 125

e - po 4233+ 0.0

pl -30.27 + 0.00
3000 - T
2000 - T
C = 33.04 [psVehiplay [ns]

TVC(c,b ch) (2,0,

X1

4000

15

nur z.p4e+u9 / 24
4224+ 0.0
-29.24+ 0.00

3000

2000

C=242N0 [nc-l;reh

d?Iay [ns]



4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (2,1,0)

AT 1nusazze+09/25
- po 4196+ 0.0
-32.89 0.00

1
50 100

TP delay [ns]

TVC(cb.ch)=(2, 1, 4

-z, 742e+09 / 25
- pO 4209+ 0.0
pl -30.13 + 0.00

C = 33.18 [psVEhtlay [ns]

TVC(ebeh)=(2, 1,8

T nuig,133e+09 / 25
4230+ 0.0
-30.83+ 0.00

100

C 32. 44 [psrlﬁmelay [ns]

TVC(eb.ch)=(2, 1, 12

-1 nuzpyoe+u9 / 25
=, - PO 4202+ 0.0
pl -29.29 + 0.00

C = 34.14 [psTRReay [ns]

4000

3000

2000

1000,

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (2,1,1

AT 1 nuzbroe+u9 / 25
po 4624+ 0.0
. - pl -35.08 + 0.00

= 28. pSic
TP delay [ns]

TVC(c,b ch) (2 1,5

-1 nu gg3e+u9 / 25
4207+ 0.0
-30+ 0.0

C = 33.34 [psTeltlay [ns]

TVC(c,b ch) (2, 1

-1 nuig 19se+u9 / 25

™ - DO 4331+ 0.0
o)

- pl -31.33+ 0.00

C =31.91 [psfghibiay ns]

TVC(cbch) (21,13

T inuzg1se+u9 / 25
4235+ 0.0
-30.71+ 0.00

C = 32.57 [psirhblay [ns]

4000

4000

4000

2000

4000

3000

TVC(cbch) (2,1,2)

3000

2000

X~ 1w 150e+U9 / 25
- po 4247+ 0.0
pl -31.82+ 0.00

TVC(c,b,ch)= (2 1,6

2000

- g zole+u9 / 25
[P - pO 4218+ 0.0
pl -29.82:+ 0.00

3000

1 1
50 100

C = 33.53 [psrelatlay [ns]

TVC(ebeh)=(2 1, 10

©nu sZ0e+U9 / 25
= - DO 4342+ 0.0
o= pl -31.11+ 0.00

3000

C = 32.14 [psTElaplay [ns]

TVC(cbch)=(2, 1, 14

2000

T rnuig.zs1e+U9 / 25
- - PD 4250+ 0.0
p1 -30.4+ 0.0

PR BT V]
50 100

C =32.90 [pstrhaklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (2,1,3)

R 1 Ssae+U9 [ 25
B po 4227+ 0.0
pl -31.73+ 0.00

C-3153 [ps/ch]
TP delay [ns]

TVC(c,b,ch)= (2 1,7

-1 nu gooe+u9 / 25
- PO 4211+ 0.0
pL -30.01+ 0.00

] Yol
50 100

C = 33.32 [psTeltlay [ns]

TVC(c,b,ch)=( 2, 1

EREALER mzeﬂ]g 125
= - pO 4266+ 0.0
pl -30.91+ 0.00

C = 32.35 [psirlaklay [ns]

TVC(cbch) (21,15

-1 nuiz.ygve+u9 / 25
4229+ 0.0
-30.28 + 0.00

C = 33.02 [psVelatlay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (2,2,0)

T rnuiz410e+09 / 24
4180+ 0.0
-29.66 + 0.00

C = 33.72 [psTElaplay [ns]

TVC(cb.ch)=(2, 2, 4

-1 534e+09 / 25
= - pO 4187+ 0.0
p1 -31.29+ 0.00

C = 31.96 [PS/EL1ay (ng)

TVC(c.b.ch)=(2, 2,8

T3 e+u9 / 25
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TVC(cb.ch)=(3, 6, 14

2000

T rnuizgye+U9 / 25
™ - PD 4260+ 0.0
p1 -30.4+ 0.0

PR BT, Y]
50 100

C =32.90 [pstrhaklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (3,6,3

AT 1z s1se+u9 / 25
= - po 4207+ 0.0
pl -28.82+ 0.00

_1 |
50 100

C = 34.70 [ns/Riplay [ns]

TVC(c,b,ch)= (3 6,7

-1 nu ggle+u9 / 25
- - pO 4271+ 0.0
pL -31.59+ 0.00

C =31.65 [Ps{Ehliay ng)

TVC(c,b,ch)=(3, 6

Trnun 2 me+u9/25
™. - pO 4250+ 0.0
pl -30.52 + 0.00

C = 32.76 [psirlaklay [ns]

TVC(C, bch) (3,6,15

-1 nuiz.045e+U9 / 25
4241+ 0.0
-29.69+ 0.00

C = 33.68 [psTRKplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (3,7,0)

A7 1nuig ry1e+U9/24
4212+ 0.0
-29.67 + 0.00

C = 33.70 [pslRplay [ns]

TVC(cb.ch)=(3, 7, 4

-z, u3e+u9 / 25
= - pO 4218+ 0.0
pl -29.96+ 0.00

C = 33.38 [psTElaplay [ns]

TVC(c,b,ch)= (3 7,8

T nug.Usse+U9 / 25
= - pO 4245+ 0.0
pl -31.24+ 0.00

C =32.01 [PS{phliay n]

TVC(cb.ch)=(3, 7, 12

T, (1/e+U9 /25
==, - PO 4238+ 0.0
pl -28.99 + 0.00

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (3,71

AT 1 nuz.zoe+U9 / 25
= - po 4194+ 0.0
p1 -29.62+ 0.00

C = 33.76 [pslRHplay [ns]

TVC(c,b ch) (3 7,5

~1nu (z24e+09 / 25
4200+ 0.0
-29.26 + 0.00

C = 34.17 Ins/RHflay [ns]

TVC(c,b,ch)= (3 7,9

-1 nuiz.ozoe+u9 / 25
=y - pO 4238+ 0.0
p1 -30.51+ 0.00

C = 32.77 [psirhablay [ns]

TVC(C, bch) (3,7,13

-1 nuiz.oboe+u9 / 25
4209+ 0.0
-29.32+ 0.00

4000

2000

4000

4000

2000

4000

2000

TVC(cbch) (3,7,2)

A7 1 nuis.uzye+u9/ 25
e - po 4237+ 0.0
pl -30.28 + 0.00

3000

| |
50 100

C = 33.02 [ps¥elaklay [ns]

TVC(c.b.ch)=(3, 7, 6

2000

- g, 7z24e+09 / 25
= N pO 4220+ 0.0
[ pl -30.34+ 0.00

3000

C = 32.96 [psTelplay [ns]

TVC(c,b,ch)=(3, 7 10

© 1z, rgoe+U9 / 25
™ - DO 4258+ 0.0
| pl -30.83 + 0.00

3000

C = 32.44 [psirhaklay [ns]

TVC(cbch)=(3, 7, 14

Tz s14e+09 / 25
™ - PD 4203+ 0.0
pl -29.04 + 0.00

3000

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (3,7,3

AT 1 nuzbare+u9 /25
=3 - po 4208+ 0.0
pl -29.59 + 0.00

C = 33.80 [psleplay [ns]

TVC(c,b,ch)= (3 7,7

-1 nu byse+u9 / 25
™ B PO 4223+ 0.0
pL -30.05+ 0.00

C = 33.28 [psVeldplay [ns]

TVC(c,b ch) (3, 7

T, /b‘Je+U9/25
4246 £ 0.0
-30.9 + 0.0

e
_1 |
50 100

C =32.37 [pstplakiay [ns]

TVC(C, bch) (3,7,15

T inuizolie+u9 /25
4215+ 0.0
-29.69+ 0.00

C = 33.68 [psTRKplay [ns]



TVC(c,b,ch)=(3,8,0)
T X

4000

3000

2000

T rnuzysse+U9 / 25
- po 4241+ 0.0
p1 -31.4+ 0.0

C = 31.84 [PS/EML oy (ns)

TVC(c,b,ch)=(3, 8, 4

4000

3000

2000

- rnuz 193e+09 / 25
4206+ 0.0
-29.8+ 0.0

C = 33.56 [psTBRplay [ns]

TVC(c,b,ch)=(3, 8, 8

4000

3000

2000

1000

0

- 0o
p1

1 nuiz yzze+09 / 25
4269+ 0.0
-32.17 + 0.00

0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(3, 8, 12

4000

3000

2000

Tz gore+U9 / 25
- po 4230+ 0.0
pl -30.49 + 0.00

C = 32.80 [psTelplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=(3,8,1)
T A

Tz ynse+u9 /24
= - po 4221+ 0.0
pl -29.93+ 0.00

|
50 100

C = 33.41 [psTellay [ns]

TVC(c,b,ch)=(3, 8,5

-1 nuz.buse+u9 / 25
4212+ 0.0
-29.56 + 0.00

1
100

C = 33.83 [pslRKplay [ns]

TVC(c,b,ch)=(3, 8,9

Tonan 2 38e+u9 / 25
- po 4237+ 0.0
p1 -31.43+ 0.00

C = 31.82 [pS{philiay [ns]

TVC(c,b,ch)=( 3, 8, 13

T nuiz.a4ze+u9 / 25
= - po 4216+ 0.0
p1 -30.12+ 0.00

AV
100

C = 33.20 [psTelplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=(3, 8, 2
T X

1 1
50 100

C = 32.98 [pstrhiblay [ns]

TVC(c,b,ch)=(3, 8, 6

B - po

T rnuizsule+U9 / 24
- - po 4217+ 0.0
[ p1 -30.32+ 0.00

C = 33.68 [pslBHiplay [ns]

TVC(c,b,ch)=(3, 8, 10

- Uz 355e+09 / 24
4212+ 0.0
pl -29.69 + 0.00

0

100

C=31.59 [p%‘E*&Llay [ns]

TVC(c,b,ch)=(3, 8, 14

= - po

1 nuiz y3be+u9 / 25
4276+ 0.0
-31.66 + 0.00

PR PR V1
50 100

C = 32.81 [pstrhaklay [ns]

T 1nuizpo/e+U9 / 25
4231+ 0.0
pl -30.48 + 0.00

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=(3, 8, 3)
T A

T ruzyzze+u9 /25
= - po 4245+ 0.0
p1 -31.23+ 0.00
[
100

C =32.02 [ps{glabiay [ns]

TVC(c,b,ch)=(3, 8,7

= 1 nuz Jove+u9 / 25
= - po 4249+ 0.0
pl -30.05+ 0.00

1 |
50 100

C = 33.27 [psVehiglay [ns]

TVC(c,b,ch)=(3, 8, 11

1 nuig.pyze+u9 / 25
4276+ 0.0
-31.56 + 0.00

n 1
C=31.68 [P#B%Llay [ns]

TVC(c,b,ch)=(3, 8, 15

1, (32e+09 / 25
4254+ 0.0
-29.95+ 0.00

Y]
100

C = 33.39 [psTRKplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (3,9,0)

A7 1 nugsyse+u9/ 25
4223+ 0.0
-29.72+ 0.00

C = 33.64 [psTElaplay [ns]

TVC(cb.ch)=(3, 9, 4

S rnan 25ze+09 /25
. - pO 42131 0.0
pl -20.52+ 0.00

C = 33.88 [ns/RHfay [ns]

TVC(cbch) (3 9,8

“ o z37e+09 /25
4195+ 0.0
-29.13+ 0.00

C = 34.33 [ns/RRflay [ns]

TVC(eb.ch)=(3, 9, 12

T 1nuz401e+09 / 25
™= - PO 4258+ 0.0
pl -30.74 + 0.00

C = 32.53 [psTelplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (3,91

A7 1 nuzys4e+U9 / 25
= o po 4226+ 0.0
p1 -29.28 + 0.00

50 100

C = 34.16 [psTeluplay [ns]

TVC(c,b ch) (3 9,5

=1 Uz yype+u9 / 25
4233+ 0.0
-30.2 + 0.0

C = 33.11 [ps/hdelay [ns]

TVC(c,b,ch)= (3 9,9

T inuiz.yz/e+u9 /25
= - pO 4242+ 0.0
-29.5+ 0.0

C = 33.90 [psTRKplay [ns]

TVC(C, bch) (3,9,13

Tinuzzr1e+u9 /25
4225+ 0.0
-30.71+ 0.00

C = 32.56 [psirhklay [ns]

4000

2000

4000

4000

3000

4000

TVC(cbch) (3,9,2)

X~ 1z nrse+U9 /25
[, - PO 4236+ 0.0
i pl -30.11 + 0.00

3000

C = 33.22 [psTElaplay [ns]

TVC(cb.ch)=(3, 9, 6

2000

-1 nuz.9s4e+09 / 25
[ - pO 4249+ 0.0
i pl -30.25:+ 0.00

3000

C = 33.05 [psVEhitlay [ns]

TVC(c,b,ch)=(3, 9 10

2000

T z.31e+09 / 25
. - DO 4228+ 0.0
I pl -29.11+ 0.00

TVC(cbch) (3,9,14

3000

2000

Tz, r49e+09 / 24
4269+ 0.0
-31.97 + 0.00

C=31.28 [pS{B%Llay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (3,9,3

AT 1 nuiz,y4ye+U9 / 25
[ - PO 4256+ 0.0
pl -29.49+ 0.00

C = 33 92 Inq/RAfaY [ns]

TVC(c,b,ch)= (3 9,7

S nun 2z roe+u9 /25
[ - PO 4239+ 0.0
pL -29.16 + 0.00

C = 24 29 Inq/RRfAY [ns]

TVC(c,b ch) (3, 9

T nu bdieﬂ]g 124
4261+ 0.0
-30.28 + 0.00

C = 33.03 [psTRKplay [ns]

TVC(eb.ch)=(3, 9, 15

T g zive+u9 / 25
™, - PO 4278+ 0.0
pl -31+ 0.0

C=232.25 [psfﬁhﬂalay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (3, 10 0)

© 1, (o0e+U9 / 25
4223+ 0.0
-31.01+ 0.00

C =32.25 [psfplbiay ns]

TVC(c,b,ch)=( 3, 10 4

-1z bloe+u9 / 25
= - pO 4188+ 0.0
p1 -30.64 + 0.00

C=32 64 [psrlglalalay [ns]

TVC(cbch) (3, 10 8

1 nuizpyse+U9 / 25
4247+ 0.0
-30.86 + 0.00

0

C =32.41 [psiphakiay [ns]

TVC(c,b,ch)=( 3, 10 12

T rnuiz4nze+09 / 24
== - po 4238+ 0.0
pl -29.55+ 0.00

C = 33 85 Ing/RApAY [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(chh) (3,10,1)

AT 1 nus.suze+u9 / 25
- po 4237+ 0.0
p1 -31.63+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 3, 10 5

-1 nug 194e+09 / 25
== N pO 4234+ 0.0
-30.7+ 0.0

100

C =32 58 [pSfﬁfahay Ins]

TVC(c,b ch) (3, 10

T nuiz.yrve+u9 / 25
4239+ 0.0
-30.86 + 0.00

C = 32.40 [psVelitlay [ns]

TVC(c,b ch) (3, 10 13

1 nuiz sove+u9 / 25
4229+ 0.0
-28.86 + 0.00

AN
100

TP d1 lay [ns]

N — 21 K Tnelah

4000

4000

2000

4000

2000

4000

2000

TVC(CbCh) (3, 10 2)

~ g, 1o0e+U9 / 25
-—- - pO 4235+ 0.0
[ p1 -31.18 + 0.00

3000

2000

C =32.07 [PS/EML 0y (ns)

TVC(c,b,ch)=( 3, 10 6

T rnuz r91e+09 / 25
- N pO 4245+ 0.0
[ pl -30.94 + 0.00

3000

C = 32.32 [psfplakiay [ns]

TVC(c,b,ch)=(3, 10 10

©rnuz51ge+U9 / 25
- - DO 4273+ 0.0
p1 -31.24 + 0.00

3000

C = 32.01 [pstrhaklay [ns]

TVC(c,b,ch)=( 3, 10 14

1 nuiz540e+09 / 25
= - pD 4234+ 0.0
B pl -29.64 + 0.00

3000

C = 33.74 [ns/RRplay [ns]

TVC(Cbch) (3,10, 3)

4000 k&,

3000

2000

AT 1 nuzyuse+u9 / 25
- - po 4230+ 0.0
pl -30.15+ 0.00

1
50 100

C = 33.16 [psVelatlay [ns]

TVC(c,b,ch)=( 3, 10 7

4000 B

3000

2000 -

1000 [~

-1 nu, rgye+u9 / 25
B pO 4223+ 0.0
p1 -31.56+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 3, 10 11

4000 [u -

3000 -

2000 -

T nuiz r35e+U9 / 25
pO 4274+ 0.0
pl -30.02 + 0.00

C = 33.31 [psiRKplay [ns]

TVC(cbch) (3, 10 15

4000

3000

2000

-1 nuiz.yzae+u9 / 25
4244+ 0.0
-29.85+ 0.00

C = 33.50 [psTRKplay [ns]



4000

3000

2000

4000
fe==

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (3,11,0)

A1 nuiz suoe+u9 / 25
feoe - po 4194+ 0.0
pl -30.76 + 0.00

C =32.51 [PS{BRLiay ns]

TVC(cbch) (3,11,4

- rnuz.419e+09 / 25
4159+ 0.0
-29.6+ 0.0

C = 33.79 [psVElilay [ns]

TVC(c,b,ch)=( 3, 11 8

1 nuiz.444e+09 / 25
= - po 4189+ 0.0
pl -28.49 + 0.00

C = 35.10 [pstrhaklay [ns]

TVC(cb.ch)=(3, 11, 12

— Tinunz.a4e+09 /25
beee - pO 4219+ 0.0
pl -29.83+ 0.00

C = 33.52 [psTRHplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(Cbch) (3,11,1)

A1 1z agae+U9 | 25
pese - po 4190+ 0.0
pL -29.96+ 0.00

1
50 100

C = 33.38 [psVelatlay [ns]

TVC(cbch) (3,11,5

=1 Ui bbze+u9 / 25
4128+ 0.0
-28.12+ 0.00

~

A

_ TP delay ns]

e

4000

4000

2000

TVC(cbch) (311,2)

T 1ire+09 /25
_—- - pO 4250+ 0.0
| pl -31.23+ 0.00

3000

2000

| 1
50 100

C =32.02 [psyfplakiay [ns]

TVC(c.b,ch)=(3, 11, 6

T Bae+u9 / 25
= N pO 4206+ 0.0
[ pl -29.12+ 0.00

3000

C = 34.34 [psTRRplay [ns]

4000

3000

2000

4000

3000

2000

TVC(cbch) (3,11, 3)

AT 1z szoe+u9 /25
- - po 4200+ 0.0
pl -29.92+ 0.00

1
50 100

C = 33.42 [psirlablay [ns]

TVC(c.b,ch)=(3, 11, 7

s nug /(ge+u9 / 25
™ - PO 4192+ 0.0
pL -28.71+ 0.00

C = 24 83 IndJRKFY [ns]

TVC(eb.ch)=(3, 11, 9

TVC(c,b,ch)=( 3, 11, 10

-1 nuiz.puse+u9 / 25
= - pO 4249+ 0.0
p1 -30.18+ 0.00

1
50

1
100

C = 33.14 [psVelitlay [ns]

TVC(c.b.ch)=(3, 11, 13

Tinu.rb/e+u9 /25
- pO 4219+ 0.0
p1 295+ 0.0

C = 33.90 [ps/RKplay [ns]

4000
=

3000

2000

4000

3000

2000

X1z 173e+

TVC(e.b,ch)=(3, 11, 11

- po

U9 /25
4216+ 0.0
pl -28.97 + 0.00

TP delay [ns]

N — 24 KD Tnelahl

TVC(c.b.ch)=(3, 11, 14

Trnug5r1e+09 /25
- PD 4185+ 0.0
pl -28.84 + 0.00

C = 34 67 InJRIFpaY [Ns]

4000

3000

2000

4000

3000

2000

- - pO

~ 1 nuiz.ob/e+u9 / 25
4256+ 0.0
p1 -30.49 + 0.00

C = 32.80 [psVelatlay [ns]

TVC(cbch) (311,15

T nuzb1oe+u9 / 25
4205+ 0.0
-29.42+ 0.00

C = 33.99 [psTRKpay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,0,0)

A1 nuiz4o0e+U9/ 24
4190+ 0.0
-29.74 + 0.00

C = 33.63 [pslRplay [ns]

TVC(c,b.ch)=(4, 0, 4

-1 nuz bbye+u9 / 25
[ - pO 4224+ 0.0
pl -30.29 + 0.00

C = 33.01 [psielatlay [ns]

TVC(cbch) (4 0,8

- rnuz4y/e+09 /25
4220+ 0.0
-29.33+ 0.00

C = 34.10 [ns/RRflay [ns]

TVC(cbch) (4,0,12

T rnuzzise+09 / 25
4210+ 0.0
-28.76 + 0.00

TP delay [ns]

N =210 77 Tnelahl

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,0,1)

= AT 1 nus.14ze+U9 / 25
[ - Y 4197+ 0.0
pl -29.35+ 0.00

_L |
50 100

C = 34.07 [psVeldplay [ns]

TVC(c,b,ch)= (4 0,5

-1 nug.0uBe+u9 / 25
[ - DU 4218+ 0.0
pL -29.59 + 0.00

1 |
50 100

C = 33.80 [psVEldplay [ns]

TVC(c,b ch) (4 0,9

~ 1 nuig sz29e+u9 / 25
L - pO 4346+ 0.0
'\- pl -29.86 + 0.00

C = 33.49 [psTRKplay [ns]

TVC(C, bch) (4,0,13

Tinus3/e+u9 /25
4199+ 0.0
-27.78 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,0,2)

A~ 1 nuizooze+U9/ 25
[ - PO 4204+ 0.0
| pl -29.82+ 0.00

C = 33.53 [psTElaplay [ns]

TVC(c,b.ch)=( 4, 0, 6

== - pO

-1 nuz bsge+u9 / 25
[ - 4224+ 0.0
pl -30.08 + 0.00

C = 33.24 [psVehitlay [ns]

TVC(c,b,ch)=( 4, 0 10

T rnub1ze+09 / 25
_- - DO 4249+ 0.0
pl -28.16+ 0.00

TP delay [ns]

TVC(cbch) (4,0,14

~1nuizusze+U9 / 25
4197+ 0.0
-28.15+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,0,3

AT 1 nuz.430e+U9 / 25
™ - PO 4200+ 0.0
p1 -29.11 + 0.00

C = 24 36 Ind/RAfaY [ns]

TVC(c,b ch) (4 0,7

- 11U 4p4e+09 / 25
4212+ 0.0
-30.1+ 0.0

C = 33.23 [psTelulay [ns]

TVC(c,b ch) (4, O

AL suuewg 125
4266+ 0.0
-29.39 + 0.00

TP delay [ns]

N =214 N Tnelahl

TVC(C, bch) (4,0,15

T nui y43e+u9 / 25
4181+ 0.0
-27.65+ 0.00

TP delay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4.1,0)

T rnugzoe+U9 / 25
- pO 4166+ 0.0
-30.95+ 0.00

C = 3231 [PS/EML1ay (ns)

TVC(cb.ch)=(4, 1, 4

S ro/e+09 / 25
B pO 4190+ 0.0
p1 -30.11+ 0.00

|
50 100

C = 33.22 [psiphbiay [ns]

TVC(cb,ch)=(4, 1,8

©1nuz.29pe+U9 / 24
- - pO 4224+ 0.0
p1 -29.42 + 0.00

C = 33 99 Ina/RApAY [ns]

TVC(cb.ch)=(4, 1, 12

1z 5se+U9 / 25
= - po 4196+ 0.0
pl -29.09 + 0.00

C = 34.38 [ns/RHEaY [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,1,1)

AT 1 nuzurve+u9 / 25
J po 4165+ 0.0
p1 -30.5+ 0.0

1
50 100

C =32.78 [psfplakiay [ng]

TVC(c,b,ch)= (4 1,5

- 1nug 13ze+u9 / 25
. N pO 4213+ 0.0
p1 -30.08+ 0.00

1 |
50 100

C = 33.25 [psfplakiay [ns]

TVC(c,b,ch)= (4 1,9

-1 nuiz 1bse+u9 / 25
F- - pO 4283+ 0.0
\ p1 -29.34 + 0.00

C = 34 08 IndJRKpaY [ns]

TVC(c,b,ch)=( 4, l 13

- ~ 1 nuiz.o83e+u9 / 25
k- - pO 4199+ 0.0
p1 -29.54+ 0.00

P e V]
50 100

C = 33.86 [psTEldplay [ns]

4000

4000

4000

2000

4000

TVC(cbch) (4,1,2)

3000

2000

K™ 1 nug sose+u9/ 25
- po 4200+ 0.0
p1 -30.89 + 0.00

C =32.37 [PS{BRliay ns]

TVC(cbch) (41,6

3000

2000

T b roe+u9 / 25
4216+ 0.0
-30.2+ 0.0

C = 33.12 [psielatlay [ns]

TVC(C.b,ch)=( 4, 1, 10

T rnuiz.41ze+09 / 25
- - DO 4272+ 0.0
p1 -29.47 + 0.00

3000

C = 33 03 IngVRApAY [ns]

TVC(cbch)=(4, 1, 14

2000

T g, 1zoe+U9 / 25
- - pD 4250+ 0.0
K pl -30.28 + 0.00

3000

P BT, Y]
50 100

C = 33.02 [pstrhaklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,1,3)

T zo0e+u9/ 25
o o pO 4285+ 0.0
= p1 -30.12+ 0.00

C =33.21 [ps{glabiay [ns]

TVC(c,b,ch)= (4 1,7

- -1 nu yo3e+u9 / 25
= - pO 4238+ 0.0
p1 -30.34+ 0.00

C = 32.96 [psTeltlay [ns]

TVC(c,b ch) (4, 1

1)
- nuiz.uzie+u9 / 25
po 4225+ 0.0
p1 -28.41+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 4, 1 15

— T nuiz.prye+u9 /25
= - po 4224+ 0.0
p1 -29.9+ 0.0

C = 33.45 [pslEldplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,2,0)

X~ 1z sose+u9 / 25
- po 4214+ 0.0
pl -29.37+ 0.00

C = 34.05 [psTei§play [ns]

TVC(cb.ch)=(4, 2, 4

- rnug 35ze+09 / 25
- pO 4208+ 0.0
pl -28.98 + 0.00

~ -2/ K1 fnel I’C\iFlay ns

TVC(c.b.ch)=( 4, 2, 8

©1nuz.a4ze+09 / 25
[ - pO 4244+ 0.0
pl -30.34 + 0.00

C = 32.96 [psTellay [ns]

TVC(cbch) (4,212

Tz 1r1e+09 /25
4224+ 0.0
-29.57 + 0.00

C = 33.82 [ns/RRflay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,2,1

A7 1 nuzbyse+u9 / 25
F - po 4222+ 0.0
p1 -29.26 + 0.00

C = 34.17 Ing/Riplay [ns]

TVC(c,b ch) (4 2,5

S rnubr1e+u9 / 25
4210+ 0.0
-27.68 + 0.00

TP delay [ns]

TVC(c,b ch) (4 2,9

~ 1 nuiz 15be+u9 / 25

L. - pO 4383+ 0.0

LS pL 30.37 + 0.00
A -30.37 % 0.

C = 32.93 [psTRKplay [ns]

TVC(cb.ch)=(4, 2, 13

- i 2.29e+09 /25
[ - pO 4219+ 0.0
pl -28.73+ 0.00

TP delay [ns]

A~ — 92 0N Tianln

TVC(cbch) (4,2,2)

IS

4000 -
3000

2000~

po
p1

1 nug Booe+u9 / 25
4262+ 0.0
-30.16 + 0.00

C = 33.15 [psTElaplay [ns]

TVC(cb.ch)=( 4, 2, 6

- 1nuz.4z4e+09 / 25
4216+ 0.0
-28.58 + 0.00

4000 [, - pO

[ o
3000 - -
2000 -
~~ arnn r.ﬂTF: delay [ns]

TVC(cbch) (4,210

4000 [ -

3000

2000~

pO
p1

~ 1z, (uge+U9 / 25
4311+ 0.0
-29.81+ 0.00

C = 33.55 [ns/RKplay [ns]

TVC(cbch) (4,2 14

4000 2,
3000

2000

T 1nuizpr4e+U9 / 25
4210+ 0.0
-28.73+ 0.00

TVC(cbch) (4,2,3)

4000 [, o

3000 -

2000 -

A

po
pl

1 nuz oo e+U9 /25
4253+ 0.0
-28.99+ 0.00

~ — 24 A0 rnnl Ig'?lay [nS]

TVC(c,b,ch)= (4 2,7

2000 -

3000 -

2000 -

pO
pl

-1 nu b3be+u9 / 25
4233+ 0.0
-29.07 + 0.00

© = 24 40 indRgfay [ns]

TVC(c,b,ch)=(4, 2 11

4000 o J

3000

2000 -

pO
p1

- nuiz.zoze+u9 / 25
4248+ 0.0
-29.47 + 0.00

C = 33 93 IndJRKp!aY [ns]

TVC(C, bch) (4,215

4000

3000

2000

T inuizag/e+u9/ 25
4214+ 0.0
-28.99+ 0.00

© = 24 80 InoyRGR1AY [Ns]



TVC(cbch) (4,3,0)

4000 =
=

3000 [~

2000~

X~ 1z sase+U9 / 25
- PO 4179+ 0.0
pl -29.75+ 0.00

C = 33.62 [pstrliblay [ns]

TVC(c.b.ch)=(4, 3, 4

4000

3000~

2000 [~

Tz ge+u9 / 25
- pO 4186+ 0.0
pl -30.08 + 0.00

C = 33.25 [psielatlay [ns]

TVC(cbch) (4 3,8

T rnuz331e+09 / 25
4197+ 0.0
-28.68 + 0.00

=2/ QR rnclglg?lay ns

TVC(cbch) (4,312

4000

3000

2000

Tz szie+09 /25
4229+ 0.0
-30.07 + 0.00

C = 33.25 [psTElaplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,31

AT 1 nuzsy1e+u9 / 25
o J po 4219+ 0.0
p1 -29.58 + 0.00

C = 33.80 [psTRHplay [ns]

TVC(c,b ch) (4 3,5

Cnunzo3e+09 /24
4234+ 0.0
-31.25+ 0.00

C=32. 00 [psrlﬁtalalay [ns]

TVC(c,b ch) (4 3,9

“rna zyre+u9 [ 25
- - pO 4277+ 0.0
- pL -28.28+ 0.00

TP delay [ns]

TVC(C, bch) (4,3,13

T nuizoo3e+u9 / 25
4237+ 0.0
-30.59 + 0.00

C = 32.69 [psirhklay [ns]

4000

2000

4000

4000

3000

2000

4000

TVC(cbch) (4,3,2)

X~ 1wz ryre+U9 /25
[ - PO 4234+ 0.0
pl -30.18+ 0.00

3000

C = 33.14 [psTellay [ns]

TVC(cb.ch)=( 4, 3, 6

2000

-1 nuz boye+u9 / 25
[, - pO 4217+ 0.0
pl -29.72:+ 0.00

3000

C = 33.64 [pslENiplay [ns]

TVC(cbch) (4, 3 10

© 1 nuzpgae+u9 / 25
™. - DO 4279+ 0.0
- pl -29.26 + 0.00

C = 24 17 ina/RigplaY [ns]

TVC(cbch) (4,3 14

3000

2000

Tanug(e+u9 /24
4248+ 0.0
-30.12+ 0.00

C = 33.20 [psTElaplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,3,3

AT nuz,ss/e+U9 / 25
™ - PO 4195+ 0.0
p1 -29.97 + 0.00

1
50 100

C = 33.37 [psTellay [ns]

TVC(c,b ch) (4 3,7

- 1nu.4z1e+09 / 25
4227+ 0.0
-30.7 + 0.0

C = 32.57 [psyelatlay [ns]

TVC(c,b ch) (4, 3

EALER ‘JU4€+U9 125
= - pO 4296+ 0.0
- pl -29.22+ 0.00

TP delay [ns]

N =24 99 Tnelahl

TVC(C, bch) (43,15

T nuiz r45e+U9 / 25
4246+ 0.0
-29.37+ 0.00

C = 34.05 [ngVRplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVO(eb.ch)=(4,4,0)

A1 nuiz ooye+u9/ 25
4182+ 0.0
-28.98 + 0.00

C = 34.51 [nsVR{pay [ns]

TVC(cbch) (4.4,4

- rnug zose+u9 / 25
4210+ 0.0
-29.9+ 0.0

C = 33.44 [nsIRHfaY [ns]

TVC(Cc,b,ch)=(4, 4,8

-~ 1 nuzovae+u9 / 25
[ - pO 4238+ 0.0
pl -30.91:+ 0.00

0

C=32. 36 [psllﬁla]elay [ns]

TVC(cb.ch)=( 4, 4, 12

T nuzpble+u9 / 25
™ - pO 4203+ 0.0
pl -28.89 + 0.00

C = 34.62 [psTRHplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVO(ebeh)=(4,4,1)

A~ 1 nuiz 110e+u9 / 25
™ - PO 4146+ 0.0
pL -28.25+ 0.00

N -2 AN rnc-I;EPC\IFlay [nS]

TVC(cbch) (4,4,5

“nu3.u4e+09 /25
4239+ 0.0
-30.29 + 0.00

C = 33.01 [psTeltlay [ns]

TVC(c,b ch) (4 4,9

-1 nuiz.7uve+u9 / 25
—_-\- - pO 4312+ 0.0
- pl -30.69 + 0.00

1 |
50 100

C = 32.58 [psVelitlay [ns]

TVC(c,b ch) (4,4,13

~inunz.ave+u9 / 25
4212+ 0.0
-30.1+ 0.0

C = 33.22 [psTelplay [ns]

4000

2000

4000

4000

3000

2000

4000

2000

TVO(eb.eh)=(4, 4,2)

X~ 1wz bz4e+U9 [ 25
[ - po 4212+ 0.0
| pl -29.93+ 0.00

3000

C = 33.41 [psTElaplay [ns]

TVC(cb.ch)=( 4, 4, 6

2000

-1z gole+u9 / 25
[ - pO 4239+ 0.0
pl -30.14 + 0.00

3000

C = 33.18 [psVEhitlay [ns]

TVC(C.b,ch)=( 4, 4, 10

“anuz 1/e+09 /25
[ - DO 4257+ 0.0
pl -29.51+ 0.00

C = 33.89 [ns/RRplaY [ns]

TVC(cbch)=(4, 4, 14

T, (Zse+U9 / 25
™ - PD 4215+ 0.0
pl -29.05 + 0.00

3000

C = 34.43 [ns/RRplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,4,3

A7 1 nuiz, (soe+U9 / 25
[ - PO 4205+ 0.0
pL -28.82. 0.00

C = 24 70 Ind/RAfaY [ns]

TVC(c,b,ch)= (4 4,7

- 1nu.48e+09 / 25
[ - PO 4226+ 0.0
pL -29.62:+ 0.00

C = 33.77 Ins/RHflay [ns]

TVC(c,b,ch)=(4, 4

1)
" nuiz rz8e+u9 / 25
= - pO 4266+ 0.0
p1 -30.44 + 0.00

C = 32.86 [psTelplay [ns]

TVC(C, bch) (44,15

T a2z e+u9/ 25
4204+ 0.0
-29.56 + 0.00

C = 33.83 [psTRKpay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=(4,5,0)
T A

~rnuzbule+U9 /25
- - po 4209+ 0.0
p1 -30.02 + 0.00

C = 33.31 [ps¥elaklay [ns]

TVC(c,b,ch)=(4,5, 4

S Inuz4r3e+u9 /25
fees - pO 4195+ 0.0
pl -30.58 + 0.00

|
50 100

C =32.71 [psiphbiay [ns]

TVC(c,b,ch)=(4,5, 8

T rnuzb41e+09 / 25
= - PO 4216+ 0.0
pl -30.77 + 0.00

0

C =32.50 [psplakiay [ns]

TVC(c,b,ch)=( 4,5, 12

T rnuiz4zze+09 / 25
= - PO 42114 0.0
pl -29.54 + 0.00

PR i, Y]
50 100

C = 33.86 [psielplay [ns]

TVC(c,b,ch)=(4,5,1)
T A

4000 (G

3000 -

2000 [~

T zoe+u9 /25
- po 4208+ 0.0
p1 -31.22+ 0.00

C =32.03 [PS{ERLiay ns]

TVC(c,b,ch)=(4, 5,5

4000 F

3000

2000 |-

-1 nug.UB3e+u9 / 25
4242+ 0.0
-30.66 + 0.00

1
100

C=3262 [psfﬁ*alelay [ns]

TVC(c,b,ch)=(4,5,9

4000 F

3000 -

2000 -

Tinuz.zole+u9 /24
= - po 4265+ 0.0
pl -30.62 + 0.00

TVC(c,b,ch)=(4, 5, 13

1 |
50 100

C = 32.66 [psielplay [ns]

4000 F

3000

2000 -

1, (zse+U9 [ 25
4239+ 0.0
-30.77+ 0.00

L\
100

C = 32.50 [psirhklay [ns]

TVC(c,b,ch)=(4, 5, 2
T A

4000 =
3000 |~

2000 |~

“rnuizpr4e+U9 / 25
- - po 4207+ 0.0
[ p1 -30.76 + 0.00

1 1
50 100

C = 32.51 [psfplakiay [ns]

TVC(c,b,ch)=(4, 5, 6

4000
3000 |~

2000

1 2 8se+u9 / 25
- - po 4206+ 0.0
[ pl -30.74 + 0.00

TVC(c,b,ch)=(4,5, 10

e
100

C =32.53 [psplakiay [ns]

4000 2,
3000 |~

2000

1 nuiz.409e+09 / 25
4241+ 0.0
-30.51+ 0.00

1 1
50 100

C = 32.78 [psTehiglay [ns]

TVC(c,b,ch)=( 4, 5, 14

4000 2,
3000~

2000~

T rnuizaye+U9 /24
F- - po 4248+ 0.0
K pl -30.97 + 0.00

PR M V1
50 100

C =32.29 [psiplakiay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=(4, 5, 3)
T A

Tz, z4e+U9 1 25
= - po 4219+ 0.0
p1 -30.48 + 0.00

1
50 100

C = 32.80 [psyplatiay [ns]

TVC(c,b,ch)=(4,5,7

U .a/5e+09 / 25
—_- - po 4299+ 0.0
pl -31.62+ 0.00

C = 31.63 [Ps{BhiLiay ns]

TVC(c,b,ch)=(4,5, 11

1nuz, [o1e+U9 / 25
4270+ 0.0
-30.57 + 0.00

1
100

C = 32.71 [psVEldplay [ns]

TVC(c,b,ch)=( 4, 5, 15

-1 nuiz.yzae+u9 / 25
- - po 4261+ 0.0
p1 -30.4 % 0.0

AV
100

C = 32.89 [psVEldplay [ns]



TVC(cbch) (4,6,0)

4000

3000

2000

K™ 1 nuig 1ove+u9/ 25
4165+ 0.0
-29.36+ 0.00

C = 34.06 [psTei§play [ns]

TVC(c,b.ch)=(4, 6, 4

4000

3000~

2000 [~

- 1nuz.439e+09 / 25
- pO 4198+ 0.0
pl -20.92  0.00

C = 33.42 [pslElplay [ns]

TVC(cbch) (4 6,8

1 nuz.goge+U9 / 25
4243+ 0.0
-29.3+ 0.0

TVC(cbch) (4,6,12

4000

3000

2000

T rnuizpsle+u9 / 25
4251+ 0.0
-30.77 + 0.00

C = 32.50 [pstrhaklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,6,1

— AT 1 nuzgove+u9 / 25
= - po 4196+ 0.0
p1 2911 + 0.00

C = 34.36 [ng/Rplay [ns]

TVC(c,b ch) (4 6,5

-1 nu 140e+09 / 25
4188+ 0.0
-30.28 + 0.00

C = 33.03 [psTeltlay [ns]

TVC(c,b ch) (4 6,9

T
L=

=]

)

T nuzb41e+u9 /25
4258+ 0.0
p1 -28.89+ 0.00

" — 21 R?2 rnc/Elg?Iay [nS]

TVC(c.b.ch)=(4, 6, 13

- - g uyoe+u9 / 25
beee - po 4253+ 0.0
pl -30.55 + 0.00

P e V)
50 100

C = 32.74 [psirhiblay [ns]

4000

2000

4000

2000

4000

3000

2000

4000

TVC(cbch) (4,6,2)

3000

X1 zoe+u9 /25
- po 4191+ 0.0
pl -28.97 + 0.00

C = 24 52 [nJVRIGplY [ns]

TVC(c,b.ch)=( 4, 6, 6

-1 nuz.gsze+u9 / 25
. N pO 4224+ 0.0
[ pl -30.46 + 0.00

3000

C = 32.83 [psfplakiay [ns]

TVC(c,b,ch)=( 4, 6 10

T z.04e+09/ 25
_- - DO 4246+ 0.0
pl -29.85+ 0.00

C = 33.50 [ps/RKpay [ns]

TVC(cbch) (4,6,14

3000

2000

-1 nuizpose+u9 / 25
4243+ 0.0
-31.03+ 0.00

C =32.23 [psiplakiay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,6,3

AT rnuz3r3e+U9 /24
= - po 4211+ 0.0
pl -29.73+ 0.00

C = 33.64 [psTRifplay [ns]

TVC(c,b ch) (4 6,7

S nu 33e+09 / 24
4226+ 0.0
-29.8+ 0.0

C = 33.56 [psleHplay [ns]

TVC(c,b ch) (4, 6

AL sa/e+u9/25
4224+ 0.0
-28.93+ 0.00

TP delay [ns]

N — 214 EQ Tnelahl

TVC(C, bch) (4,6,15

T inuizprze+u9 /25
4260+ 0.0
-31.03+ 0.00

C = 32.23 [pstphatiay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,7,0)

X~ 1z 4z9e+09 [ 25
4 po 4204+ 0.0
pl -29.47 + 0.00

C = 33.94 [pslRHiplay [ns]

TVC(c.b.ch)=(4, 7, 4

-z 384e+09 / 25
- pO 4239+ 0.0
pl -20.75+ 0.00

C = 33.61 [nsVRHfay [ns]

TVC(c,b,ch)=(4, 7,8

“ o zyse+u9 / 25
[ - pO 4236+ 0.0
pl -30.32.+ 0.00

C = 32.98 [pstrlaklay [ns]

TVC(cbch) (4,7,12

Trnuzsyre+u9 /24
4279+ 0.0
-30.3+ 0.0

C = 33.00 [psTBKeay [ns]

TVC(cbch) (4,7,1)
A~ 1 nuiz,buobe+u9 / 24
4000 = - po 4248+ 0.0
p1 -30.27 + 0.00

3000 -

2000 -

1
50 100

C = 33.04 [psTeldplay [ns]

TVC(c,b,ch)= (4 7,5)
-1 nu bzze+u9 / 25
4000 - A po 4263+ 0.0
pl -30.04+ 0.00

3000

2000

C = 33.29 [pslRKplay [ns]

TVC(c,b ch) (47,9)
- gl4e+u9 / 25
4000 -—_\_ - pO 4317+ 0.0
-30.9+ 0.0

3000

2000

1 |
50 100

C = 32.36 [psirlaklay [ns]
TVC(ehoh)=(4, 7,13

T inuizzroe+u9 /25
4000 4268+ 0.0
-30.75+ 0.00

3000

2000

C = 32.52 [psVelatlay [ns]

4000

2000

4000

4000

2000

4000

TVC(cbch) (4,7,2)

X~ 1 iz bave+U9 / 25
[ - po 4254+ 0.0
I pl -29.55 + 0.00

3000

C = 33.84 [ns/RHfay [ns]

TVC(c.b.ch)=(4, 7, 6

2000

-1 nuz8aye+u9 / 25
[ - pO 4272+ 0.0
I pl -30.11 + 0.00

3000

C = 33.21 [pSTRiplay [ns]

TVC(ebeh)=(4, 7, 10

© 1 nuig, 16pe+U9 / 25
-—~ - DO 4318+ 0.0
- pl -30.36 + 0.00

3000

C = 32.94 [psTehiglay [ns]

TVC(cbch)=(4, 7, 14

2000

-1 nuz ypse+u9 / 25
™. - po 4320% 0.0
[ pl -30.53 + 0.00

3000

C = 32.76 [psTRKplay [ns]

TVC(cbch) (4,7,3)
AT 1 nuiz,gove+U9 / 25
4000 - - po 4256+ 0.0
p1 -29.69 + 0.00

3000 -

2000

C = 33.68 [psTeHplay [ns]
TVC(c,b ch) (4 7,7

- gbze+U9 / 25
4000 4293+ 0.0
-30.1% 0.0

3000

2000

C = 33.22 [pslRKplay [ns]

TVC(cbch) (4,7,11)
1000 -1 nuig.yuye+u9 / 25
) - p0 4308+ 0.0
- pl -29.95+ 0.00

3000

2000 -

C = 33.39 IngVRKplay [ns]

TVC(c,b Ch) (4, 7 15)
-1 nuiz.y4ze+u9 / 25
4000 4316+ 0.0
-30.68 + 0.00

3000

2000

C = 32.59 [psTEldplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,8,0)

X~ 1, use+U9 / 25
- PO 4210+ 0.0
pl -30.6 + 0.0

C = 32.68 [psiphakiay [ns]

TVC(cbch) (4,84

-z, r9ge+u9 / 24
= - pO 4345+ 0.0
o pl 31+ 0.0

C = 32.25 [pslENplay [ns]

TVC(c,b,ch)= (4 8,8

-1 nu, (yoe+u9 / 25
[t - pO 4245+ 0.0
pl -30.21+ 0.00

C = 33.10 [psTEldplay [ns]

TVC(cbch) (4,812

~1uzpyse+u9 / 25
4218+ 0.0
-29.17 + 0.00

C = 34.28 [psTRNEaY [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,8,1)

AT 1 nuz534e+U9 / 25
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TVC(c,b,ch)= (5 57)
2000 F -1 nug.uase+u9 / 25
—_- - po 4261+ 0.0
"\ p1 -30.43 + 0.00

3000 -

2000 -

1 ]
50 100

C =32.87 [pstelatlay [ns]
TVC(c,b ch) (5, 5

ERALEVX bbbewg 125

4000
po 4277+ 0.0
p1 -31.11+ 0.00

3000 -

2000 -

-
1 1
50 100

C =32.14 [psyplakiay [ns]

TVC(c,b Ch) (5, 5 15)
T nuizay/e+u9 /25
4000 4235+ 0.0
-29.34+ 0.00

3000

2000

C = 34.08 IndJRKpaY [ns]



4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,6,0)

X~ 1 g so4e+U9 / 25
- PO 4207+ 0.0
-31.34+ 0.00

TP delay [ns]

TVC(c,b.ch)=(5, 6, 4

-1z 6uye+u9 / 25
™ - pO 4208+ 0.0
pl -31.27 + 0.00

C = 31.98 [PS/EL1ay (ng)

TVC(c,b,ch)= (5 6,8

©nuzpgse+u9 / 25
™ - PD 4233+ 0.0
pl -30.34 + 0.00

C = 32.96 [ps¥ehiklay [ns]

TVC(cbch) (5,6, 12

T rnuzzise+u9 / 24
4218+ 0.0
-30.43+ 0.00

C = 32.86 [ps¥elklay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5.6,1)

T nug.33ve+u9 / 25
- PO 4220+ 0.0
pl -31.77 + 0.00

TP delay [ns]

TVC(c,b,ch)= (5 6,5

-1 nug 1bse+u9 / 25
[ - DU 4211+ 0.0
pL -31+ 0.0

C =32.26 [PS/Bliay [ng]

TVC(c,b ch) (5 6,9

- Zb0e+u9 / 25
4225+ 0.0
-30.2+ 0.0

C = 33.11 [psithdelay [ns]

TVC(C, bch) (5.6,13

Tinuizanie+sud /25
4205+ 0.0
-30.19+ 0.00

C = 33.12 [psVeltlay [ns]

4000
3000
2000

1000

4000

2000

4000

4000

3000

TVC(cbch) (5.6,2)

< gl1oe+u9 / 25
- PO 4223+ 0.0
pl -31.89 + 0.00

TP delay [ns]

TVC(c,b.ch)=(5, 6, 6

-1z, 9ape+09 / 25
[ - pO 4213+ 0.0
| pl -30.97 % 0.00

3000

C =32.29 [PSfEhiliay n)

TVC(c,b,ch)=(5, 6 10

2000

©1nuiz,yzge+U9 / 25
= - DO 4263+ 0.0
§ Pl -30.85: 0.00

3000

0

C =32.42 [psiplakiay [ns]

TVC(cbch) (56,14

2000

-1 nuz sove+u9 / 25
4181+ 0.0
-29.65+ 0.00

C = 33.73 [psTellay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (56,3

Tnug.zz1e+U9 /25
- - pO 42451 0.0
p1 -31.64 + 0.00

TP delay [ns]

TVC(c,b,ch)= (5 6,7

-1 nu ggbe+u9 / 24
[ - PO 4226+ 0.0
pL -30.61:+ 0.00

C =32.67 [psyplatiay [ns]

TVC(c,b,ch)=(5, 6

AR ba/e+u9/25
= - pO 4252+ 0.0
pl -30.34+ 0.00

C = 32.96 [psTEldplay [ns]

TVC(C, bch) (5.6, 15

T nuizusze+u9 / 25
4196+ 0.0
-30.29+ 0.00

C = 33.01 [psTelplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (57,0

Tz 3r0e+U9 / 25
= - pO 4190+ 0.0
pl -30.58 + 0.00

C =32.70 [psiphakiay [ns]

TVC(cb.ch)=(5, 7, 4

T rnuzeb/e+u9 / 25
= - pO 42174 0.0
pl -31.16+ 0.00

C =32.09 [ps{Bhiliay ns]

TVC(cbch) (5 7,8

1, rgpe+U9 / 25
4230+ 0.0
-30.35+ 0.00

C = 32.95 [pstprhablay [ns]

TVC(cbch) (57,12

rnun z5e+u9/25
4240+ 0.0
-29.84 + 0.00

C = 33.51 [psTRHplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (57,1

A7 1 nuz,Bube+U9 / 25
= J po 4231+ 0.0
p1 -30.45 + 0.00

|
50 100

C = 32.84 [psielabiay [ns]

TVC(c,b ch) (5 7,5

-1 nu bz4e+09 / 25
4346+ 0.0
-29.35+ 0.00

1
50 100

C = 34.07 [psrphatiay [ns]

TVC(c,b,ch)= (5 7,9

4000

4000

2000

4000

TVC(cbch) (5,7,2)

A7 1 nuigszoe+u9/ 25
- - po 4242+ 0.0
pl -30.75 + 0.00

3000

2000

C = 32.52 [psfplakiay [ns]

TVC(cb.ch)=(5, 7, 6

S a7 1e+09 / 25
.. N pO 4243+ 0.0
pl -30.69 + 0.00

3000

C = 32.58 [psteliblay [ns]

TVC(c,b,ch)=(5, 7 10

-1 nuiz boge+u9 / 25
- pO 4281+ 0.0
p1 -30.71+ 0.00

C = 32.56 [psielplay [ns]

TVC(C, bch) (57,13

T inuz.asze+u9 /25
4262+ 0.0
-30.48 + 0.00

C = 32.81 [psTellay [ns]

-30.49 + 0.00

3000 =

2000~

T 2.38e+u9 /24
_- - DO 4270+ 0.0
p1 -30.49 + 0.

C = 32.79 [psTRHplay [ns]

TVC(cbch)=(5, 7, 14

= PD

4000 [ -
L pl

1 nuizpgoe+U9 / 25
4250+ 0.0
-29.61+ 0.00

3000~

2000~

C = 33.78 [ns/RRplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,7,3

AT 1z, sope+U9 / 25
=3 - po 4210+ 0.0
pl -30.67 + 0.00

1
50 100

C = 32.61 [psirlabiay [ns]

TVC(c,b,ch)= (5 7,7

-1 nug 1bbe+u9 / 25
- - pO 4214+ 0.0
pL -29.65+ 0.00

C = 33.73 [ns/RHflay [ns]

TVC(c,b ch) (5, 7

EREALER ﬁdbeﬂ]g 125
4264 £ 0.0
-30.68 + 0.00

C = 32.60 [psrrlaklay [ns]

TVC(C, bch) (57,15

-1 nuiz.409e+U9 / 25
4240+ 0.0
-29.47 + 0.00

C = 3394 Ind/RIplY Ins]



4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,8,0)

Tnanzoze+u9 /25
4215+ 0.0
-29.32+ 0.00

C = 34.11 [ps/éhgetay [ns]

TVC(c,b.ch)=(5, 8, 4

-z, u3e+u9 / 25
™=, - pO 4190 0.0
pl -20.04  0.00

C = 34.43 [nsIRHfay ns]

TVC(cbch) (5 8,8

1 nuzpose+u9 / 25
4232+ 0.0
-30.18 + 0.00

C = 33.13 [psTelplay [ns]

TVC(c,b,ch)=(5, 8

= - pO

T rnuzsu1e+09 / 25
4258+ 0.0
-29.87 + 0.00

p1

12

C = 33.47 [ns/RRflay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,8, 1

K™ rnuiz4y1e+U9 / 25
ree J po 4191+ 0.0
p1 -29.47 + 0.00

C = 33.93 [psTRHplay [ns]

TVC(c,b,ch)= (5 8,5

-1 nug.ouze+u9 / 25
™. - DU 4192+ 0.0
pL -30.04 + 0.00

1 |
50 100

C = 33.28 [psfplakiay [ns]

TVC(c,b,ch)= (5 8,9

-1 nuizg4ze+u9 / 25
- pO 4276+ 0.0
p1 -30.92 £ 0.00

1 |
50 100

C = 32.34 [psyplatiay [ns]

TVC(C, bch) (5,813

T inuzyize+u9 /25
4276+ 0.0
-30.52+ 0.00

C = 32.76 [psTellay [ns]

4000

2000

4000

4000

3000

2000

4000

2000

TVC(cbch) (5,8,2)

X~ g L rse+U9 /25
s - po 4231+ 0.0
pl -29.53+ 0.00

3000

| 1
50 100

C = 33.87 [psTElaplay [ns]

TVC(c,b.ch)=(5, 8, 6

2000

- rnu5g/e+09 / 25
[ - pO 4227+ 0.0
Pl -20.99+0.00

3000

C = 33.35 [pslBRflay [ns]

TVC(c,b,ch)=(5, 8 10

© 1, r14e+09 / 25
™ - DO 4257+ 0.0
pl -29.86 + 0.00

C = 33.49 [psIRKpay [ns]

TVC(cbch) (5,814

3000

1 nuiz.4u0e+09 / 25
4246+ 0.0
-28.93+ 0.00

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,8,3

R~ 1 nuiobae+u9 / 25
[ - PO 4248+ 0.0
pl -30.55 + 0.00

1
50 100

C = 32.73 [psVelatlay [ns]

TVC(c,b,ch)= (5 8,7

- rnua (oze+U9 / 25
[ - PO 4207+ 0.0
pL -29.24 + 0.00

C = 34.20 [pslRKplay [ns]

TVC(c,b,ch)=(5, 8

=g, 4gbe+u9 125
e - pO 4247+ 0.0
p1 -30.67 + 0.00

C = 32.61 [psVeltlay [ns]

TVC(C, bch) (5,815

T nuizysze+u9 / 25
4260+ 0.0
-29.26 + 0.00

© = 24 18 Ino/RGp1aY [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,9,0)

~rnuzpLoe+U9 / 25
4233+ 0.0
-30.74 + 0.00

100

C = 32.53 [psiphakiay [ns]

TVC(cb.ch)=(5, 9, 4

T 18/e+09 / 25
= - pO 4198+ 0.0
p1 -30.68:+ 0.00

C = 32.60 [psfplakiay [ns]

TVC(c,b,ch)= (5 9,8

©1nuzpsve+u9 / 25
= - pO 4227+ 0.0
pl -29.37 + 0.00

C = 34.05 [ns/RRflay [ns]

TVC(c,b,ch)=( 5, 9 12

T zpse+u9/ 25
== - po 4235+ 0.0
pl -29.79+ 0.00

C = 33.56 [psTElaplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,91

A1 nuiz4n3e+U9 / 25
= - po 4205+ 0.0
p1 -30.55 + 0.00

C = 32.73 [psrplatiay [ns]

TVC(c,b ch) (5 9,5

-1 nu.430e+09 / 25
4287+ 0.0
-31.22+ 0.00

C = 32.03 [psTelulay [ns]

TVC(c,b ch) (5 9,9

-1 nuiz.19se+u9 / 25
4256+ 0.0
-29.2+ 0.0

TP delay [ns]

N =24 24 Tnelahl

TVC(c,b,ch)=(5, 9 13

-1 nuiz.ygye+u9 / 25
- - pO 4276+ 0.0
p1 -30.33+ 0.00

P e V)
50 100

C = 32.97 [psTelplay [ns]

4000

4000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,9,2)

A~ 1 nuzsure+u9/ 25
- - po 4257+ 0.0
p1 -31.36 + 0.00

3000

2000

1 1
50 100

C = 31.89 [psfplakiay [ns]

TVC(cb.ch)=(5, 9, 6

=g, Juse+09 / 25
= - po 4287+ 0.0
pl -31.58 + 0.00

3000

1
100

C=3L 67 [PstBlibiay [ns]

TVC(c,b,ch)=(5, 9 10

T a8 /oe+U9 / 25
- - DO 4235+ 0.0
r pl -28.92+ 0.00

TP delay [ns]

TVC(cbch) (59,14

©1nuz 349e+09 / 25
4217+ 0.0
-28.51+ 0.00

TP Eelay [ns]

A~ — A A7 TanlA

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (59,3

- s, 1zoe+U9 [ 24
- - pO 4286+ 0.0
p1 -31.12:+ 0.00

|
50 100

C =32.13 [pstplabiay [ns]

TVC(c,b,ch)= (5 9,7

- rnu 18e+U9 / 25
- - pO 4258+ 0.0
p1 -31.23+ 0.00

=
100

C=32. 02 [psfBlakiay [ns]

TVC(c,b ch) (5, 9

ERALEVX bb/e+U9/25
4256+ 0.0
-28.8+ 0.0

TP delay [ns]

A -9 TATaA A~

TVC(c,b,ch)=( 5, 9 15

Tinanz.o3e+u9 / 25
= - po 4243+ 0.0
p1 -29.6 + 0.0

C = 33.79 InsVRKplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5.10,0)

~1uz5upe+U9 / 24
4169+ 0.0
-29.68 + 0.00

C = 33.69 [psTelplay [ns]

TVC(c,b.ch)=(5, 10, 4

-1z 580e+u9 / 25
[ - pO 4200 0.0
pl -20.28 + 0.00

C = 34.16 [psTRRpay [ns]

TVC(cbch) (5, 10 8

1 nuzpzge+u9 / 25
4226+ 0.0
-30.48 + 0.00

C = 32.81 [pstrhaktlay [ns]

TVC(c,bch)=(5, 10, 12

~ 1 nuz,yyye+u9 / 25
™ - PO 4264+ 0.0
pl -30.37 + 0.00

PR B Y]
50 100

C = 32.92 [ps¥elklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,10,1)

— AT 1 nu5rye+u9 / 25
pese - po 4194+ 0.0
p1 -29.6 + 0.0

C = 33.79 [pslRHelay [ns]

TVC(c, bch) (5,105

— - nu gz3e+u9 / 25
4213+ 0.0
-29.19+ 0.00

C = 34.26 [pslRKplay [ns]

TVC(c,b ch) (5, 10

- ~ 1 nuiz.r40e+U9 / 25
4246+ 0.0
-30.36 + 0.00

C = 32.94 [psVelitlay [ns]

TVC(e.b.ch)=(5, 10, 13

T inuiz g 5e+u9 / 25
- - pO 4257+ 0.0
p1 -29.96 + 0.00

P B V)
50 100

C = 33.37 [psTEldplay [ns]

TVC(cbch) (5.10,2)

4000 F -1z oyye+u9 / 25
™ - PO 4205+ 0.0
| p1 -29.41% 0.00

3000~

2000~

C = 34.00 [psRHpay [ns]

TVC(cbch) (5.10,6

4000 [,

-1z bzze+u9 / 25
= N pO 4325+ 0.0
- pl -31.88+ 0.00

3000~

2000 -

C = 31.37 [psiphbiay [ns]

TVC(c,b,ch)=(5, 10 10

4000 2,

1 nuiz,ygoe+U9 / 25
= - DO 4274+ 0.0
| pl -31 0.0

3000 |~

2000

0

1 |
50 100

C = 32.26 [psiphakiay [ns]

TVC(cbch) (5.10, 14

4000

3000

2000

C = 33.22 [psTElaplay [ns]

~ 1z, ro5e+U9 / 25
4246+ 0.0
-30.1+ 0.0

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,10,3)

AT 1 nuzps/e+U9 / 25
™ - po 4196+ 0.0
p1 -29.57 + 0.00

1
50 100

C = 33.81 [psVeldplay [ns]

TVC(cb.ch)=(5, 10,7

-1 nuz yane+u9 / 25
[ - PO 42441 0.0
pL -29.69 + 0.00

C = 33.68 [psheHplay [ns]

TVC(cbch) (5, 10 1

- 2 pse+u9 / 25
4246 £ 0.0
-29.73+ 0.00

C = 33.63 [psTRKpay [ns]

TVC(e.b.ch)=(5, 10, 15

-1z ouge+u9 / 25
[ - pO 4205 0.0
pl -29.02 + 0.00

C = 34.45 [psTRKplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,11,0)

AT 1nuiLyrse+u9/25
4149+ 0.0
-28.38 0.00

~ — 2K 921 r.,-ml EFlay ns

TVC(c.b,ch)=(5, 11, 4

-1z, ube+u9 / 25
= - pO 42214 0.0
pl -29.56+ 0.00

C = 33.84 [psleHplay [ns]

TVC(c,b,ch)=(5, 11 8

©rnuiguLle+u9 / 25
= - pO 4254+ 0.0
pl -30.71+ 0.00

0

1 |
50 100

C =32.56 [psiphakiay [ns]

TVC(c,b,ch)=( 5, 11, 12

X~ 1 iz zape+U9 / 25
=, - PO 4206+ 0.0
pl -30.68 + 0.00

C = 32.59 [pstrhatlay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(Cbch) (5,11,1)

A- 1252 (e+U9 ] 25
== - po 4194+ 0.0
pL -28.34+ 0.00

TP delay [ns]

~ _Ar AN T

TVC(c.b,ch)=(5, 11, 5

-1 Uz Buse+u9 / 25
e - pO 4220 0.0
pL -29.87+ 0.00

1 |
50 100

C = 33.48 [psTeltlay [ns]

TVC(c,b,ch)=(5, 11 9

-1 nuz 314e+09 / 25
- - pO 4254+ 0.0
p1 -29.47 + 0.00

C = 33.94 IngIRKplay [ns]

TVC(c.b.ch)=(5, 11, 13

— T b /4e+09 / 25
beee - pO 4232+ 0.0
pl -30.81+ 0.00

C = 32.46 [psfplatiay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

2000

TVC(cbch) (511,2)

© g, szse+U9 / 25
= - pO 4170+ 0.0
pl -27.77 + 0.00

TVC(c.b,ch)=(5, 11, 6

T rnugzr/e+u9 / 25
= - po 4284+ 0.0
I pl -30.88 + 0.00

C = 32.38 [psfplabiay ns]

TVC(c,b,ch)=(5, 11, 10

X7 1 nuizozye+u9 / 25
™ - po 4263+ 0.0
pl -29.51+ 0.00

TVC(cbch) (5.11, 14

3000

Trnuizgr1e+09 /25
4224+ 0.0
-29.78 + 0.00

C = 33.58 [psRpay [ns]
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3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,11, 3)

AT rmuzolre+u9 /25
= - po 4175+ 0.0
p1 -27.61+ 0.00

T_P_d_elay [ns]

TVC(c.b,ch)=(5, 11, 7

- nun 2.8be+09 / 25
> - pO 4262+ 0.0
pL -30.63+ 0.00

C = 32.65 [psTeltlay [ns]

TVC(e.b,ch)=(5, 11, 11

<1 nuiz ozoe+u9 / 25
= - pO 4235+ 0.0
p1 -29.69 + 0.00

C = 33.69 [psTRKpay [ns]

TVC(cbch) (511,15

T nuiznoe+u9 / 25
4211+ 0.0
-29.45+ 0.00

C = 33.96 [psTRKpay [ns]



4000

3000
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4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5.12,0)

Tz z1ye+U9 / 25
™, - PO 41652 0.0
pl -29.19+ 0.00

C = 34.25 [psTRHpay [ns]

TVC(cb.ch)=(5, 12, 4

- rnuzBl1e+u9 / 25
™ - pO 4225+ 0.0
pl -30.93 + 0.00

100

C=32 33 [psrlglalalay [ns]

TVC(c,b,ch)=(5, 12 8

T i z.49e+09 / 25
[ - pD 4202+ 0.0
pl -30.47 + 0.00

C = 32.82 [pstrhaktlay [ns]

TVC(c.bch)=(5, 12, 12

~ 1z suse+u9 / 25
- - PO 4247+ 0.0
- pl -30.3 + 0.0

PR B
50 100

C = 33.00 [psv¥elklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000
o=

3000

2000

TVC(cbch) (5,12,1)

A 2.0 1ev09 125
= - Y 4223+ 0.0
pl -30+ 0.0

1
50 100

C = 33.33 [psTeldplay [ns]

TVC(cbch) (5,125

-1 U UBBe+U9 / 25
4242+ 0.0
-30.68 + 0.00

1 1
50 100

C = 32.59 [psfplakiay [ns]

TVC(c,b ch) (512,9

-1 nuiz gyae+u9 / 25
4230+ 0.0
-30.69 + 0.00

1 |
50 100

C = 32.59 [psyplatiay [ns]

TVC(e.b.ch)=(5, 12, 13

T nuizy1ve+u9 / 25
- pO 4217+ 0.0
p1 -29.79+ 0.00

P B V]
50 100

C = 33.57 [psTEldplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000
feee

3000

2000

TVC(cbch) (5.12,2)

T bize+U9 /25
=, - DO 4181+ 0.0
pl -28.47 + 0.00

TVC(cb.ch)=(5, 12, 6

T rnunz2.bye+u9 /24
[ - pO 4228+ 0.0
K -30.58+ 0.00

C =32.71 [pstelaklay [ns]

TVC(c,b,ch)=(5, 12 10

C = 33.23 [psTElaplay [ns]

TVC(cbch) (5.12, 14

T rnuiz4z1e+09 / 25
- DO 4222+ 0.0
pl -30.09 + 0.00

C = 33.46 [psTElaplay [ns]

-1z, ro8e+U9 / 25
4216+ 0.0
-29.88+ 0.00

4000

3000

2000

4000

3000

2000

4000
bees

3000

2000

4000
s

3000

2000

TVC(cbch) (5,12,3)

AT 1 nuz,so3e+U9 / 25
™. - PO 4187+ 0.0
p1 -29.96 + 0.00

1
50 100

C = 33.38 [psTelplay [ns]

TVC(cb.ch)=(5, 12, 7

-1 nu glae+u9 / 25
[ - PO 4238+ 0.0
pL -30.96 + 0.00

] ol
50 100

C =32.30 [psfplakiay [ns]

TVC(eb,ch)=( 5, 12, 11

-1 nuiL ygae+u9 / 25
- pO 4209+ 0.0
p1 -29.85+ 0.00

C = 33.50 [ps/RKpay [ns]

TVC(e.b.ch)=(5, 12, 15

T g5 /oe+u9 / 25
- PO 4219+ 0.0
pl -29.8+ 0.0

C = 33.56 [psTRKplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5.13,0)

Tnunzyve+u9 /25
B pO 4300 0.0
pl -31.17 + 0.00

C = 32.08 [psiphakiay [ns]

TVC(cb.ch)=(5, 13, 4

- rnuz B3ve+u9 / 25
- pO 4217+ 0.0
pl -20.93 + 0.00

1 1
50 100

C = 33.41 [pstelablay [ns]

TVC(c,b,ch)=(5, 13 8

1 nuiz.9use+U9 / 25
- PD 4280+ 0.0
pl -28.47 + 0.00

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,13,1)

A7 nuig,343e+U9 / 25
N po 4324+ 0.0
- pl -31.21# 0.00

|
50 100

C = 32.04 [pstphatiay [ns]

TVC(cb.ch)=(5, 13, 5

- U 203e+u9 / 25
- DU 4230+ 0.0
pL -29.99 + 0.00

1 |
50 100

C = 33.34 [psTeltlay [ns]

TVC(c,b ch) (5, 13

~ 1 nuz 334e+09 / 25
4279+ 0.0
-29.96 + 0.00

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5.13,2)

~ g, (ose+U9 / 25
. - PO 4306+ 0.0
I pl -31.66 + 0.00

| 1
50 100

C = 31.58 [psfplakiay [ns]

TVC(cb.ch)=(5, 13, 6

-1 nuzyu1e+u9 / 25
= - pO 4264+ 0.0
I pl -31.37 + 0.00

|
100

C=31L 88 [psrlﬁlalelay [ns]

TVC(c,b,ch)=(5, 13 10

1 nuz5uge+U9 / 25
= - DO 4318+ 0.0
F pl -29.67 + 0.00

== - pO

p1

TP delay [ns]

TVC(c.bch)=(5, 13, 12

~ 11uiz,pobe+u9 / 25
4253+ 0.0
-29.62+ 0.00

C = 33.76 [ns/RRflay [ns]

C = 33.38 IngVRKplay [ns]

TVC(cbch) (513,13

4000 (G

3000 -

2000 -

pO
p1

T na3.uve+u9 / 25
4253+ 0.0
-29.52+ 0.00

C = 33.87 InsJRplay [ns]

TP delay

N — 22 7N Thnelahl

TVC(cbch) (5.13, 14

4000

[ns]

1z, r9ve+U9 / 25
4245+ 0.0
-29.63+ 0.00

3000

2000

C = 33.75 [psTRIplay

[ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,13,3)

Tonun 3.3e+09 /25
I e - PO 4327+ 0.0
pl -30.61+ 0.00

1
50 100

C = 32.67 [psVeldplay [ns]

TVC(cb.ch)=(5, 13, 7

- rnuyrge+u9 / 25
- B PO 4281+ 0.0
pL 3111+ 0.00

100

C=32. 14 [pSfﬁ*ahay Ins]

TVC(cbch) (5, 13 1

-1 nuiz sbae+u9 / 25
4382+ 0.0
-30.19 + 0.00

TP delay

A —N"N AN Tl

TVC(cbch) (513,15

[ns]

T inuiz 13e+u9 / 25
4215+ 0.0
-29.47 + 0.00

C = 33.93 Ins/REFaY

[ns]



TVC(cbch) (5,14,0)

4000

3000~

2000 =

- pO

T rnuizguze+U9 / 24
4259+ 0.0
-30.6+ 0.0

pl

C = 32.68 [pstrliblay [ns]

TVC(cb.ch)=(5, 14, 4

4000 e

3000~

2000 [~

- po
pl

-1 nuz, 748e+09 / 25
4247+ 0.0
-30.28 + 0.00

C = 33.02 [psTBlplay [ns]

TVC(cbch) (5, 14 8

4000 =

1 nuz goge+U9 / 25
4186+ 0.0
-29.53 + 0.00

C = 33.87 [psTRHplay [ns]

TVC(c.bch)=(5, 14, 12

4000 jam - po

T g zyze+09 / 25
4307+ 0.0
-30.98 + 0.00

3000

2000~

C =32.28 [psiphakiay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,14,1)

A

P o PO
p1

1 nu pyse+u9 / 25
4243+ 0.0
-29.96 + 0.00

C = 33.38 [psTRHplay [ns]

TVC(cb.ch)=(5, 14, 5

e - pO

p1

“nuag /74e+09 / 25
4265+ 0.0
-31.14+ 0.00

1
50

C =32.12 [pstphatiay [ns]

TVC(c,b,ch)=(5, 14 9

= - pO

pl

~ 1 nuiz.p3ve+u9 / 25
4250+ 0.0
-29.25+ 0.00

© = 24 18 Ina/RiGF1aY [ns]

TVC(cbch) (5.14,13

pO
p1

T inuisz14e+U9 / 25
4303+ 0.0
-30.2+ 0.0

-
50

P Y]
100

C = 33.11 [ps/dhdelay [ns]

4000

2000

4000

4000

3000

4000

3000

o po

p1

TVC(cbch) (5,14,2)

©1nuzgooe+U9 / 25
4234+ 0.0
-29.44 + 0.00

C = 33.97 [psiEiplay [ns]

= - po
3000

2000

pl

TVC(c.b.ch)=(5, 14, 6

T rnug, r35e+09 / 25
4252+ 0.0
-29.97 + 0.00

C = 33.37 [pslENiplay [ns]

= - pO

2000

pl

TVC(c,b,ch)=(5, 14 10

T rnuz35ze+09 / 25
4225+ 0.0
-29.11+ 0.00

~ — 2/ 2R rncl lg'?lay nS

= - pD
3000

2000

pl

TVC(c.b.ch)=(5, 14, 14

~ 1z ysze+U9 / 25
4289+ 0.0
-30.43+ 0.00

C = 32.86 [psTElaplay [ns]

TVC(cbch) (5,14,3)

4000 [

3000 -

2000

A

po
pl

1 z34e+09 | 25
4221+ 0.0
-29.4 + 0.0

= 24 01 incVRgflay [ns]

TVC(c, bch) (5,14, 7

4000 e

3000 =

2000 -

pO
pl

-1 nuz yzee+u9 / 25
4291+ 0.0
-30.21+ 0.00

C =33.10 [pslRHplay [ns]

TVC(cbch) (5 14,11

4000 F
=

3000

2000 -

pO
pl

T nuzgg/e+u9 / 25
4251+ 0.0
-28.92+ 0.00

~ — 221 K7 rnc/relg?lay [nS]

TVC(cbch) (5,14, 15

4000

3000 -

2000 =

pO
p1

T nuiz 1z0e+u9 / 25
4234+ 0.0
-30.2+ 0.0

C = 33.11 [ps/chgelay [ns]



TVC(cbch) (5.15,0)

4000

3000

2000

T rnugun1e+U9 /24
4226+ 0.0
-31.21+ 0.00

C =32.04 [PS{Ehliay ns]

TVC(c,b.ch)=(5, 15, 4

4000

3000~

2000 [~

-z, r9ze+u9 / 25
- pO 4209+ 0.0
pl -30.05  0.00

C = 33.28 [psrelatlay [ns]

TVC(cbch) (5, 15 8

© iz, r30e+09 / 25
4227+ 0.0
-30.38 + 0.00

C = 32.92 [ps¥ehiklay [ns]

TVC(c,bch)=(5, 15, 12

4000 =

3000 -

2000 [~

T yzze+U9 / 25
=, - PO 4239+ 0.0
pl -29.06 + 0.00

C =24 41 indRERRY [

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(chh) (5,15,1)

AT 1 nus.1o4e+U9 / 25
- po 4200+ 0.0
pl -30.28 + 0.00

|
50 100

C =33.02 [psflabiay [ns]

TVC(cbch) (5,155

-1 nu blae+u9 / 25
4212+ 0.0
-30.13+ 0.00

C = 33.19 [psVehitlay [ns]

TVC(c,b,ch)=(5, 15

~inu rz1e+u9 /25
= - pO 4259+ 0.0
p1 -31.29 + 0.00

C =31. 96 [pSfﬁfahay [ns]

TVC(e.b.ch)=(5, 15, 13

T 1 nuig sbbe+u9 / 25
- - pO 4258+ 0.0
- pl -30.15+ 0.00

P el Y]
50 100

C = 33.17 [psVeltlay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5.15,2)

© g, 14e+09 / 25
- - pO 4227+ 0.0
pl -30.55 + 0.00

| |
50 100

C =32.73 [psfplakiay [ns]

TVC(c.b.ch)=(5, 15, 6

-1 nuz,y8ye+u9 / 25
[ - pO 4222+ 0.0
[ pl -30.55:+ 0.00

C = 32.73 [psfplabiay ns]

TVC(c,b.ch)=(5, 15, 10

C = 32.42 [pstrhaklay [ns]

TVC(c.b.ch)=(5, 15, 14

T 1nuig,144e+09 / 25
F-.. - pD 4262+ 0.0
[ p1 -31.4+ 0.0

~ a2, pgbe+U9 / 25
- DO 4258+ 0.0
pl -30.85+ 0.00

C =31.84 [PS{Bhliay n]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,15,3)

AT 1z saoe+u9 / 25
= - po 4226+ 0.0
pl -30.23+ 0.00

1
50 100

C = 33.07 [psTellay [ns]

TVC(cb.ch)=(5, 15, 7

- rnug 31e+09 / 25
™ - PO 4250+ 0.0
pL -30.27 + 0.00

C = 33.04 [psVehitlay [ns]

TVC(c,b,ch)=(5, 15 1

-1 nuiz.yuze+u9 / 25
= - pO 4262+ 0.0
pl -30.37 + 0.00

C = 32.93 [psTelplay [ns]

TVC(c.b.ch)=(5, 15, 15

T nar 2. yoe+u9 / 25
= - pO 4258+ 0.0
A pL -29.7 + 0.0

C = 33.67 [psTRKplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

0

TVC(cbch) (6,0,0)

X~ 1z 5sse+U9 / 25
N PO 4140+ 0.0
pl -28.4% 0.0

C = 35 21 IngJRAfRY [NS]

TVC(cbch) (6,0,4

“rnan Z.ge+u9 /25
4178+ 0.0
-28.48 + 0.00

TVC(c,b,ch)= (6 0,8

© a2y rge+U9 / 25
- PD 4190+ 0.0
-30+ 0.0

1 |
50 100

C = 33.34 [psiphakiay [ns]

TVC(c.b.ch)=(6, 0, 12

Tz pbre+u9 / 25
- PO 4200+ 0.0
pl -29.31+ 0.00

C = 34.12 [psTRHplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,0,1)

X183 (e+09 ] 25
- po 4166 + 0.0
pL -29.59+ 0.00

|
50 100

C = 33.80 [psVelatlay [ns]

TVC(c,b,ch)= (6 0,5

-1 nuz.ysle+u9 / 25
- po 4168+ 0.0
pL -27.63+ 0.00

C = 36.19 [psTeltlay [ns]

TVC(c,b,ch)= (6 0,9

-1 nui 7bge+u9 / 25
. - pO 4213+ 0.0
p1 -30.77 + 0.00

C=32. 50 [pSfﬁfahay [ns]

TVC(C, bch) (6,0,13

Tinug rz1e+u9 /25
4211+ 0.0
-29.94+ 0.00

C = 33.40 [psTeluplay [ns]

TVC(cbch) (6,0,2)

4000 2
3000~

2000~

X~ 1z ysie+u9 /25
- PO 4179+ 0.0
pl -29.1% 0.0

C = 34.36 [psTBHEplay [ns]

TVC(cbch) (60,6

4000
3000

2000

- Bo3e+u9 / 25
4222+ 0.0
-30.1+ 0.0

C = 33.22 [psielatlay [ns]

TVC(c,b,ch)=(6, 0 10

4000 2

3000~

2000~

T rnuzas/e+u9 / 25
[ e - DO 4221+ 0.0
| pl -30.25+ 0.00

C = 33.06 [psTellay [ns]

TVC(cb.ch)=(6, 0, 14

4000
3000~

2000~

T, (3oe+U9 / 25
[ e - PD 4203+ 0.0
pl -29.32+ 0.00

C = 34.10 [psTRiplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,0,3)

AT 1 nuzBule+U9 / 25
- PO 4183+ 0.0
p1 -29.56 + 0.00

|
50 100

C = 33.83 [psTelplay [ns]

TVC(c,b,ch)= (6 0,7

- rnugroe+u9 / 25
- PO 4207+ 0.0
pL -28.74 + 0.00

C = 34.80 [ns/RHflay [ns]

TVC(c,b ch) (6, O

T M/e+u9 125
4228+ 0.0
-30.19 + 0.00

C = 33.12 [psTEldplay [ns]

TVC(C, bch) (6,0,15

T inaiz./r0e+u9 /25
4227+ 0.0
-30.07 + 0.00

C = 33.25 [psTelplay [ns]



4000
-

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,1,0)

X~ 1wz 5sye+U9 / 25
- PO 4163 0.0
pl -30.44 + 0.00

C = 32.86 [PS{Ehil ay [ng]

TVC(cb.ch)=(6, 1, 4

T rnuze8/e+u9 / 25
- pO 4180 0.0
pl -28.66 + 0.00

TVC(c,b,ch)= (6 1,8

Tz 31ze+09 / 25
™ - PD 4200+ 0.0
pl -29.33+ 0.00

C = 24 00 [n<VRIplY [ns]

TVC(cbch) (61,12

T, (32e+09 / 25
4201+ 0.0
-29.81+ 0.00

C = 33.55 [psielplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,1,1)

AT 1 nuiz, r9oe+u9 / 25
- po 4204+ 0.0
p1 -31.43+ 0.00

—L
C=31.82 [ps/ghl,. g

TVC(c,b ch) (6 1,5

-1 nuiLBuse+u8 / 25

B o pO 4008+ 0.0
-

p1 29.9+ 0.0

C = 33.45 [psVehitlay [ns]

TVC(c,b,ch)= (6 1,9

Tinuz.zu/e+u9 /24
™ - DO 4256+ 0.0
pl -29.61+ 0.00

~ = 23 77 Inc/RiGR1aY [ns]

TVC(cb.ch)=(6, 1, 13

Tinug r31e+U9 /25
- - pO 4180+ 0.0
p1 -29.29+ 0.00

P e V]
50 100

C = 34.14 [psTEldplay [ns]

4000

4000

2000

4000

3000

2000

4000

TVC(cbch) (6,1,2)

3000

2000

X~ 1w uLoe+U9 / 25
- PO 4226+ 0.0
pl -31.59 + 0.00

TVC(c,b,ch)= (6 1,6

-1 nuig,0z4e+09 / 25
[ - pO 4219+ 0.0
X pl -30.14 + 0.00

3000

1 |
50 100

C = 33.18 [pstelablay [ns]

TVC(c,b,ch)=(6, 1 10

© 1, (zoe+U9 / 25
_- - DO 4264+ 0.0
pl -29.81+ 0.00

C = 33.54 [psIRpay [ns]

TVC(cbch)=(6, 1, 14

2000

T, (goe+u9 / 25
™ - PD 4206+ 0.0
| pl -29.37:+ 0.00

3000

C = 34.04 [psTRKpay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000
e

3000

2000

TVC(cbch) (61,3

T nuig,1/oe+u9 / 25
[ - PO 4233+ 0.0
p1 -31.45+ 0.00

L
C=3179 [ps/ghl,. g

TVC(c,b,ch)= (6 1,7

-1 nu ygze+u9 / 25
[ - PO 4192+ 0.0
pL -28.17 + 0.00

C = 35.50 [ns/RHfay [ns]

TVC(c,b ch) (6, l

T, 44ue+u9 125
4238+ 0.0
-29.66 + 0.00

C = 33.72 InsyRKplay [ns]

TVC(cbch) (6,1,15

-1 nuiz.ozye+u9 / 25
4194+ 0.0
-29.76 + 0.00

C = 33.61 [psTelplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,2,0)

X~ 1w usse+u9 / 25
4 po 4224+ 0.0
pl -31.54 + 0.00

CcC=31.71 [pS{B'}LW [ns]

TVC(cb.ch)=(6, 2, 4

S a2z 6e+u9 /25
= - pO 42471 0.0
pl -30.56 + 0.00

C = 32.72 [psTehiplay [ns]

TVC(c,b,ch)= (6 2,8

~1nuzplye+u9 / 25
™ - PD 4215+ 0.0
pl -29.27 + 0.00

C = 34.16 [ns/RRflay [ns]

TVC(cbch) (6,2, 12

~ 1z, r9oe+U9 / 25
4224+ 0.0
-29.33+ 0.00

C = 3410 In/RIFplaY [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,2,1)

A7 1 nuz,Bube+U9 / 25
J po 4228+ 0.0
p1 -30.47 + 0.00

1
50 100

C = 32.82 [psVeltlay [ns]

TVC(c,b ch) (6 2,5

-1 nug.U3Ye+u9 / 25
4228+ 0.0
-30.13+ 0.00

C = 33.18 [psTelatlay [ns]

TVC(c,b,ch)= (6 2,9

-1 nuizg4ze+u9 / 25
- - pO 4294+ 0.0
p1 -31.27 + 0.00

1 |
50 100

C = 31.98 [psyplatiay [ns]

TVC(cb.ch)=(6, 2, 13

T rnug.zo1e+u9 / 25
[ - pO 4293+ 0.0
- pl -30.9 + 0.0

P e V]
50 100

C = 32.36 [psirhklay [ns]

4000

2000

4000

4000

2000

4000

2000

TVC(cbch) (6,2,2)

3000

X~ 1z ruse+U9 / 24
- PO 4225+ 0.0
pl -29.87 + 0.00

C = 33.48 [psiEiplay [ns]

TVC(c,b.ch)=( 6, 2, 6

2000

S rnug, ro1e+09 / 25
[ - pO 4250+ 0.0
i pl -30.14 + 0.00

3000

C = 33.18 [pslENiplay [ns]

TVC(c,b,ch)=(6, 2 10

“1nuz4u/7e+09 / 25
=, - pO 4278+ 0.0
I pl -29.32+ 0.00

3000

C = 34.11 [ps/chielay [ns]

TVC(cb.ch)=(6, 2, 14

T nug s3oe+U9 / 24
™= - PD 4256+ 0.0
pl -29.83+ 0.00

3000

C = 33.52 [psTRplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,2,3

AT 1nuig, [ 1se+U9 / 25
"=, - po 4224+ 0.0
p1 -30.72+ 0.00

1
50 100

C = 32.55 [psyplatiay [ns]

TVC(c,b ch) (6 2,7

“nuag frze+u9 /25
4251+ 0.0
-30.3+ 0.0

C = 33.00 [psTellay [ns]

TVC(c,b,ch)=(6, 2

ERALEVX bUbe+U9 124
=, - p0 4290+ 0.0
pl -31.12 + 0.00

C = 32.14 [psVelitlay [ns]

TVC(C, bch) (62,15

1 nuiz.ozze+u9 / 25
4244+ 0.0
-29.98 + 0.00

C = 33.35 [psTRKplay [ns]



TVC(c,b,ch)=(6,3,0) TVC(c,b,ch)=(6,3,1) TVC(c,b,ch)=(6, 3, 2) TVC(c,b,ch)=(6, 3, 3)
T ‘ T A T . T *

Tz sz4e+U9 / 25 Tz, ryze+u9 / 25 ~1nuz,pou4e+U9 / 24 T nuzgo/e+u9 / 25
000g - PO 4192+ 0.0 w00g - po 4204+ 0.0 4000 _= - po 4223+ 0.0 4000 P - po 4237+ 0.0
pl -30.54 + 0.00 pl -30.97 + 0.00 [ pl -30.97 £ 0.00 pl -30.07 + 0.00
3000 B 3000 [ B 3000 — 1 3000 [ b
2000 4 2000 f- - 2000 — n 2000 [ 7
I_ - L 1 - 1 I_ =] 1 -
50 100 50 100 50 100 50 100
C = 32.75 [psfglabiay [ns] C =32.28 [PS{ERLiay ns] C =32.29 [psfplakiay ns] C = 33.26 [psTellay [ns]
TVC(c,b,ch)=(6, 3, 4) TVC(c,b,ch)=(6, 3,5) TVC(c,b,ch)=(6, 3, 6) TVC(c,b,ch)=(6, 3, 7)
T X~ 1 1uig.0u4e+u9 / 25 T X~ 1 nuzpl1e+u9 / 25 T X~ 1wz, 7z24e+09 / 25 T X~ 1 nuz46/e+09 /25
4000 - po 4236+ 0.0 4000, - po 4229+ 0.0 4000 (e - po 4253+ 0.0 4000 e - po 4244+ 0.0
pl -31.24 + 0.00 pl -30.55 + 0.00 \ pl -29.94+ 0.00 pl -30.11 + 0.00
3000~ 7 3000 [ B 3000 — B 3000 [ -
2000 - 7 2000 [ B 2000~ 1 2000 [ N
1 K Nl 1 - 1 b o
C =32 05](1 [ 100 50 100 50 100 100
= 32.01 [PS{Blil ay sy C =32.74 [pstrhiblay [ns] C = 33.40 [psVehplay [ns] C = 33.21 [psTREplay [ns]
TVC(c,b,ch)=( 6, 3, 8) TVC(c,b,ch)=(6, 3,9) TVC(c,b,ch)=( 6, 3, 10 ) TVC(c,b,ch)=(6, 3, 11)
T X~ 1z 318e+09 / 25 T X~ 1 nuzb43e+U9 / 25 T X~ 1 iz Zoge+u9 / 25 T X~ 1 nuzugle+u9 / 25
4000 = - po 4227+ 0.0 4000 % - po 4262+ 0.0 4000 4264+ 0.0 4000 e - po 42331 0.0
pl -30.37+ 0.00 pl -29.79+ 0.00 -30.08+ 0.00 pl -30.05+ 0.00
3000~ 7 3000 [ B 3000 - 3000 [ 4
2000~ E 2000 B 2000 E 2000 R
Wl e Wt T
0 100 100 100
C = 32.93 [psTelflay [ns] C = 33.56 [ns/RAFY [ns] C = 33.25 [ns/RAFY [ns] C = 33.28 [psTRRFlay [ns]
TVC(c,b,ch)=(6, 3, 12) TVC(c,b,ch)=(6, 3, 13) TVC(c,b,ch)=(6, 3, 14) TVC(c,b,ch)=(6, 3, 15)
T AT zzye+u9 / 25 - T A™ 1 muz z0re+u9 [ 25 — T X~ 1z goze+U9 [ 25 = T A~ 1z gbe+u9 / 25
e - po 4221+ 0.0 4000 4213+ 0.0 4000 ™. - po 4261+ 0.0 4000 4258+ 0.0
pl -30.07 + 0.00 -29.59+ 0.00 | \ pl -30.54 + 0.00 -30.52:+ 0.00
3000 [~ 4 3000 - 3000~ B 3000 [ —
2000 - 2000 i 2000 - - 2000 | 4
i N 1 N ] N
100 50 100 100

C = 33.26 [psTRiplay [ns] C = 33.79 [nsVRKelay [ns] C = 32.74 [ps¥elklay [ns] C = 32.76 [psVelitlay [ns]



TVC(cbch) (6,4,0)

4000 [

3000~

2000~

X~ 1z ysse+u9 / 25
- po 4204+ 0.0
pl -29.89 + 0.00

| 1
50 100

C = 33.45 [psyerliblay [ns]

TVC(cbch) (64,4

4000

3000

2000

- 1z, 408e+09 / 25
4178+ 0.0
-28.5+ 0.0

~ - 28 NQ fnelEl’c\iFlay ns

TVC(cbch) (6 4,8

4000 =

T a5z e+09 / 25
4192+ 0.0
-29.96 + 0.00

C = 33.38 [psTelplay [ns]

TVC(c.b.ch)=(6, 4, 12

4000 [ -

3000 -

2000 =

Tz 193e+u9 / 25
pO 4202+ 0.0
pl -28.08 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,4,1

AT nuzsz3e+U9 / 25
= - po 4198+ 0.0
p1 -29.77 + 0.00

|
50 100

C = 33.59 [psVelatlay [ns]

TVC(c,b,ch)= (6 4,5

- 1 nuz.500e+u9 / 25
peee - po 4176+ 0.0
pl -28.68 + 0.00

C = 34.87 [psiRHiplay [ns]

TVC(c,b,ch)= (6 4,9

~ a2 148e+U9 / 25
= - pO 4213+ 0.0
p1 -29.72+ 0.00

C = 33.64 [psIRKpay [ns]

TVC(c.b.ch)=(6, 4, 13

T rug.ulre+u9 /25
e - pO 4237+ 0.0
pl -28.37 + 0.00

© = 28 95 Ina/RGR1aY [ns]

TVC(cbch) (6,4,2)

4000 [,
3000 |~

2000~

A7 1 nusu4se+09/ 25
== - po 4217+ 0.0
pl -30.37 + 0.00

C =32.93 [psiplakiay [ns]

TVC(c,b.ch)=( 6, 4, 6

4000 [,
3000~

2000

T rnug r51e+09 / 25
- N pO 4197+ 0.0
pl -29.64+ 0.00

C = 33.74 [psVElaplay [ns]

TVC(c,b,ch)=(6, 4 10

4000
3000

2000~

Tz ff(e+09 /25
- - DO 4268+ 0.0
pl -29.03 + 0.00

=22 A rncl lg'?lay nS

TVC(cb.ch)=(6, 4, 14

3000~

2000 =

Tnus3e+u9 /25
4000 - pD 4246+ 0.0
i pl -28.19 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (64,3

T rug.usLe+u9 / 25
=3 - pO 4216+ 0.0
pl -29.69 + 0.00

|
50 100

C = 33.68 [psTelplay [ns]

TVC(c,b,ch)= (6 4,7

“rnubr1e+u9 /25
™ - PO 4205+ 0.0
pL -29.29 + 0.00

C = 34.14 InsyRKpaY [ns]

TVC(c,b ch) (6, 4

T zyze+u9 125
4219+ 0.0
-28.38 + 0.00

TP delay [ns]

TVC(C, bch) (64,15

T nuiz 105e+u9 / 25
4207+ 0.0
-29.13+ 0.00

~ =22/ 2° fnc-I;EPg?lay [nS]



TVC(cbch) (6,50)

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

AT 1nug s41e+09/25
4196+ 0.0
-30.11 + 0.00

C = 33.21 [psTelplay [ns]

TVC(cbch) (65,4

S rnan z.4e+09 /25
4193+ 0.0
-28.8+ 0.0

~ =21 72 fnel I’C\iFlay ns

TVC(c,b,ch)= (6 5,8

- nuzy1ge+u9 / 25
™ - pO 4224+ 0.0
pl -29.87 + 0.00

C = 33.48 [psTEldplay [ns]

TVC(cbch) (65,12

Tz 53se+U9 / 25
4213+ 0.0
-29.86 + 0.00

C = 33.49 [psTRHplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,51)

A1zl e+U9 ] 25
- po 4211+ 0.0
pL -29.88+ 0.00

1
50 100

C = 33.46 [psTeldplay [ns]

TVC(c,b ch) (6 55

=1 nu bu4e+u9 / 25
4190+ 0.0
-28.48 + 0.00

~ - 92219 rnr:I;Pl«g'lelay [nS]

TVC(c,b,ch)= (6 59

~ 1 nuiz.z3ae+u9 / 25
== - pO 4206+ 0.0
p1 -29.78 + 0.00

C = 33.58 [ps/RKplay [ns]

TVC(C, bch) (6,5,13

Tinuzziae+u9 /24
4247+ 0.0
-30.58 + 0.00

C = 32.70 [psTEldplay [ns]

TVC(cbch) (6,5,2

4000

2000

3000

4000

4000

2000

4000

2000

X~ 1z yLre+U9 /25
- po 4240+ 0.0
pl -30.56 + 0.00

C =32.72 [pstrhiblay [ns]

TVC(cbch) (6,56

3000

2000

S rnun z.0oe+u9 /25
4181+ 0.0
-28.61+ 0.00

— — 214 08 rr\n-rlplg'lelay [ns]

TVC(c,b,ch)=(6, 5 10

“rnuzyyse+u9 / 25
™ - DO 4263+ 0.0
pl -20.73 + 0.00

3000

C = 33.64 [psIRKpay [ns]

TVC(cbch) (6,5,14

3000

T nuizp3se+u9 / 25
4221+ 0.0
-29.42+ 0.00

C = 33.99 [ns/RRplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,5,3

AT 1 nuz,$o3e+U9 / 25
M - PO 4207+ 0.0
pL -29.25 + 0.00

C = 24 19 Ind/RAfaY [ns]

TVC(c,b,ch)= (6 57

-1 nu.4yze+u9 / 25
[ - PO 4210+ 0.0
pL -29.55+ 0.00

C = 33.84 [psRHiplay [ns]

TVC(c,b,ch)=(6, 5

T zzbe+u9 125
= - pO 4238+ 0.0
p1 -29.94 + 0.00

C = 33.40 InsyRKplay [ns]

TVC(c.b.ch)=(6, 5, 15

T g zose+u9 / 25
™ - pO 4264+ 0.0
pl -29.92 + 0.00

R B rary
50 100

C = 33.42 [psTellay [ns]



TVC(cbch) (6,6,0)

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

A1 nug sose+u9/ 25
4178+ 0.0
-29.59 + 0.00

C = 33.80 [psTElaplay [ns]

TVC(cbch) (66,4

T 2.34e+09 / 25
4177+ 0.0
-29.49 + 0.00

C = 33.91 [psleHplay [ns]

TVC(c,b,ch)= (6 6,8

“nunz1ze+08 / 25
= - pO 4057+ 0.0
pl -30.12 + 0.00

1
50 100

C = 33.20 [psTEldplay [ns]

TVC(c.b.ch)=(6, 6, 12

- 2.50e+09 / 25
™. - PO 4224+ 0.0
pl -29.89 + 0.00

C = 33.46 [psTRHplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,6,1

A7 1 nuiz.Bobe+u9 / 25
F - po 4230+ 0.0
p1 -30.22+ 0.00

1
50 100

C = 33.09 [psTellay [ns]

TVC(c,b ch) (6 6,5

-1 nuz.yuge+u9 / 25
4216+ 0.0
-30.37 + 0.00

C =32.92 [psyelatiay [ns]

TVC(c,b,ch)= (6 6,9

1 nuz.4z4e+09 [ 25

™= - pO 4264+ 00
pL_ -29.25% 0.00

~ —-—21 10 rnc/Elg?Iay [nS]

TVC(C, bch) (6,6,13

T inugn/ae+u9 /25
4230+ 0.0
-30.11 + 0.00

C = 33.21 [psTRKplay [ns]

TVC(cbch) (6,62

4000

2000

3000

4000

4000

3000

2000

4000

X~ 1 iz s40e+U9 / 25
- PO 4224+ 0.0
pl -29.86 + 0.00

C = 33.49 [psTElaplay [ns]

TVC(cbch) (66,6

3000

2000

- rnug, 719e+09 / 25
4194+ 0.0
-29.6+ 0.0

C = 33.78 [psTENiplay [ns]

TVC(c,b,ch)=(6, 6 10

© 1 nuz5u0e+U9 / 25
™ - DO 4246+ 0.0
pl -29.85+ 0.00

C = 33.50 [psTRHplay [ns]

TVC(cbch) (6,6,14

3000

2000

Tz 1z0e+09 / 25
4197+ 0.0
-29.66 + 0.00

C = 33.72 [psTRKplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,6,3)

A7 1 nuizyove+u9 / 25
s - PO 4235+ 0.0
p1 -29.57 + 0.00

C = 33.82 [psletplay [ns]

TVC(c,b,ch)= (6 6,7

Sornan 2 e+09 /25
[ - PO 4213+ 0.0
pL -29.97 + 0.00

C = 33.37 [psVehiplay [ns]

TVC(c,b ch) (6, 6

AL dbbeﬂ]g 125
4258+ 0.0
-29.6 £ 0.0

=279 fnc-l;{Eh

TVC(c,b ch) (6, 6

d?Iay [ns]

15

-1 nuiz byye+u9 / 25
4247+ 0.0
-30.34+ 0.00

C = 32.96 [psTelulay [ns]



4000

3000

2000

4000

3000

2000

TVC(cbch) (6,7,0)

Tz ylie+u9 /25
4206+ 0.0
-29.82+ 0.00

C = 33.53 [psTelplay [ns]

TVC(c,b.ch)=(6, 7, 4

-y r4e+09 / 25
- pO 41652 0.0
pl -28.96 + 0.00

C = 24 54 nJRIplY [Ns]

TVC(cbch) (6 7,8

T z.gae+09 /25
4225+ 0.0
-30.05+ 0.00

C = 33.28 [psVeliklay

TVC(cbch) (6,7,12

4000

[ns]

3000

2000

T rnuiz4zze+09 / 25
4249+ 0.0
-30.63+ 0.00

C = 32.65 [psTelplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,7,1

A7 1 nuz,535e+U9 / 25
E o po 4206+ 0.0
p1 -30.74 + 0.00

1
50 100

C = 32.53 [psflabiay [ns]

TVC(c,b,ch)= (6 7,5

-1 nuz.93pe+u9 / 25
Fo - pO 4228+ 0.0
p1 -29.41% 0.00

C = 34.01 [pSTRHplay [ns]

TVC(c,b,ch)= (6 7,9

- T nuiz.o34e+U9 / 24
= - po 4258+ 0.0
pl -30.81+ 0.00

C = 32.45 [psiehblay [ns]

TVC(cb.ch)=(6, 7, 13

== - pO

p1

1 nuiz gbae+u9 / 25
4243+ 0.0
-30.9+ 0.0

100

C=32. 37 [Psfplabiay [ns]

TVC(cbch) (6,7,2)

4000 &

2000~

3000~

X~ 1wz r3ve+U9 / 25
- po 4228+ 0.0
p1 -30.43 + 0.00

C = 32.86 [psrrhiblay [ns]

TVC(c,b.ch)=(6, 7, 6

1000 - g Z34e+09 / 25
—_- - po 4258+ 0.0
pl -29.22+ 0.00

3000 |~

2000 |~

C = 34.23 [ns/RHfay ns]

TVC(c,b,ch)=(6, 7 10

4000 2,

T nuizyroe+U9 / 25
™ - DO 4274+ 0.0
| pl -30.96 + 0.00

3000~

2000

0

1
50

|
100

C =32.30 [psfphakiay [ns]

TVC(c.b.ch)=(6, 7, 14)
T sb4e+U9 / 24
2000 B - pD 4263:‘
pl -30.4+ 0.0
3000 -— T
2000 — T
L1, TN
50 100
C = 32.90 [psVelaklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,7,3)

ATz y11e+u9 /25
= - po 4229+ 0.0
p1 -29.62 + 0.00

C = 33.76 [pslRHelay [ns]

TVC(c,b,ch)= (6 7,7

- nug fuge+u9 / 24
- B PO 4232+ 0.0
pL -28.92+ 0.00

~ — 21 EQ rncIEI'q?lay [nS]

TVC(c,b,ch)=(6, 7

T nug, myewg 125
™. - pO 4286+ 0.0
pl -31.15+ 0.00

_I.
C=32. 10 [PstBlabiay [ns]

TVC(c,b ch) (6, 7

100

15

T nuiz goye+u9 / 25
4289+ 0.0
-30.88 + 0.00

C = 32.38 [psVelatlay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,8,0)

- PO

1nu 2 rse+u9 /25
4196+ 0.0
-29.34+ 0.00

C = 34.08 [psTRHpay [ns]

TVC(c,b.ch)=( 6, 8, 4

- g 374e+09 / 25
- pO 4311+ 0.0
pl -32.59 + 0.00

C=30.68 [ps/ch]
TP delay [ns]

TVC(cbch) (6 8,8

©nuz 319e+09 / 25
4198+ 0.0
-29.38 + 0.00

C = 34.04 [ns/RRflay [ns]

TVC(c.b.ch)=(6, 8, 12

T, 334e+09 / 25
™. - PO 4154+ 0.0
pl -27.87 + 0.00

C = 35.88 [psTElaplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,8,1)

A1z 4yse+U9 / 25
- po 4185+ 0.0
p1 -29.35+ 0.00

C = 34.07 [psTRHiplay [ns]

TVC(c,b ch) (6 8,5

=1 Uz Yobe+u9 / 25
4254+ 0.0
-31.43+ 0.00

C = 31.82 [pS/plgkiay [ng)

TVC(c,b,ch)= (6 8,9

T nuzb41e+u9 /25
= - pO 4231+ 0.0
p1 -29.07 + 0.00

~ — 24 20 rnc/Elg?Iay [nS]

TVC(cb.ch)=(6, 8, 13

T 1 uiz.409e+09 / 24
[ - pO 4216+ 0.0
pl -28.99 + 0.00

C = 34.50 [psTeluplay [ns]

4000

2000

4000

4000

3000

4000

2000

TVC(cbch) (6,8,2)

3000

X~ 1z pive+U9 / 25
- PO 4192+ 0.0
pl -29.18+ 0.00

C = 34.27 [psIRHpay [ns]

TVC(c,b.ch)=( 6, 8, 6

2000

S rnuzg1e+u9 / 25
™. - pO 4269+ 0.0
I pl -32.09 + 0.00

3000

C=31.17 W#S%Lmy [ns]

TVC(c,b,ch)=(6, 8 10

2000

S i zze+09 /25
™ - DO 4245+ 0.0
pl -29.78 + 0.00

C = 33 58 [n/RIFplaY [ns]

TVC(cbch) (6,8, 14

3000

© 1z s53e+U9 / 25
4215+ 0.0
-29.1+ 0.0

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,8,3

AT 1 nuiz,3zoe+U9 / 25
. - PO 4228+ 0.0
p1 -30.5 + 0.0

1
50 100

C = 32.79 [psTellay [ns]

TVC(c,b,ch)= (6 8,7

- 1nugae+u9 / 25
[ - PO 4293+ 0.0
pL -31.91% 0.00

C = 31.34 [PS{gllay ng]

TVC(c,b,ch)=(6, 8

S, /::e+u9/25
™ - pO 4280+ 0.0
pl -29.54 + 0.00

~ —122 QR rnc/relg?lay [nS]

TVC(C, bch) (6,815

Tinuizyl/e+u9/ 25
4252+ 0.0
-29.51+ 0.00

C = 33.89 IngVRKplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,9,0)

X~ 1z psre+U9 /25
- PO 4219+ 0.0
pl -30.74 + 0.00

|
50 100

C = 32.53 [psyplakiay [ns]

TVC(c,b.ch)=(6, 9, 4

- rnuzg1ye+u9 / 25
- pO 42531 0.0
pl -20.61+ 0.00

C = 33.77 [ns/RHfay [ns]

TVC(cbch) (6 9,8

1 nuz.poge+u9 / 25
4220+ 0.0
-29.4+ 0.0

C = 34.02 [ns/RRflay [ns]

TVC(cbch) (6,9,12

T rnuz3re+09 /25
4223+ 0.0
-28.47 + 0.00

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,9,1

A~ 1 nuzbble+u9 / 25
F - po 4216+ 0.0
p1 -29.93 + 0.00

1
50 100

C = 33.41 [psTellay [ns]

TVC(c,b ch) (6 9,5

-1 nu g3be+u9 / 25
4253+ 0.0
-29.86 + 0.00

C = 33.50 [psleHflay [ns]

TVC(c,b,ch)= (6 9,9

-1 nuiz.puze+u9 / 25
- - pO 4244+ 0.0
p1 -30.34 £ 0.00

C = 32.96 [psTEldglay [ns]

TVC(cb.ch)=(6, 9, 13

- i z.9se+09 / 25
™= - pO 4260+ 0.0
pl -29.67 + 0.00

C = 33.71 InsTRKplay [ns]

4000

4000

4000

2000

4000

TVC(cbch) (6,9,2)

3000

2000

a2 rse+u9 /25
- DO 4231 0.0
pl -31.35+ 0.00

C = 31.89 [PS/EML oy (ns)

TVC(cb.ch)=( 6, 9, 6

2000

-1z bave+u9 / 25
_— - pO 4268+ 0.0
I pl -29.84+ 0.00

3000

C = 33.51 [pslRiplay [ns]

TVC(c,b,ch)=(6, 9 10

© 1 nuz383e+09 / 25
™ - DO 4248+ 0.0
pl -30.41+ 0.00

3000

C = 32.89 [psTEldplay [ns]

TVC(cb.ch)=(6, 9, 14

2000

~ 1 nuz,obse+u9 / 25
[ - PD 4263+ 0.0
pl -30.78 + 0.00

3000

C = 32.49 [pstrhiklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,9,3)

AT 1 nuz513e+U9 / 25
po 4245+ 0.0
p1 -31.31+ 0.00

1
50 100

C =31.94 [psfplakiay [ng]

TVC(c,b,ch)= (6 9,7

-1 nuz Yoge+u9 / 25
_ - PO 4287+ 0.0
pL -30.67 + 0.00

C = 32.60 [psTeltlay [ns]

TVC(c,b,ch)=(6, 9

T nu bayewg 124
™ - pO 4283+ 0.0
pl -30.49 + 0.00

C = 32.80 [psTEldplay [ns]

TVC(C, bch) (69,15

T 1naiz rzae+U9 / 25
4273+ 0.0
-30.76 + 0.00

C = 32.51 [psVeltlay [ns]



TVC(c,b Ch) (6, 10 0)
~1nuiz,po3e+U9 / 25
4000 o pO 4196+ 0.0
p1 -29.79:+ 0.00

3000~

2000

C = 33.57 [psTelulay [ns]
TVC(c,b.ch)=(6, 10, 4

- uz.593e+09 / 25
4000 5 - pO 4216+ 0.0
pl -31.03+ 0.00

3000~

2000 =

C=32. 22 [psfﬁtalalay [ns]
TVC(c,b,ch)=( 6, 10 8

1000 1z, 144e+09 / 25
= - po 4230+ 0.0
pl -31.17 + 0.00

3000 =

2000~

C 32. 08 [pS{Sfabay [ns]

TVC(c,b Ch) (6, 10 12)
©rnuzps3e+u9 / 25
4000 4242+ 0.0
-29.88+ 0.00

3000

2000

C = 33.47 [psIBReay [ns]

TVC(c,b Ch) (6,10,1)
AT 1 nuz,b3ve+u9 / 25
4000 o po 4212+ 0.0
p1 -30.39 + 0.00

3000

2000 -

1
50 100

C = 32.91 [psielabiay [ns]
TVC(c,b ch) (6,10,5

“rnuzb/e+u9 /25
4000 4210+ 0.0
-30.32:+ 0.00

3000

2000

C = 32.98 [psielakiay [ns]
TVC(c,b ch) (6, 10

-1 nuiz.oZoe+u9 / 25

4000
4230+ 0.0
-30.3 + 0.0

3000

2000

C = 33.00 [psVeliplay [ns]
TVC(e.b.ch)=(6, 10, 13

2000 E T inuz.ar3e+u9 /25
== - pO 4219+ 0.0
pl -29.68 + 0.00

3000 -

2000 -

C = 33.70 [psTRKplay [ns]

TVC(c,b Ch) (6, 10 2)
© g, r9se+U9 / 25
4000 -= o po 4224+ 0.0
[ p1 -30.4% 0.0

3000 |~

2000 |~

C =32.89 [pstrliblay [ns]
TVC(c,b,ch)=( 6, 10,6

= 11Uz bobe+u9 / 25
4000 o=, o pO 4252+ 0.0
pl -30.59+ 0.00

3000

2000 -

C = 32.69 [psfplabiay ns]
TVC(c,b,ch)=(6, 10 10

2000 =1 nuiz, rybe+u9 / 25
_— - DO 4257+ 0.0
[ pl -31.02+ 0.00

3000~

2000~

0

C =32.23 [psiphakiay [ns]
TVC(c,b Ch) (6, 10 14

T rnuizg412e+09 /25

4000
4212+ 0.0
-29.54 + 0.00

3000

2000

C = 33.85 [psRpay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(Cbch) (6,10,3)

AT 1 nuz.base+u9 / 25
Feee o po 4219+ 0.0
p1 -31.13+ 0.00

C =32.12 [pS{Ehliay ns]

TVC(cb.ch)=(6, 10,7

“nuag /71e+U9 /25
- - pO 4225+ 0.0
pL -30.29+ 0.00

C = 33.01 [psrelakiay [ns]

TVC(cbch) (6, 10 1

T nuz.y13e+u9 / 25
4284+ 0.0
-31.26 + 0.00

e
1 |
50 100

C =31.99 [pstplakiay [ns]

TVC(cbch) (6.10,15

T nan z.ave+u9 [ 24
4243+ 0.0
-30.12+ 0.00

C = 33.20 [psTRKplay [ns]



TVC(CbCh) (6, 11 0)

4000

3000 |~

2000 =

po

pl

Tz 1e+u9/25
4224+ 0.0
-29.49 + 0.00

4000

C = 33.91 [ps/Riplay [ns]

TVC(cbch) (6, 11 4

3000~

2000 =

pO
pL

- 1z, yape+09 / 25
4222+ 0.0
-30.64 + 0.00

C = 32.64 [psyplakiay [ns]

TVC(cbch) (6, 11 8

T b/ e+U9 /25
4234+ 0.0
-30.16 + 0.00

C = 33.15 [psiellay [ns]

TVC(c,b Ch) (6,11, 12

X

4000 [

3000 -

2000~

po
p1

1 nuiz s50e+U9 / 25
4227+ 0.0
-29.11+ 0.00

TVC(Cbch) (6, 11 1)

4000

3000 |-

2000

o p()

“rnugz41e+U9 [ 25
4214+ 0.0
-29.08 + 0.00

p1

TVC(c,b,ch)=(6, 11 5

4000 F
pese

3000 -

2000

- po

~ 1 nun Z.pbe+u9 / 25
4198+ 0.0
-31.21+ 0.00

TVC(c,b.ch)=(6, 11,9

C =32.04 [pS/Bl.y (ng

4000 E,

3000 |

2000 -

- pq
pl

-1 nuiz pbbe+u9 / 25
4238+ 0.0
-29.11 + 0.00

~ — 24 2R rnc/Elg?Iay [nS]

TVC(c,b,ch)=(6, 11 13

4000 [ - pO
p1

3000 [

2000 [

T nuz 315e+U9 / 25
4243+ 0.0
-29.18 + 0.00

=21 27 fnc-l;rel‘c\j?lay [I"IS]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (6,11, 2)

.. N po

K™ 1 nuis.uuse+u9 / 25
4268+ 0.0
p1 -30.14 + 0.00

C = 33.18 [psTElaplay [ns]

TVC(c,b,ch)=(6, 11 6

— -1 Uz bBye+u9 / 25
= N pO 4205+ 0.0
[ pl -30.94 + 0.00

C= wwm%%m

TVC(c,b,ch)=( 6, 11, 10

|
100

[ns]

X~ 1wz r40e+09 / 25
- - po 4268+ 0.0
pl -29.77 + 0.00

C = 33.60 [ns/RRPlAY

TVC(c,b,ch)=(6, 11, 14

[ns]

A™ 1Ly /e+U9 / 25
e - po 4237+ 0.0
F pl -30.19+ 0.00

C = 33.12 [psTRRplay

[ns]

4000

3000

2000

4000
b

3000

2000

4000

3000

2000

4000

3000

2000

X

= B po
pL

TVC(cbch) (6,11,3)

1 nuz ysse+u9 / 25
4259+ 0.0
-30.78 + 0.00

50

C = 32.49 [psfplatiay [ns]

TVC(c,b,ch)=(6, 11 7

- - PO
pl

- rnu glze+u9 / 25
4232+ 0.0
-30.17 + 0.00

C = 33.15 [psVehitlay [ns]

= - pO

pl

TVC(c.b,ch)=( 6, 11, 11

-1 nuiz.quae+u9 / 25
4245+ 0.0
-29.94 + 0.00

C = 33.40 [psTRKpay [ns]

TVC(c,b Ch) (6, 11 15

T nuizayie+u9/ 25
4255+ 0.0
-29.51+ 0.00

C = 33 89 IndJR{pay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (6, 12 0)

1z oo0e+U9 / 25
= - pO 4183+ 0.0
p1 -28.79+ 0.00

C = 34.74 InsTRKp@Y [ns]

TVC(c,b,ch)=( 6, 12 4

- rnuiz9lye+u9 / 25
= - po 4232+ 0.0
pl -31.42+ 0.00

C=31.83 [F’S{B'&Llay [ns]

TVC(eb.oh)=(6, 12,8

©1nuz 3s1oe+U9 / 25
4197+ 0.0
-29.49 + 0.00

C = 33.91 [psTRHplay [ns]

TVC(c,b ch) (6, 12 12

1 nuizp4ve+U9 / 25
4247+ 0.0
-29.33+ 0.00

¢ = 24 na TnaVRgFY [

TVC(chh) (6,12,1)

AT 1 nuzziye+u9 / 25
40005 A po 4263+ 0.0
- pl -29.46 + 0.00
3000 [ T
2000 [ T
-—
TP delay [ns]
~ A" ArF Teaalalal

TVC(c,b Ch) (6, 12 5)
= 1nu.udre+u9 / 25
4000 4245+ 0.0
-30.85+ 0.00

3000

2000

N
100

C =32 42 [pSfﬁfahay Ins]

TVC(eb,oh)=(6,12,9)
-1 nu s8ze+u9 / 25
4000 4225+ 0.0
-29.53 + 0.00

3000

2000

C = 33 87 Ind/RIplY ns]

TVC(c,b Ch) (6, 12 13)
-1 nuiz.quve+u9 / 25
4000 4197+ 0.0
-29.02+ 0.00

3000

2000

C = 34 46 IndJRIERY Ins]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

2000

TVC(CbCh) (6, 12 2)

~rnuiz4z0e+09 / 25
= - pO 4191+ 0.0
L p1 -28.41% 0.00

Tlf delay [ns]

A~ _Ar AA T~

TVC(c,b,ch)=( 6, 12 6

- T z94e+09 / 25
P o pO 4233+ 0.0
| pl -30.83 + 0.00

1
100

C=32 44 [psfBlakiay [ns]

TVC(c,b,ch)=(6, 12 10

© 1z, ruge+U9 / 25
= - po 4243+ 0.0
p1 -28.97 + 0.00

- 21 K2 rncl lg'?lay nS

TVC(c,b Ch) (6, 12 14

3000

T 1wz gy1e+U9 / 25
4211+ 0.0
-28.6 + 0.0

TPEeIay[ s]

N =210 08 Tnel~rhl

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(Cbch) (6,12,3)

AT 1 nuzsy1e+u9 / 25
Fa - po 4243+ 0.0
p1 -29.99 + 0.00

C = 33.35 [psTeldplay [ns]

TVC(c,b,ch)=( 6, 12 7

- nui 1lbe+u9 / 25
F - po 4287+ 0.0
-32.1+ 0.0

TP delay [ns]

TVC(c,b,ch)=(6, 12 11

T nuizz/ye+u9/ 25
= - pO 4250+ 0.0
pl -30.39 + 0.00

C = 32.90 [psTRKplay [ns]

TVC(cbch) (6, 12 15

- -1 nuiz 19ze+u9 / 25
peme. 4186+ 0.0
-28.72+ 0.00

=21 91 fnc-I;EPg?lay [nS]



4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,13,0)

1 uizpube+U9 / 25
4201+ 0.0
-31.09 + 0.00

C =32.16 [psfplbiay ns]

TVC(cb.ch)=(6, 13, 4

T rnug.zy/e+u9 / 25
- pO 41931 0.0
-20.7+ 0.0

1 1
50 100

C = 33.67 [psielatlay [ns]

TVC(cbch) (6, 13 8

Tz 145e+09 / 25
4190+ 0.0
-29.45+ 0.00

C = 33.96 [ns/RRflay [ns]

TVC(cbch) (6,13, 12

T rnuiza47e+09 / 25
4223+ 0.0
-29.84 + 0.00

C = 33.52 [ps/BReay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000
I

3000

2000

TVC(cbch) (6,13,1)

A7 1 nuiz,o85e+U9 / 25
J po 4203+ 0.0
p1 -30.74 + 0.00

1
100

C=3253 [Pstlabiay [ns]

TVC(cb.ch)=(6, 13, 5

“rnuzyre+u9 /25
- DU 4170+ 0.0
pL -30.04 + 0.00

1 1
50 100

C = 33.28 [psfplakiay [ns]

TVC(c,b ch) (6, 13

-1 nuizb4ze+u9 / 25
4235+ 0.0
-29.69 + 0.00

C = 33.68 [ps/RKpay [ns]

TVC(cbch) (613,13

T 1 nuig szae+u9 / 25
4193+ 0.0
-28.73+ 0.00

© = 24 81 Ina/RiGp1Y [ns]

4000

4000

4000

3000

2000

4000

2000

TVC(cbch) (6,13,2)

2000

T b3re+U9 /25
- PO 4309+ 0.0
[ pl -30.29 + 0.00

3000

C = 33.02 [psfplakiay [ns]

TVC(cb.ch)=(6, 13, 6

3000

2000

Tz brye+u9 / 25
- pO 4176+ 0.0
pl -29.77+ 0.00

1 |
50 100

C = 33.59 [psrelatlay [ns]

TVC(c,b,ch)=(6, 13 10

- o1 15e+09 / 25
™ - DO 4178+ 0.0
pl -28.99+ 0.00

TP Igelay [ns]

A — DA AA TanA

TVC(cb.ch)=(6, 13, 14

3000

S 2. 7e+u9/ 25
- PD 4203+ 0.0
pl -28.61+ 0.00

C = 34.96 [ns/RRFlaY [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000
I

3000

2000

TVC(cbch) (6,13,3)

AT 1 nuzys/e+U9 / 25
- PO 4235+ 0.0
p1 -30.68 + 0.00

1
50 100

C =32.60 [psyplatiay [ns]

TVC(c, bch) (6,137

S nuz2.31e+09 /25
4180+ 0.0
-30+ 0.0

C = 33.33 [psTeltlay [ns]

TVC(c,b,ch)=(6, 13 1

" nai4ze+09 / 25
e - pO 4204+ 0.0
pl -30.57 + 0.00

C = 32.72 [psVelitlay [ns]

TVC(cbch) (6,13,15

"1 nuiz.zzoe+u9 / 25
4191+ 0.0
-29.84+ 0.00

C = 33.51 [psTRKplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000
==

3000

2000

TVC(cbch) (6,14,0)

T, roze+U9 / 25
4205+ 0.0
-29.99 + 0.00

C = 33.35 [ps¥elaklay [ns]

TVC(cb.ch)=( 6, 14, 4

T rnuz.413e+09 / 25
=, - pO 4205 0.0
pl -20.82+ 0.00

C = 33.54 [psTENplay [ns]

TVC(c,b,ch)=( 6, 14 8

T 1nuz,343e+09 / 25
™. - PD 4166+ 0.0
pl -28.17 + 0.00

TP delay [ns]

N — 2K A0 Thelahl

TVC(cbch) (6,14, 12

Tz 340e+09 / 24
4228+ 0.0
-29.9 + 0.0

C = 33.44 [psTRRplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,14,1)

R~ nun 2.04e+09 / 25
™ - po 4194+ 0.0
pl -29.76 + 0.00

1
50 100

C = 33.60 [psTellay [ns]

TVC(c, bch) (6,14,5

S rnug r1re+u9 /25
4220+ 0.0
-30.76 + 0.00

o
100

C =32 51 [pSfﬁfahay Ins]

TVC(c.b,ch)=( 6, 14, 9

-1 nuiz voye+u9 / 25
= - pO 4210+ 0.0
p1 -28.32+ 0.00

TP delay [ns]

N — 2K 20 Tnelahl

TVC(cbch) (614,13

T nuiz rzoe+u9 / 25
4203+ 0.0
-30.12+ 0.00

C = 33.21 [psVelatlay [ns]

4000

3000

2000

4000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,14,2)

T, (23e+U9 /24
[ - PO 4224+ 0.0
pl -30.21+ 0.00

C = 33.11 [psitFhdelay [ns]

TVC(cbch) (6.14,6

3000

1
100

C=32. 47 [psfﬁli!}elay [ns]

TVC(c,b,ch)=(6, 14 10

-1 nuz gebe+u9 / 25
4237+ 0.0
-30.8+ 0.0

- ©1nuz 3g5e+U9 / 25
. - DO 4216+ 0.0
pl -28.77 + 0.00

TP Igelay [ns]

A — A T0 TanlA

TVC(cbch) (6. 14,14

C = 32.87 [pstrhiklay [ns]

- a2 guse+u9 / 25
==, 4218+ 0.0
L -30.42+ 0.00

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,14,3)

AT 1 nuzy30e+U9 / 25
[ - po 4245+ 0.0
pl -29.78:+ 0.00

C = 33.58 [pshRHelay [ns]

TVC(cb.ch)=(6, 14, 7

-1 nuz.yuze+u9 / 25
[ - PO 4259+ 0.0
pL -31.03+ 0.00

=
100

C=32. 23 [psfBlakiay [ns]

TVC(c,b,ch)=( 6, 14, 11

T nuz 15ze+U9 / 24
- pO 4207 £ 0.0
pl -29.37 + 0.00

C = 234 05 IndJRIp1Y [ns]

TVC(cbch) (614,15

-1 nui syve+u9 / 25
4173+ 0.0
-29.99+ 0.00

C = 33.34 [psTelplay [ns]



TVC(CbCh) (6, 15 0)

4000 =

3000

2000

©rnuzyose+U9 / 25
4169+ 0.0
-30.25+ 0.00

100

C = 33.06 [psfplabiay ns]

TVC(c,b.ch)=(6, 15, 4

4000

3000~

2000 [~

Tz, r3pe+u9 / 24
B pO 4182+ 0.0
pl -29.01+ 0.00

C = 34.47 [psIRRflaY [ns]

TVC(cbch) (6, 15 8

T, r37e+09 / 25
4217+ 0.0
-28.43+ 0.00

TP delay

N — 2K 10 Tnelahl

TVC(cbch) (6,15, 12

4000

[ns]

Tz, (49e+09 / 25
4277+ 0.0
-31.04+ 0.00

3000

2000

C =32.22 [psfphakiay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(chh) (6,15,1)

AT rnunz.3ze+u9 /25
- po 4139+ 0.0
pl -29.53+ 0.00

1
50 100

C = 33.87 [psTelplay [ns]

TVC(cbch) (6,155

- 1nuz301e+u9 / 24
4180+ 0.0
-28.77 + 0.00

~ =2 7R rne/ l'gFlay [nS]

TVC(c,b ch) (6, 15

-1 nuz.4ise+u9 / 25
4204+ 0.0
-28.66 + 0.00

~ — 2/ Q0 rnc/Elg?Iay [nS]

TVC(cbch) (615,13

-1 nuiz.yoae+u9 / 25
4293+ 0.0
-30.88 + 0.00

C = 32.39 [psirhklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (6, 15 2)

— ©nuzpsze+U9 / 25
- - pO 4164+ 0.0
[ pl -29.7+ 0.0

C = 33.68 [ps¥elaklay [ns]

TVC(c.b.ch)=( 6, 15, 6

- rnuiz.40/e+09 / 25
= o po 4190+ 0.0
pl -29.38 + 0.00

C = 34.03 [psTRHpay [ns]

TVC(c,b,ch)=(6, 15 10

©nuizuLse+u9 / 25
- - DO 4225+ 0.0
L pl -29.23+ 0.00

4000

3000

2000

4000

3000

2000

TVC(Cbch) (6,15,3)

AT 1z, ooe+u9 / 25
= - po 4184+ 0.0
p1 -30.33+ 0.00

1
50 100

C = 32.97 [psfplatiay [ns]

TVC(cb.ch)=(6, 15, 7

- 1nu ba1e+u9 / 25
3 - pO 4201% 0.0
pL -28.39+ 0.00

TP dlay [ns]

~ - A AN T~

TVC(c,b,ch)=(6, 15 1

"1 nuzb1ae+u9 / 25

- -
. pO 4240+ 0.0
p1 -28.48 + 0.00

=24 21 rncl lg'?lay nS

TVC(c.b.ch)=(6, 15, 14

e - pD
L pl

a2 g4pe+09 / 25
4282+ 0.0
-30.35+ 0.00

4000
3000 - T
2000 T
TP delay [ns]
~ Ar A _iita

TVC(cbch) (6,15,15

4000

T nus.usze+u9 / 25
4325+ 0.0
-31.03+ 0.00

C = 32.95 [psTElaplay [ns]

3000

2000

C = 32.22 [psVeltlay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,0,0)

A7 1 nuiz guse+u9/ 25
4195+ 0.0
-30.46 + 0.00

|
50 100

C =32.83 [psyfplakiay [ns]

TVC(cbch) (70,4

- 1z bobe+u9 / 25
4172+ 0.0
-28.75+ 0.00

C = 24 78 InJ/RIplY [Ns]

TVC(cbch) (7 0,8

©rnuzyzze+09 / 25
4232+ 0.0
-29.88 + 0.00

C = 33.46 [psTEldplay [ns]

TVC(e.b.ch)=(7, 0, 12

~rnuizy4se+U9 / 25
- - pO 4262+ 0.0
pl -31.64 + 0.00

C =31.60 [DS{BGQay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,0,1)

= AT zye+u9 /25
= A po 4200+ 0.0
pl -30.51+ 0.00

|
50 100

C =32.78 [psfplakiay [ng]

TVC(c,b,ch)= (7 0,5

- nug 1z8e+u9 / 25
. - pO 4213+ 0.0
pL -29.21% 0.00

C = 34.23 [psleHplay [ns]

TVC(c,b,ch)= (7 0,9

“ona281e+u9 /25
F=. - pO 4245+ 0.0
pl -30.62 + 0.00

C = 32.66 [psirhaklay [ns]

TVC(eb.ch)=(7, 0, 13

T zy/e+u9 /25
- - pO 4250+ 0.0
pl -31.15+ 0.00

s L+
C=32.10 [psrlsfaluay ins]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (7,0,2)

— A~ rse+09/25
-_ - po 4227+ 0.0
| pl -30.79 + 0.00

C = 32.48 [psiplakiay [ns]

TVC(e.b.ch)=(7, 0, 6

— -1 nu byze+u9 / 25
" - pO 4181+ 0.0
pl -28.92 % 0.00

C = 34 57 IngJREFRY [Ns]

TVC(c,b,ch)=(7, 0 10

C = 32.61 [pstrhaklay [ns]

TVC(cbch)=(7, 0, 14

© 1 nugusse+u9 / 25
_- - DO 4276+ 0.0
pl -30.67 + 0.00

T nug,zzye+U9 / 25
- PD 4269+ 0.0
pl -31.98 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,0,3

- AT 1 nuzbrse+u9 / 25
I - PO 4199+ 0.0
pl -30.41+ 0.00

1
50 100

C = 32.89 [psirlkiay [ns]

TVC(c,b,ch)= (7 0,7

- rnuby/e+u9 / 25
= - pO 4218+ 0.0
pL -29.47 + 0.00

C = 33.93 [ng/RHflay [ns]

TVC(c,b ch) (7, O

AR b‘Jze+U9 125
pO 4246+ 0.0
p1 -30.24+ 0.00

C = 33.07 [psVEldplay [ns]

TVC(C, bch) (7,0,15

71 nuis.ubbe+u9 / 25
4269+ 0.0
-31.32+ 0.00

|
100

C=31.92 [psfﬁr&]elay Ins]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,1,0)

~rnuzpise+u9 / 25
4166+ 0.0
-29.83+ 0.00

C = 33.53 [ps¥elaklay [ns]

TVC(cbch) (7.1,4

-1 nuz,403e+09 / 25
4212+ 0.0
-30.3+ 0.0

C = 33.01 [psielatlay [ns]

TVC(eb,ch)=(7, 1,8

T rnuz431e+09 / 25
- PD 4214+ 0.0
pl -29.68 + 0.00

C = 33.69 [psTRHplay [ns]

TVC(cbch) (7,1,12

~ g 1z9e+09 / 25
4211+ 0.0
-29.79+ 0.00

C = 33.57 [ps/BReay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,1,1)

A7 1 nuizyoye+u9 / 25
J po 4195+ 0.0
p1 -30.55 + 0.00

1
50 100

C =32.74 [psfplabiay [ng]

TVC(c,b ch) (7 1,5

S rnuzy/e+u9 /25
4223+ 0.0
-29.62 + 0.00

C = 33.76 [pslRHflay [ns]

TVC(c,b,ch)=(7, 1

T nuizgu/e+u9 / 25
- - pO 4245+ 0.0
p1 -28.97 + 0.00

~ — 221 B2 rnc/Elg?Iay [nS]

TVC(cbch) (71,13

T nuz g3ve+u9 / 25
4222+ 0.0
-29.67 + 0.00

C = 33.70 [psTRKplay [ns]

4000

2000

4000

4000

3000

2000

4000

3000

TVC(cbch) (7,1,2)

3000

X~ 1wz syve+U9 / 25
- PO 4184+ 0.0
pl -30.87 + 0.00

1
100

c=32. 40 ps{ﬁlalelay [ns]

TVC(eb.ch)=(7, 1,6

3000

2000

-1z Bule+u9 / 25
- pO 4237+ 0.0
pl -30+ 0.0

1 |
50 100

C = 33.34 [pslENiplay [ns]

TVC(C.b,ch)=(7, 1, 10

-1 nuz 309e+U9 / 25
==, - DO 4200+ 0.0
i pl -27.35+ 0.00

TP delay [ns]

TVC(cbch) (7.1,14

2000

T nugopre+u9 /25
4225+ 0.0
-30.22+ 0.00

C = 33.09 [psTellay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,1,3

AT 1 nuiz, (48e+U9 / 25
I - PO 4221+ 0.0
p1 -30.35+ 0.00

1
50 100

C = 32.95 [psirhaklay [ns]

TVC(c,b,ch)= (7 1,7

-1 nu byse+u9 / 25
. - PO 4239+ 0.0
Pl -30.16+ 0.00

C = 33.15 [psVElplay [ns]

TVC(c,b,ch)=(7, 1

11)
T bube+u9 / 24
=, - p0 4269+ 0.0
pL -29.34+ 0.00

TP delay [ns]

N — 24 N0 Tnelahl

TVC(cbch) (71,15

-1z zy4e+09 / 25
PO 4219+ 0.0
pl -29.8+ 0.0

C = 33.55 [ps/RKpay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,2,0)

A1 nuiz ovae+u9/ 25
4217+ 0.0
-30.62+ 0.00

100

C = 32.66 [psrrliblay [ns]

TVC(cbch) (72,4

-1 nuzBage+u9 / 25
4188+ 0.0
-29.5+ 0.0

C = 33.90 [psTElaplay [ns]

TVC(c.b,ch)=(7, 2,8

T rnuz3o1e+U9 / 25
= - pO 4221+ 0.0
pl -31.65+ 0.00

. 5[') 100
C=31.59 [psﬂglalelay [ns]

TVC(cbch) (7,212

T rnuizgy1e+u9 / 25
4244+ 0.0
-30.5+ 0.0

C = 32.79 [ps¥ehiklay [ns]
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3000

2000

4000
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2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,2,1)

Trnug.Ly/e+u9 /25
- PO 4206+ 0.0
pl -30.26 + 0.00

|
50 100

C = 33.05 [pstphatiay [ns]

TVC(c,b ch) (7 2,5

-1 nu glse+u9 / 25
4232+ 0.0
-30.55+ 0.00

C = 32.73 [psielakiay [ns]

TVC(c,b,ch)=(7, 2

“inui.z/e+u9 /25
F=a - pO 4280+ 0.0
"\ p1 -30.07 £ 0.00

C = 33.26 [ps/RKpay [ns]

TVC(eb.ch)=(7, 2, 13

— T z.1e+u9 /24
beee - pO 4232+ 0.0
pl -30.35 + 0.00

C = 32.95 [psTelplay [ns]
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2000
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2000

4000
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TVC(cbch) (7,2,2)

Trnan g.z8e+u9 /25
[ - PO 4224+ 0.0
| pl -30.52+ 0.00

3000

2000

| |
50 100

C =32.76 [psfplakiay [ns]

TVC(eb.ch)=(7, 2, 6

-1 59pe+U9 / 25
- N pO 4180 0.0
pl -28.88+ 0.00

3000

C = 34 63 IngJREFRY [NS]

TVC(C.b,ch)=(7, 2, 10

S, (gre+u9 /25
= - DO 4283+ 0.0
pl -31.1+ 0.0

3000

C = 32.15 [pstrhaklay [ns]

TVC(cbch) (7,214

2000

1 nuiz,psoe+u9 / 25
4225+ 0.0
-29.8+ 0.0

C = 33.56 [psTRHplay [ns]
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2000

4000

3000

2000

4000

3000
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TVC(cbch) (7,2,3)

AT 1 nuzyo1e+U9 / 25
- - po 4233+ 0.0
pl -30.39 + 0.00

1
50 100

C = 32.91 [psVelatlay [ns]

TVC(c,b,ch)= (7 2,7

-1 nu bave+u9 / 25
= - pO 4217+ 0.0
pL -30.42:+ 0.00

C = 32.87 [psTeltlay [ns]

TVC(c,b ch) (7, 2

ERALEVX m/e+u9/25
4270+ 0.0
-31.86+ 0.00

i 1
C =31.38 [PS{ERliay ns]

TVC(C, bch) (7.2,15

Tinanz.p4e+09 / 25
4229+ 0.0
-29.99+ 0.00

C = 33.35 [psTRKplay [ns]



TVC(c,b,ch)=(7,3,0)
T A

E Tnuzore+u9 /25
R, = po 4187+ 0.0
pl -30.26 + 0.00
3000 - 4
2000 = i
e -
C = 33.04 [psrrlakiay [ns]
TVC(c,b,ch)=(7,3,4)
4000 F T X~ 1 nuz 359e+09 / 25
[ = PO 4155+ 0.0
pl -29.68+ 0.00
3000 - 4
2000 - 4
C = 33.69 [psreltlay [ns]
TVC(c,b,ch)=(7,3,8)
4000 F T X~ iz 915e+09 / 25
- = PO 421400
pl -30.51+ 0.00
3000~ 4
2000 [~ 4
1 -
0 50 100

C =32.77 [psiphakiay [ns]

TVC(c,b,ch)=(7, 3, 12

Tz, (zoe+U9 / 25
4226+ 0.0
-30.7 + 0.0

4000
-
-
3000 - 7
2000~ 7
[——
n 1 n n 1 1 1
50 100

C = 32.58 [psiphakiay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=(7,3,1
T A

- po

T zyve+u9 /25
4216+ 0.0
pl 314+ 0.0

L
C=31.85 [pS{Bkc'lLlay [ns]

TVC(c,b,ch)=(7, 3,5

-1 nuz.y34e+u9 / 25
4226+ 0.0
-30.78 + 0.00

1
100

C =32.48 [psflabiay [ns]

TVC(c,b,ch)=(7,3,9

T nuig 133e+u9 / 24

= - po 4297+ 0.0
0

"\ pL -31.54 % 0.00

1
100

C =31.71 [psfphibiay [ns]

TVC(c,b,ch)=(7, 3,13

1, (31e+U9 /25
4211+ 0.0
-30.56 + 0.00

AV
100

C = 32.72 [psirhblay [ns]

4000

3000

2000

4000

3000

2000

4000

TVC(c,b,ch)=(7, 3, 2
T A

~rnuis.uLoe+U9 / 25
- po 4228+ 0.0
p1 -30.62 + 0.00

1 1
50 100

C = 32.66 [psfplakiay [ns]

TVC(c,b,ch)=(7, 3, 6

- p0
p1

112, oZbe+U9 / 25
4203+ 0.0
-30.23 + 0.00

1 1
50 100

C = 33.08 [psrelatlay [ns]

TVC(c,b,ch)=(7, 3, 10

3000

2000

1 nun 2.y1e+u9 / 25
4242+ 0.0
-31.11+ 0.00

e
100

C =32.15 [psfplibiay ns]

4000

3000

2000

TVC(c,b,ch)=(7, 3, 14

T rnuizyr1e+09 /25
... - po 4218+ 0.0
| pl -30.02 + 0.00

P BT V|
50 100

C = 33.31 [ps¥rlaklay [ns]

TVC(c,b,ch)=(7, 3, 3)
T A

4000 E -1 nuig suse+u9 / 25
[ = PO 4201% 0.0
pL -30.69+ 0.00
3000 4
2000 |- i
-
L 1
50 100
C =32.59 [psfplibiay [ns]
TVC(c,b,ch)=(7,3,7)
4000 T X" 1 nuz82/e+09 ] 25
- = PO 4195+ 00
pl -29.67+ 0.00
3000 4
2000 - i
[——
1 1
50 100

4000

3000

2000

4000
e,

3000

2000

C = 33.71 [psVElplay [ns]

TVC(c,b,ch)=(7,3, 11

a2 goe+U9 / 25
4239+ 0.0
-30.67 + 0.00

1 |
50 100

C =32.61 [pstplakiay [ns]

TVC(c,b,ch)=(7, 3,15

1z, (15e+U9 / 25
4239+ 0.0
-30.41+ 0.00

AV
100

C = 32.89 [psTelplay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,4,0)

TanugSrze+U9 /25
- PO 4186+ 0.0
-30.35+ 0.00

100

C = 32.95 [psyeliblay [ns]

TVC(cb.ch)=(7, 4, 4

- 1nuz.401e+09 / 25
- pO 4191+ 0.0
pl -30+ 0.0

C = 33.33 [psTelplay [ns]

TVC(Ceb,ch)=(7, 4,8

a2, ygoe+U9 / 25
[ - PD 4241+ 0.0
pl -29.35+ 0.00

C = 34.07 Ins/RRflay [ns]

TVC(cb.ch)=(7, 4, 12

T s r4e+09 / 24
™. - PO 4257+ 0.0
- pl -30.62 + 0.00

C = 32.66 [psVeliklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,4,1)

x- 1wz g0 e+09 / 25
- po 4200+ 0.0
pL -29.58+ 0.00

1
50 100

C = 33.81 [psTEldplay [ns]

TVC(c,b,ch)= (7 4,5

= nu 75 e+09 /25
e N DO 4231+ 0.0
pl -29.84 + 0.00

C = 33.51 [psTRHplay [ns]

TVC(c,b ch) (7, 4

TinusUg/e+u9 / 24
) - pO 4278+ 0.0
- pl -29.65 + 0.00

C =33 72 IndJRip1aY [ns]

TVC(cb.ch)=(7, 4, 13

T 1nuiz.p41e+U9 /25
= - pO 4230+ 0.0
p1 -29.8+ 0.0

C = 33.56 [psTRKplay [ns]

4000

2000

4000

2000

4000

3000

4000

3000

2000

TVC(cbch) (7,4,2)

3000

X~ 1wz yzve+U9 [ 25
- PO 4197+ 0.0
pl -30.01% 0.00

C = 33.32 [pstrhiblay [ns]

TVC(c.b.ch)=(7, 4, 6

-1 nuz,9uge+u9 / 25
[ - pO 4224+ 0.0
pl -30.66+ 0.00

3000

1
100

C=32. 61 [psfﬁli!}elay [ns]

TVC(C.b,ch)=(7, 4, 10

2000

©1nuzp3pe+u9 / 25
™ - DO 4241+ 0.0
pl -29+ 0.0

=2/ 12 rncl lg'?lay nS

TVC(cbch) (7.4,14

~ 1 nugb44e+09 / 25
4221+ 0.0
-30.29+ 0.00

C = 33.02 [psTelplay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7.4,3

A 1z rae 09/ 25
[ - PO 4209+ 0.0
pL -29.78:+ 0.00

|
50 100

C = 33.58 [psTelplay [ns]

TVC(c,b,ch)= (7 4,7

- U U3ze+u9 / 25
[ - PO 4246+ 0.0
pL -30.91:+ 0.00

-
100

C=32. 35 [psfBlakiay [ns]

TVC(c,b ch) (7, 4

1)
-1 nuig 105e+u9 / 25
™ - pO 4288+ 0.0
- pl -29.53 + 0.00

C = 33 87 InJJRKpY [ns]

TVC(C, bch) (7.4,15

-1 nuiz yoye+u9 / 25
4254+ 0.0
-31.15+ 0.00

AV
100

Cc=32. 10 [Psfplabiay [ns]



TVC(cbch) (7,5,0)

4000 =

3000 [~

2000

“nug,uLoe+U9 / 25
- PO 4201+ 0.0
pl -29.19+ 0.00

C = 34.25 [psleHplay [ns]

TVC(cbch) (7.5,4

4000

3000

2000

-1z bebe+u9 / 25
4181+ 0.0
-28.88 + 0.00

C = 24 83 Ind/RIFplY [Ns]

TVC(c,b,ch)= (7 5,8

4000 =

3000 =

2000 [~

© i, (zoe+09 / 25
- PD 4210+ 0.0
pl -30.71+ 0.00

0

C =32.56 [psiphakiay [ns]

TVC(c.b.ch)=(7, 5, 12

4000 =

3000 -

2000~

~ 1 nug,ubse+u9 / 25
= - po 4264+ 0.0
pl -30.87 + 0.00

C =32.40 [pstrhatlay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,51

AT 1wz, (11e+U9 /25
- po 4194+ 0.0
p1 -29.57 + 0.00

1
50 100

C = 33.82 [psTEldplay [ns]

TVC(c,b ch) (7 55

-1 nu 8yae+u9 / 25
4219+ 0.0
-29.83+ 0.00

C = 33.53 [psTeldplay [ns]

TVC(c,b ch) (7 59

-1 nuz.4y5e+U9 / 25
4221+ 0.0
-31.1+ 0.0

1
100

C=32. 15 [PsfBlabiay [ns]

TVC(eb.ch)=(7, 5, 13

1 nuiz goye+u9 / 25
= - pO 4239+ 0.0
p1 -30.7 £ 0.0

C = 32.57 [psrphatiay [ns]

4000

2000

4000

4000

2000

4000

TVC(cbch) (7,5,2)

3000

X~ 1z ssie+u9 /25
- po 4208+ 0.0
pl -29.99+ 0.00

C = 33.34 [psTellay [ns]

TVC(cb.ch)=(7, 5, 6

3000

2000

-1 nuz.634e+09 / 25
- pO 4195 0.0
pl -29.28:+ 0.00

C = 34.15 [psTRRpay [ns]

TVC(c,b,ch)=(7, 5 10

T z4/e+09/25
_- - DO 4221+ 0.0
§ pl -30.66+ 0.00

3000

C = 32.61 [pstrhaklay [ns]

TVC(cbch) (7,5,14

3000

2000

1 nuizpose+U9 / 25
4240+ 0.0
-31.34+ 0.00

A W1
100

C=3L 91 [psfplabiay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,5,3

R 1 9yae+u9 [ 25
- - po 4250+ 0.0
pl -30.12+ 0.00

1
50 100

C = 33.20 [psVeldplay [ns]

TVC(c,b,ch)= (7 57

-1 nuzbb/e+u9 / 25
==, - PO 4220+ 0.0
pL -29.79. 0.00

C = 33.57 [psleHplay [ns]

TVC(c,b,ch)=(7, 5

EREALER azmewg 125
= - pO 4252+ 0.0
pl -30.52 + 0.00

C = 32.77 [psVehiplay [ns]

TVC(C, bch) (7.5,15

-1 nuiz.yzye+u9 / 25
4249+ 0.0
-30.16 + 0.00

C = 33.15 [psTellay [ns]



4000

3000
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2000

4000
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2000

4000

3000

2000

TVC(cbch) (7,6,0

X~ 1w ysse+U9 / 25
= - PO 4288+ 0.0
- Pl -30.78+ 0.00

|
50 100

C =32.49 [psfplakiay [ns]

TVC(cb.ch)=(7, 6, 4

-z, ryze+u9 / 25
- pO 42141 0.0
pl -20.68 + 0.00

C = 33.70 [psTElplay [ns]

TVC(c,b,ch)= (7 6,8

©nug,3bze+U9 / 25
=) - pO 4238+ 0.0
- pl -28.79 + 0.00

=24 72 rnclglg?lay ns

TVC(cbch) (7,6,12

iz yzve+U9 / 25
4215+ 0.0
-27.35+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000
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4000

3000

2000

TVC(cbch) (7,6,1)

~ 1 nug.os3e+U9 / 25
- PO 4279+ 0.0
= Pl -30.56+ 0.00

|
50 100

C = 32.73 [psirlabiay [ns]

TVC(c,b,ch)= (7 6,5

“rnug.zyre+u9 / 25
s - DU 4246+ 0.0
pL -29.92 % 0.00

1 1
50 100

C = 33.42 [psVehitlay [ns]

TVC(c,b ch) (7 6,9

T nuzgb/e+u9 / 25
_—- - DO 4310+ 0.0
=\ p1 -29.92 + 0.00

C = 33.42 [ps/RKpay [ns]

TVC(c.b.ch)=(7, 6, 13

T g, r48e+09 / 25
[ - pO 4272% 0.0
- pl -29.58 + 0.00

C = 33.81 [ps/RKpay [ns]

4000

2000

4000

4000

2000

4000

TVC(cbch) (7,6,2)

X~ rnugyize+U9 /25
e - po 4278+ 0.0
I Pl -20.89+ 0.00

3000

C = 33.46 [psTellay [ns]

TVC(cbch) (76,6

2000

- 11Uy 453e+09 / 25
[ - pO 4316+ 0.0
I -30.2+ 0.0

3000

C = 33.12 [psielatlay [ns]

TVC(cbch) (7, 6 10

3000

rnun 4.2e+09 /25
4341+ 0.0
-30.1+ 0.0

C = 33.23 [psTElaplay [ns]

TVC(cbch) (7.6,14

2000

~ 1 nug, (goe+u9 / 25
[ - pD 4341 0.0
[ pl -30.51 0.00

3000

C = 32.77 [pstrhiklay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,63

~ 1 nuig,poye+U9 / 25

[ - PO 4301+ 0.0
A

pL -30.79+ 0.00

|
50 100

C = 32.47 [psielablay [ns]

TVC(c,b,ch)= (7 6,7

-1 nug fuze+u9 / 25
[ - PO 4298+ 0.0
-30.8:+ 0.0

1 |
50 100

C = 32.47 [psielaklay [ns]

TVC(c,b ch) (7, 6

T nug, ibbeﬂ]g 125

= - pO 4321+ 0.0
)

- pl -29.43 + 0.00

C = 33 98 InJJRKp!aY [ns]

TVC(C, bch) (7.6,15

T g 20re+09 / 25
= - pO 4304+ 0.0
A Pl 29,63+ 0.00

C = 33.75 [psTRKplay [ns]
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4000
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4000
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2000

TVC(cbch) (7,7,0)

X~ 1z 5a0e+U9 / 25
- PO 4193 0.0
pl -28.8+ 0.0

C = 34.72 [ns/R{pay [ns]

TVC(cb.ch)=(7, 7, 4

-1z byse+u9 / 24
- pO 4240 0.0
pl -20.24  0.00

C = 34.20 [nsVRHfay [ns]

TVC(eb,ch)=(7, 7,8

T rnuiz4r3e+09 / 25
™ - PD 4212+ 0.0
pl -29.42+ 0.00

C = 33.98 [psIBKpay [ns]

TVC(eb.ch)=(7, 7, 12

T, (14e+09 / 25
™ - PO 4224+ 0.0
pl -30.78 + 0.00

C=132.49 [psllBI?leay [ns]

4000
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2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,71

A1 iz 9ave+U9 | 25
A po 4223+ 0.0
pL -29.24+ 0.00

_L |
50 100

C = 34.20 [psTEiplay [ns]

TVC(c,b,ch)= (7 7,5

-1 U Bave+u9 / 25
- po 4213+ 0.0
29.4% 0.0

1 |
50 100

C = 34.02 [psVEliplay [ns]

TVC(c,b,ch)=(7, 7

-1 nuiz goge+u9 / 25
= - pO 4240+ 0.0
-29.7+ 0.0

1
50 100

C = 33.67 [psVehiplay [ns]

TVC(eb.ch)=(7, 7, 13

T rug.ulze+u9 / 24
- - PO 4246+ 0.0
pl -31.57 + 0.00

R S —
C=31.68 [ps/ghl,. g

4000

2000
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4000

3000

TVC(cbch) (7,7,2)

3000

< Zbseru9 /25
- PO 4222+ 0.0
pl -29.22+ 0.00

C = 34.22 [ns/RHpay [ns]

TVC(eb.ch)=(7, 7, 6

2000

-1z boge+u9 / 25
[ - pO 4243+ 0.0
pl -30.25:+ 0.00

3000

1 |
50 100

C = 33.06 [psrelatlay [ns]

TVC(C.b,ch)=(7, 7, 10

~ 1 nuzpbae+U9 / 25
_- - DO 4253+ 0.0
pl -30.34 + 0.00

3000

C = 32.96 [psv¥eliklay [ns]

TVC(cbch)=(7, 7, 14

2000

T nuzyyie+u9 / 25
™ - PD 4220+ 0.0
| pl -30.26 + 0.00

C =33.05 [psrlﬁlalelay [ns]

4000

3000

2000

4000
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2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,7,3

AT 1 nuzyroe+U9 / 24
— - PO 4245+ 0.0
p1 -29.53 + 0.00

C = 33.86 [psTRifplay [ns]

TVC(c,b,ch)= (7 7,7

- rnua (oze+U9 / 25
[ - PO 4229+ 0.0
pL -29.59 + 0.00

1 |
50 100
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